Jenny Products, Inc.

850 North Pleasant Avenue
Somerset, PA 15501
Ph: (814) 445-3400
Fx: (814) 445-2280
E-mail: info@steamjenny.com
Website: www.steamjenny.com

Parts Listing
In
Alphabetical
Order by

Decription

All parts are alphabetical order by description price.
Refer to the individual unit illustrated parts list for
correct part numbers.



Part Number Description Part Number Description

JD7646-1 ACCUMULATOR,BLADDER,3000#WP,1050# CHARGE JD7991 BARB,HOSE,ELBOW,MALE,BRASS,1/2HSX3/8NPT
JD7646-B ACCUMULATOR,BLADDER,3000#WP,150# CHARGE JD7078 BARB,HOSE,ELBOW,MALE,BRASS,1/4HSX1/4NPT
JD7646-C ACCUMULATOR,BLADDER,3000#WP,285# CHARGE JD7133 BARB,HOSE,ELBOW,MALE,BRASS,1/4HSX1/8NPT
JD7646 ACCUMULATOR,BLADDER,3000#WP,3/8NPTF JD7150-01 BARB,HOSE,ELBOW,MALE,BRASS,3/8HSX1/2NPT
JD7646-D ACCUMULATOR,BLADDER,3000#WP,450# CHARGE JD7150 BARB,HOSE,ELBOW,MALE,BRASS,3/8HSX1/4NPT
JD7646-E ACCUMULATOR,BLADDER,3000#WP,525# CHARGE JD7149 BARB,HOSE,ELBOW,MALE,BRASS,3/8HSX3/8NPT
JD7646-F ACCUMULATOR,BLADDER,3000#WP,600# CHARGE JD7150-02 BARB,HOSE,ELBOW,MALE,BRASS,5/8HSX1/2NPT
JD7646-G ACCUMULATOR,BLADDER,3000#WP,700# CHARGE JP7186-01 BARB,HOSE,FEMALE,BRASS,BYPASS,1/2HSX1/2
JD7646-H ACCUMULATOR,BLADDER,3000#WP,900# CHARGE JP7186 BARB,HOSE,FEMALE,BRASS,BYPASS,1/2HSX1/2M
JD7646-A ACCUMULATOR,BLADDER,3000#WP,90PSI CHARGE JD1350-A BARB,HOSE,MALE,3/8,USED WITH JD1350-B
JR1021-F  ADAPTER,BR,3/8-19BPSMXCJR,HOSE JD7826 BARB,HOSE,MALE,BR,1/4HSX1/2NPTM

JP6668 ADAPTER,COIL,ELEMENT,ST,3/4PIPE,E350&850 JD7077-A BARB,HOSE,MALE,BRASS,1/2HSX1/2NPT
JP6703-04 ADAPTER,COIL,ELEMENT,ST,3/8PIPE,E300-C JD7708 BARB,HOSE,MALE,BRASS,1/2HSX3/8NPT

JD1570 ADAPTER,DRIVE,PUMP,FUEL,SUNTEC JD2765 BARB,HOSE,MALE,BRASS, 1/4HSX1/4NPT
JP3555-01 ADAPTER,ELEMENT,COIL,STEEL,MJ JD6132 BARB,HOSE,MALE,BRASS,1/4HSX1/8NPT
JD3788-02 ADAPTER,EXHAUST,GASKET, TECUMSEH JD7134 BARB,HOSE,MALE,BRASS,1/4HSX1/8NPT
JD6224-04 ADAPTER,EXPANDING,BRASS,1/2MX1/2F JD7248 BARB,HOSE,MALE,BRASS, 1/4HSX1/8NPT
JD3163-22 ADAPTER,EXPANDING,BRASS,1/4-19BPSX1/4NPT JD3115 BARB,HOSE,MALE,BRASS, 1/4HSX3/8NPT
JD3163-02 ADAPTER,EXPANDING,BRASS,1/4-19BPSX3/8NPT JE 554-02 BARB,HOSE,MALE,BRASS,3/4HSX1/2NPT
JP6531-04 ADAPTER,EXPANDING,BRASS,1/8NPTMX3/8NPTF JD3855 BARB,HOSE,MALE,BRASS,3/4HSX3/4NPT
JD3163-21 ADAPTER,EXPANDING,BRASS,3/8-19BPSX1/4NPT JD7708-01 BARB,HOSE,MALE,BRASS,3/8HSX1/2NPTM
JD3163-01 ADAPTER,EXPANDING,BRASS,3/8-19BPSX3/8NPT JD7220 BARB,HOSE,MALE,BRASS,3/8HSX1/4NPT
JP6531-07 ADAPTER,EXPANDING,BRASS,3/8NPTMX1-1/4UNS JD2855-B BARB,HOSE,MALE,BRASS,3/8HSX3/8NPT

JD7045 ADAPTER,EXPANDING,CPVC,3/4NPTMX3/4NPTF JD 975-01 BARB,HOSE,MALE,BRASS,5/8HSX3/8NPT

JD6224 ADAPTER,EXPANDING,STEEL,PLATED,1/4MX3/8F JP6898 BARB,HOSE,MALE,BRASS, TAPPED1/4,5/8HSX3/8
JD6224-01 ADAPTER,EXPANDING,STEEL,PLATED,3/8MX1/2F JD7203 BARB,HOSE,MALE,PLASTIC,3/8HSX1/2NPT
JP7529-01 ADAPTER,EXPANDING,STEEL,PLATED,3/8MX3/4F JD3749 BARB,HOSE,MALE,ST,SCH80,1/2HSX1/2NPTX12L
JD6224-02 ADAPTER,EXPANDING,STEEL,PLATED,3/8MX3/8F JP6463 BARB,HOSE,MALE,ST,SCH80,5/8HSX3/8NPTX25L
JD8517 ADAPTER,INLET,WATER,SS,1/2GES, JE 554 BARB,HOSE,MALE,STEEL,3/4HSX1/2NPT
JD8517-A ADAPTER,INLET,WATER,SS,3/4,GES JP2955 BARB,HOSE,MALE,STEEL,PLATED,1/2HSX3/NPTM
JB1006 ADAPTER,NOZZLE,BRASS,W/LEG SUPPORT JD1351 BARB,HOSE,MALE,STEEL,PLATED,1/4HSX1/4NPT
JD 459-02 ADAPTER,NOZZLE,FAN,STEAM,STEEL JL167-B BARB,HOSE,MALE,STEEL,PLATED,3/4HSX3/8NPT
JP3909-02 ADAPTER,NOZZLE,STEAM,HEX,ST,PLTD,1/4ANPTM JP3679 BARB,HOSE,MALE,STEEL,PLATED,5/8HSX3/8NPT
JD3719-01 ADAPTER,SWIVEL,FEMALE,STEEL,PLTD,3/8X3/8 JD8562 BARB,PUSH-LOK,BRASS,3/8HSX1/4ANPTM

JD6034 ADAPTER,SWIVEL,MALE,STEEL,PLATED,3/8X3/8 JD3404-08 BARRIER,SLINGER,CAT#25327

JD3949-39 ADAPTER,VALVE,INLET,GIANT#07211 JP 720-C  BASE&THROAT,CASING,COIL,W/BK

JD3639 ALL THREAD,STEEL,PLATED,1/4-20X9LONG JP6866 BASE,ASSY,ENGINE

JP5213-01 ANGLE,SUPPORT,PANEL,BOTTOM JP5720 BASE,ASSY,PW-3

JP2904-F  ANTI-SYPHON,BURNER,FITTING,1/4NPT,ASSY JP7018 BASE,BEARING,PILLOW BLOCK

JP2904-A  ANTI-SYPHON,FUEL,1/4NPT,ASSY JP5406 BASE,CHANNEL,ASSY,2100,GES

JP2904-J  ANTI-SYPHON,FUEL,1/8NPT,ASSY JP5605 BASE,CHANNEL,ASSY,3100,GES

JP2904-D ANTI-SYPHON,FUEL,SOLENOID,115V,90DEG, 1/4 JP2922-01 BASE,MOTOR,48 FRAME

JP2904 ANTI-SYPHON,FUEL,VALVE ,METERING,ASSY JP7615 BASE,MOTOR,CPW2040-3050

JP7709-G ARM,SUPPORT,45DEG,REEL,HOSE,NO-PIVOT JP7300-06 BASE,MOTOR,HPW,2040,2000-C

JP7709-H ARM,SUPPORT,90DEG,REEL,HOSE,NO-PIVOT JP7330-01 BASE,MOTOR,SINGLE,RAIL

JD8059-05 ARM,SUPPORT,90DEG,REEL,HOSE,NO-PIVOT,OMP JP 565-01 BASE,MOTOR,STEEL,PAINTED,56 FRAME
JP7709-1  ARM,SUPPORT,VERTICAL,REEL,HOSE,NO-PIVOT JP7176-A BASE,MOUNTING,PUMP,ASSY,HPW

JD6058 AXLE,ASSY,2000LBS,S-1600-C,3100,4800-C JP7413 BASE,MOUNTING,PUMP,S-1600-C-GES

JP7619 AXLE,ASSY,CPW,2040-3050 JP7709-D BASE,MOUNTING,REEL,NON-PIVOT,WALL/FLATBD
JD8010 AXLE,CHASSIS,STEEL,PLATED,3/40DX24L JD3949-22 BASE,PLUNGER,W/CRHD,GIANT#07201
JD7775-B  AXLE,FRAME,CAGE,ROLL,ST,PLTD,LRG,HPJ JD7819-A BASE,RELAY,DP

JD7776-F AXLE,FRAME,CAGE,ROLL,ST,PLTD,SMALL,CPW,M JD7197 BASKET,SOLUTION,2GAL,CPW1020

JP2240 AXLE,FRONT,ASSY,ST,PNTD,S1600C,3100,4800 JD7064-40 BEARING,BALL,#6307,#91.8480.00

JP1580-21 AXLE,FRONT,LTC JB2011 BEARING,BALL,1.3750DX0.500I1DX0.437WIDE
JP2639-A  AXLE,REAR,LTC,HPW/2000-C JL 142-01 BEARING,BALL,1.3780DX.5906

JP2639 AXLE,REAR,LTC,ST,PAINTED,760,760C, 1560 JD2105 BEARING,BALL,1.65350DX.5906ID

JP5205 AXLE,REAR,ST,PNTD,ASSY,S51600C,3100,4800 JD3329 BEARING,BALL,1-1/80DX3/8IDX1/2

JP7209-C BAFFLE,AIR,ASSY,RI2400 JP6648 BEARING,FAN&PUMP

JP4333 BAFFLE,BLOWER,AIR,6DIA BLOWER X 3WIDE JD7147-07 BEARING,INNER,CAT#14488(RPL#2SF20EI)
JP5236-B BAFFLE,BLOWER,AIR,8DIAMETER X 4WIDE JL 141 BEARING,INTEGRAL SHAFT

JP2025-08 BAFFLE,COIL,LARGE,1/2PIPE JD2104 BEARING,INTEGRAL,SHAFT

JP3385-08 BAFFLE, TANK,FLOAT,REMOVABLE JD3262 BEARING,INTEGRAL,SHAFT (PER SPEC)
JD1280-01 BALL,STAINLESS STEEL,302,1/4DIAMATER JD3743 BEARING,INTEGRAL,SHAFT,PER SPEC

JD7249 BALL,STAINLESS STEEL,304,1/8DIAMETER JD3269 BELT,RETAINING,CONTAINER,SOL

JD7147-83 BALL,STAINLESS STEEL,316,CAT#33502 JE 877 BELT,VEE,COG,4L,46-16/64

JE 740 BALL,STAINLESS STEEL,440,1/2DIAMETER JD7834 BELT,VEE,COG,AX21

JD1280 BALL,STAINLESS STEEL,440,3/8DIAMETER JD6092-02 BELT,VEE,COG,AX26

JD6037 BALL,STEEL,CHROME ALLOY,GRADE 25,7/16DI JP2827 BELT,VEE,COG,AX30

JB2002 BAND,AIR,INNER,STEEL,PAINTED,7HOLE JD6092 BELT,VEE,COG,AX31

JB2003 BAND,AIR,OUTER,STEEL,PAINTED,8 HOLE JD3959-01 BELT,VEE,COG,AX33

JD7775-N  BAR,CROSS,HANDLE,STEEL,PAINTED,ELTRC,HPJ JD3959-04 BELT,VEE,COG,AX34

JD7775-C BAR,CROSS,HANDLE,STEEL,PLATED,LARGE,HPJ JD6092-01 BELT,VEE,COG,AX35

JP6095 BAR,SUPPORT,BRACKET,PUMP,FUEL,1/4NPTM JD3911 BELT,VEE,COG,AX36

Website: www.steamjenny.com

Toll Free Fax Order Line: (888) 4-JENNYS



Part Number Description Part Number Description

JD3959-05 BELT,VEE,COG,AX37 JP6549 BODY,PUMP,ASSY,LH,W/O CKS

JD3959 BELT,VEE,COG,AX38 JP5010-H BODY,PUMP,ASSY,RH,W/CKS

JD7713 BELT,VEE,COG,AX39 JP6548-A BODY,PUMP,ASSY,RH,W/CKS

JD3950-02 BELT,VEE,COG,AX40 JP3236-B BODY,PUMP,ASSY,RH,W/O CKS

JD3950-01 BELT,VEE,COG,AX41 JP6548 BODY,PUMP,ASSY,RH,W/O CKS

JD3950 BELT,VEE,COG,AX42 JP5010-F BODY,PUMP,ASSY,RH,W/O,CKS

JD1579 BELT,VEE,COG,AX43 JP3204-C BODY,PUMP,ASSY,RIGHT HAND,NO CHECK VALVE
JP2828 BELT,VEE,COG,AX46 JP3200-A BODY,PUMP,ASSY,RIGHT HAND,W/CHECK VALVES
JD3625 BELT,VEE,COG,AX51 JP3204-B BODY,PUMP,ASSY,RIGHT HAND,W/O CK,VALVES
JD3687 BELT,VEE,COG,AX53 JP3203-02 BODY,PUMP,LEFT HAND,MI,5/8 PISTON
JD3959-09 BELT,VEE,COG,BX34 JP3203-03 BODY,PUMP,LEFT HAND,MI,5/8 PISTON
JD3959-03 BELT,VEE,COG,BX36 JP3203R BODY,PUMP,LEFT HAND,MI,CASTING

JD3959-11 BELT,VEE,COG,BX37 JP3279-03 BODY,PUMP,MI,1-1/8PISTON

JD3959-02 BELT,VEE,COG,BX38 JP3280R BODY,PUMP,MI,CASTING,LH

JD3959-12 BELT,VEE,COG,BX39 JP3280 BODY,PUMP,MI,LH,1,PISTON

JD3959-10 BELT,VEE,COG,BX40 JP3280-01 BODY,PUMP,MI,LH,1-1/8,PISTON

JD3959-06 BELT,VEE,COG,BX41 JP3280-02 BODY,PUMP,MI,LH,1-1/8,PISTON

JD3959-15 BELT,VEE,COG,BX42 JP3280-03 BODY,PUMP,MI,LH,1-1/8,PISTON

JD3959-07 BELT,VEE,COG,BX43 JP3280-04 BODY,PUMP,MI,LH,NICKELESS,PLTG
JD3959-08 BELT,VEE,COG,BX46 JP3279 BODY,PUMP,MI,RH,1,PISTON

JD3509 BELT,VEE,FHP,3L230 JP3279-01 BODY,PUMP,MI,RH,1-1/8,PISTON

JD3596 BELT,VEE,FHP,COG,3L210 JP3279-02 BODY,PUMP,MI,RH,1-1/8,PISTON

JD3235 BELT,VEE,FHP,COG,3L240 JP3279-04 BODY,PUMP,MI,RH,NICKELESS,PLTG

JD7017 BELT,VEE,FHP,COG,3L250 JP6494 BODY,PUMP,STEEL,LEFT&RIGHTHAND,J-55
JD3305 BELT,VEE,FHP,COG,3L255 JD6196 BODY,SAND,GIANT#23050

JD7193 BELT,VEE,FHP,COG,3L260 JD1488-05 BODY,SWIVEL,BRASS,PER SPEC.

JD3315-03 BELT,VEE,FHP,COG,3L280 JP7312 BODY,VALVE,ACTUATOR

JD3315-02 BELT,VEE,FHP,COG,3L290 JP3208-12 BODY,VALVE,CHECK,BR,PER DWG.

JD7193-A BELT,VEE,FHP,COG,3L350 JP3667-01 BODY,VALVE,CHECK,SOLUTION,STEEL,PUMP,JEN
JD3315-04 BELT,VEE,FHP,COG,3L380 JP2688-14 BODY,VALVE,RELIEF,DRAIN,BRASS

JD3315-09 BELT,VEE,FHP,COG,3L390 JD3949-26DBOLT,ASSY,GIANT,#07202

JD3315 BELT,VEE,FHP,COG,3L400 JD3404-28 BOLT,CYLINDER,CAT,#25337

JD7833 BELT,VEE,FHP,COG,4L160 JD6102 BOLT,EYE,ST,PLTD,3/8-CX4

JD3689 BELT,VEE,FHP,COG,4L190 JD3173 BOLT,J,PER SPEC

JD3861 BELT,VEE,FHP,COG,4L200 JD3961-26 BOLT,STAG,JS#430027

JD7896 BELT,VEE,FHP,COG,4L210 JD3961-09 BOLT,STAG,JS,#430409

JD3792 BELT,VEE,FHP,COG,4L220 JP3119-03 BOLT,Y,ST,PLTD,3/8CX8,PER SPEC.

JD3213 BELT,VEE,FHP,COG,4L430 JP3284-A BONNET,ASSY,HIGH,PSI,COMPLETE

JD7748 BELT,VEE,FHP,COG,5L290 JP3285-B BONNET,ASSY,LOW PRESSURE

JD7748-01 BELT,VEE,FHP,COG,5L320 JP3285-A° BONNET,ASSY,LOW,PSI,COMPLETE

JP5004 BELT,VEE,POLYFLEX,7M1150 JP6908-A BONNET,ASSY,VERY,HIGH,PSI

JD2185 BELT,VEE,POLYFLEX,7M1360 JP6908-C BONNET,ASSY,VHP,COMPLETE

JD2161 BELT,VEE,POLYFLEX,7MI1220 JP2688-09 BONNET,BRASS,VALVE,STIRRING

JP6665 BLANK,PANEL,CONTROL,ALL-ELECTRIC JP7426-02 BONNET,INJECTOR,SOLUTION

JD3711-02 BLOCK,CONTACT,NORMALLY CLOSED JL 211 BONNET,SEAT,VALVE,INLET

JP6042 BLOCK,CRANK,STEEL,STROKE,1-1/2,3/4BRG JP3284-02 BONNET,VALVE,RELIEF,DRAIN,BRASS
JP3228-05 BLOCK,CRANK,STEEL,STROKE,1-1/2,5/8BRNG JP6908-01 BONNET,VALVE,RELIEF,DRAIN,BRASS,PER SPEC
JP3228-04 BLOCK,CRANK,STEEL,STROKE,1-1/4,5/8BRNG JP3284-B BONNET,VALVE,RELIEF,DRAIN,HIGH PSI,ASSY
JP6042-02 BLOCK,CRANK,STEEL,STROKE,1-5/8,3/4BRG JD3031-01 BOOT,90DEG,IGNITION,RUBBER,HIGH TEMP
JP6042-01 BLOCK,CRANK,STEEL,STROKE,2,3/4BEARING JD2107 BOOT,IGNITION,RUBBER,HIGH VOLTAGE
JD2111-13 BLOCK, TERMINAL,4POLE,600V,.25X.032 JD3176 BOOT,SEAL,RUBBER,SWITCH,TOGGLE

JD7072 BLOCK, TERMINAL,7 POSITION,1/4TABS JD 998-A BOOT, TERMINAL,MAGNETO,PLASTIC,BLACK
JB2000 BLOWER,AIR,ASSY,60DX4WX1/2SHAFT JD7537 BOTTLE,PLASTIC,5 OZ.

JD7208 BLOWER,CENTRIFUGAL,120V JP6678-A BOX,BATTERY,BOLT-ON,STEEL,PAINTED,ASSY
JD6028 BLOWER,COMBUSTION,ASSY JD7769 BOX,BATTERY,PLASTIC,BLACK,11X7-1/2X8-3/4
JB5000 BOARD,CIRCUIT,PRINTED,ALL MACHINES JP7041 BOX,BATTERY,STEEL,PAINTED,ASSY,S-1600-C
JP2609-01 BODY,ANTI-SYPHON,FUEL,STEEL JP3944 BOX,BLOWER,STEEL,PAINTED,11DIA FAN
JP3286-02 BODY,BRASS,PUMP,FUEL JE2002 BOX,JCT,PANEL,FRONT,230-575/3PH,30A,JB
JP3517-04 BODY,BRASS,VALVE,FOOT JP6790-B  BOX,JUNCTION,ASSY,3100,230/60/3

JP3506-03 BODY,FEMALE,TEEJET,BRASS,1/4NPT JD7599-04 BOX,JUNCTION,BOTTOM,MODIFIED,PLASTIC,5X7
JP7426-05 BODY,INJECTOR,SOLUTION,BRASS,1/2HSX1/2 JP6706-01 BOX,JUNCTION,DRILLED,ST,PAINTED,4X10X12
JD 265-A BODY,NOZZLE,BRASS,STANDARD,1/4NPT JD 961 BOX,JUNCTION,NEMA4,2X4X2-1/8, W/GASKET
JD 265-D BODY,NOZZLE,OIL,1/4NPTF JP6667-A BOX,JUNCTION,PANEL,CONTROL,ASSY
JP3921-04 BODY,PLUG,FUSIBLE,BRASS,PER DWG,W/GROOVE JP7178-10 BOX,JUNCTION,STEEL,GALV,2-1/2X4X7-1/8
JP3921-03 BODY,PLUG,FUSIBLE,BRASS,PER DWG. JP6666-A BOX,JUNCTION,STEEL,PAINTED,ALL-ELECTRIC
JP3210-C BODY,PUMP,ASSY,1H,W/O CKS,CSA JP7000-02 BOX,JUNCTION,STEEL,PAINTED,NEMA4,10X10X6
JP3200-C BODY,PUMP,ASSY,LEFT HAND,NO CHECK VALVES JD3944 BOX,JUNCTION,STEEL,PAINTED,NEMA4,10X12X4
JP3200-F BODY,PUMP,ASSY,LEFT HAND,NO CHECK VALVES JP7000 BOX,JUNCTION,STEEL,PAINTED,NEMA4,6X6X4
JP3200-H BODY,PUMP,ASSY,LEFT HAND,NO CHECK VALVES JP6743 BRACE,COIL,ELECTRIC,ST,PAINTED

JP3200-B BODY,PUMP,ASSY,LEFT HAND,W/CHECKS VALVES JP6655 BRACKET,ASSY,CHANNEL

JP3213-B BODY,PUMP,ASSY,LH,W/CKS JP6712-A° BRACKET,ASSY,E-300-C

JP3230-B BODY,PUMP,ASSY,LH,W/CKS JP6925-G BRACKET,ASSY,RESET

JP6549-A BODY,PUMP,ASSY,LH,W/CKS JP6837-B BRACKET,ASSY,W/WELDED,COUPLING

Website: www.steamjenny.com

Toll Free Fax Order Line: (888) 4-JENNYS



Part Number Description Part Number Description

JP7104 BRACKET,BATTERY,CPW2040-CPW3050 JD3915-08 BUSHING,PULLEY,TAPERED,18MM BORE
JP6558 BRACKET,CABLE,CHOKE JD3915-07 BUSHING,PULLEY, TAPERED,20MM BORE
JP4313-03 BRACKET,CASING,COIL,TRANSFORMER JD3915-11 BUSHING,PULLEY, TAPERED,22MM BORE
JP2035-01 BRACKET,CONTROL,THERMAL JD3915 BUSHING,PULLEY,TAPERED,24MM BORE
JP2224-14 BRACKET,HOLDER,GUN,STEEL,PAINTED JD3915-14 BUSHING,PULLEY, TAPERED,28MM BORE
JP7328 BRACKET,HONDA,HPW,OMP JD3915-01 BUSHING,PULLEY, TAPERED,5/8BORE

JP7423 BRACKET,INLET,COIL,E-350 JD3915-03 BUSHING,PULLEY, TAPERED,7/8BORE

JP7170-04 BRACKET,KEEPER,BATTERY JD 822-01 BUSHING,REDUCER,HEX,BRASS,1/2X1/4
JP5615-01 BRACKET,MANIFOLD,STEEL,PAINTED,3100GES JD6243 BUSHING,REDUCER,HEX,BRASS,1/2X1/8

JD2362 BRACKET,MOUNTING,PILOT,MUP-PBR-1 JD3053 BUSHING,REDUCER,HEX,BRASS,1/2X3/8

JD8528 BRACKET,MOUNTING,PILOT,U-29-BURNER JD 672-01 BUSHING,REDUCER,HEX,BRASS,1/4X1/8
JP6091-01 BRACKET,MOUNTING,PUMP,FUEL JD3096 BUSHING,REDUCER,HEX,BRASS,3/4X1/2

JP6674 BRACKET,MOUNTING,STEEL,PAINTED JP6594 BUSHING,REDUCER,HEX,BRASS,3/4X1/2,STRNR
JP5413-06 BRACKET,OUTLET,COIL,GES JD3114 BUSHING,REDUCER,HEX,BRASS,3/4X3/8

JP 591-A  BRACKET,OUTLET,VAPOR,ASSY JD3056 BUSHING,REDUCER,HEX,BRASS,3/8X1/4
JP591-C BRACKET,OUTLET,VAPOR,TEE,ASSY JD3092 BUSHING,REDUCER,HEX,BRASS,3/8X1/8
JP4828-04 BRACKET,PILOT,200,GES JD3075 BUSHING,REDUCER,HEX,MI,1-1/2X1-1/4

JP5938 BRACKET,PILOT,STEEL,PAINTED JD3034 BUSHING,REDUCER,HEX,MI,1-1/4X1

JP6708-01 BRACKET,PSI,SWITCH&TEMP,CONTROL JD 736-02 BUSHING,REDUCER,HEX,SS,1/2X3/8

JP7019 BRACKET,PULLEY,IDLER JD 673-01 BUSHING,REDUCER,HEX,SS,3/8X1/4

JP6487 BRACKET,PUMP,FUEL,1600C JD 822 BUSHING,REDUCER,HEX,STEEL,PLATED,1/2X1/4
JP6487-A BRACKET,PUMP,FUEL,ASSY JD2599 BUSHING,REDUCER,HEX,STEEL,PLATED,1/2X3/8
JP6093-01 BRACKET,PUMP,FUEL,BOLT ON JD 672 BUSHING,REDUCER,HEX,STEEL,PLATED,1/4X1/8
JP2224-12 BRACKET,RACK,HOSE,STEEL,PAINTED JD1006 BUSHING,REDUCER,HEX,STEEL,PLATED,3/4X1/2
JP7634 BRACKET,RACK,HOSE, TIP,CPW2040-3050 JD7627 BUSHING,REDUCER,HEX,STEEL,PLATED,3/4X1/2
JP4828-02 BRACKET,SUPPORT,MANIFOLD,200GF JD1032-02 BUSHING,REDUCER,HEX,STEEL,PLATED,3/4X1/4
JP5615 BRACKET,SUPPORT,MANIFOLD,STEEL,PAINTED JD 990-02 BUSHING,REDUCER,HEX,STEEL,PLATED,3/4X3/8
JD7928 BRACKET,SWITCH,CAM,ROTARY,DP,ELHW JD2673 BUSHING,REDUCER,HEX,STEEL,PLATED,3/8X1/4
JP7644 BRACKET, THROTTLE,B&S,11HP,DUC JD 703 BUSHING,REDUCER,HEX,STEEL,PLATED,3/8X1/8
JP6551-16 BRACKET, TIGHTENER,BELT JD1392 BUSHING,RELIEF,STRAIN,0.250-0.312,5/8
JP7709-F BRACKET,WALL,UNIVERSAL,MOUNT,QUICK,REEL JD3947 BUSHING,RELIEF,STRAIN,0.32-0.65,7/8

JP6741 BRACKET,ZEE,CONTROL, THERMAL JD1338 BUSHING,RELIEF,STRAIN,0.370-0.430,3/4
JD7775-H BRAKE,WHEEL,STEEL,PAINTED,LARGE,CPW JP7657 BUSHING,STEEL,SPLIT,FOR CHANNEL RAIL
JP6969-05 BRKT,MTG,CHASSIS JP3304 BY-PASS,PUMP,ASSY,RH

JP3312-06 BULB,LIGHT,BASE,SCREW,6WATT,115V JP3208-11 CAGE,VALVE,CHECK,304SS,PER DWG.
JP3312-07 BULB,LIGHT,BASE,SCREW,6WATT,30VAC JD7147-49 CAPADJUSTING,HEX,CAT#540081

JD6182-01 BUMPER,MOLDER,PER SPEC JP3506-05 CAP,BRASS,T-BODY

JD3997 BUMPER,RUBBER,8-32X3/8THREADS JD3083-02 CAP,CONTAINER,PLASTIC,2GAL(3/8HOLEDRILL)
JP5940-A BURNER,ASSY,NAT,760,760-C JD1180 CAP,FEMALE,MI,150#,3/4NPT

JP5944-A  BURNER,GAS,LP,ASSY,1560,LES JD 690 CAP,FEMALE,STEEL,PLATED,3/8NPT

JP5927-A  BURNER,GAS,NATURAL,ASSY,1560,1000C,GES JD2121 CAP,FILLER,ALUMINUM,HINGED,VENTED
JD7634 BURNER,GUN,FIRED,OIL,115VOLT JD3174 CAPFILLER,FUEL,STEEL,PLATED,1/4 TURN
JD7635 BURNER,GUN,FIRED,OIL,230VOLT JD6167-07 CAP,FILLER,OIL,RED,CAT#43211

JB1000 BURNER,GUN,OIL,DOUBLE ELECTRODE JD7147-03 CAPFFILTER,OIL,RED,CAT#45690

JD3229 BURNER,LP#640 JETS,0#56,U-29 JD8620-02 CAP,FLUID,(SPRAY SYSTEMS)

JD3264 BURNER,LP#640JETS,0#60,X-44,W/PILOT,L10 JD7064-09 CAP,GENERAL,#98.2312.00

JD2359-A BURNER,LP#640JETS,0#62,X-10,W/Q314B1019 JD7169 CAP,HUB,BLACK

JD3128-B BURNER,NAT#640JETS,0#48,U-29 JP7234-01 CAP,RAIN,RI2400

JD2359 BURNER,NAT #640JETS,0#53,X-10,#Q314B1019 JP 677 CAP, TANK,FUEL

JD3257 BURNER,NAT #640JETS,0#50,X-44 JD6146 CAP, TUBE,ORANGE,3/8HOSE

JD3161 BURNER,NAT #640 JETS,0# 52,X-44 JP2688-08 CAP,VALVE,RELIEF,DRAIN

JP7487-02 BURNER,OIL,ASSY,1.5@80 JD3460-02 CAPACITOR,RUN,MOTOR,SPECIFY MOTOR
JP6386-M BURNER,OIL,ASSY,1.75ANTISYPHON JP7188 CARRIER,CONTAINER,SOLUTION,5GAL,ASSY,HPW
JP6386-V BURNER,OIL,ASSY,2.0ANTISYPHON JD7156 CARTON,350#TEST,DOUBLE WALL,STITCH JOINT
JP6386 BURNER,OIL,ASSY,2.25 JD3692-28 CASE,BEARING,SEAL,OIL,CAT#27950

JP7486-02 BURNER,OIL,ASSY,2.25@80 JD6167-38 CASE,U-PACKING,CAT#45679

JP6386-N  BURNER,OIL,ASSY,2.25ANTISYPHON JP3918 CASING,COIL,ASSY,200+,S-200-C

JP6386-T BURNER,OIL,ASSY,2.25DBL,WHIRLER JP5507-A  CASING,COIL,ASSY,2100,GES

JP6546 BURNER,OIL,ASSY,LESS NOZZLE JP5907 CASING,COIL,ASSY,760-2000,GES

JP6546-A BURNER,OIL,ASSY,LESS NOZZLE JP2966-B CASING,COIL,ASSY,760PARTS,N/S

JL 193 BUSHING,ANTI-SHORT,PLASTIC,14-3,12-2 JP5208 CASING,COIL,ASSY,S1600-3100

JL 193-01  BUSHING,ANTI-SHORT,PLASTIC,14-4,12-3 JD8002-A CASING,COIL,BOLT-ON,SS,PAINTED,LARGE
JP1236 BUSHING,BEARING,OFF SET DRIVE,BRASS JD8002 CASING,COIL,BOLT-ON,STEEL,PAINTED,LARGE
JD3796 BUSHING,CERAMIC,1/20DX3/16IDX1/2 JD8001 CASING,COIL,BOLT-ON,STEEL,PAINTED,SMALL
JD7605-01 BUSHING,CONDUIT,INSULATED,PLASTIC,1-1/2 JD7924 CASING,COIL,BOLT-ON,STL,PNTD,LARGE ,ELHW
JD7605 BUSHING,CONDUIT,INSULATED,PLASTIC,1-1/4 JD7923 CASING,COIL,BOLT-ON,STL,PNTD,SMALL,ELHW
JD3702-A BUSHING,HEX,SS,1/2NPTMX14MM JP2966 CASING,COIL,HPW2040,2000-C,3000-C OEP
JD3600 BUSHING,NYLON,1-13/160DX1.001X1-13/16LNG JP2966-C CASING,COIL,SS,ASSY,760,PARTS,N/S

JD7284 BUSHING,PLASTIC,BLACK,SNAP IN,2 JP7174-E  CASING,COIL,SS,PAINTED,HPW1023-HPW1530
JD3915-09 BUSHING,PULLEY, TAPERED,1BORE JD8504 CASING,COIL,STEEL,PAINTED,SIZE-A

JD3915-04 BUSHING,PULLEY, TAPERED,1-1/8BORE JD8505 CASING,COIL,STEEL,PAINTED,SIZE-B

JD3915-06 BUSHING,PULLEY, TAPERED,1-3/8BORE JD3217 CASTER,SWIVEL,W/BRAKE,5DIA X 1-1/4FACE
JD3915-02 BUSHING,PULLEY,TAPERED,16.5MM BORE JD3217-01 CASTER,SWIVEL,W/BRAKE,5DIA X 2FACE

Website: www.steamjenny.com

Toll Free Fax Order Line: (888) 4-JENNYS




Part Number

Description

Part Number Description

JD3217-02 CASTER,SWIVEL,W/OBRAKE,5DIA X 2FACE

JP6637
JP2839
JD8000
JP6702
JP3804-G
JP3804-L
JP3804-T
JD8501
JD8502
JP7187-C
JP3995-Z
JP7260-B
JP7144-A
JP7260-A
JP7144
JD8640
JP6015-D
JD2976
JD1520
JD1529
JD6055
JD2158
JD1521
JD7597
JP6015-C
JB1011
JD3068
JD1229
JD1229-A
JD 999
JD7859-F
JD1408
JD1472
JD1136
JD1306
JD1337
JD1348
JD3637
JD2759
JP5204-A
JD7001
JD6175-B
JD6086
JD6149
JD6149-A
JD7831
JD7832
JP2601-10
JP3593-02
JP3950-02
JK 210-A
JP1496-A
JD3773
JP4566
JP6755-B
JP6703-A
JP6716-A
JP6745-A
JP7714-01
JP7714-02
JP7714-03
JP7714-04
JP3364-J
JP3365-D
JP3364-D
JP3342-B
JP4516-E
JP4516-B
JP4520-B
JP5508
JP5909
JP5608

CHANNEL,CHASSIS,3100,0MP
CHANNEL,FRONT,END
CHASSIS,CHANNEL,MAIN,ST,PAINTED,OILFIRED
CHASSIS,E300-C,ASSY

CHASSIS,LTC,0EP,760
CHASSIS,LTC,OEP,760/1000C
CHASSIS,LTC,OMP,760-C
CHASSIS,MODULE,COIL,STL,PAINTED,SIZE-A
CHASSIS,MODULE,COIL,STL,PAINTED,SIZE-B
CHASSIS,OEP,1560,ASSY
CHASSIS,OEP,200,PLUS,ASSY
CHASSIS,OEP,2000-C,LTC
CHASSIS,OEP,760C/1000C
CHASSIS,OEP,SS,2000C

CHASSIS,OMP,1000-C
CHASSIS,SNOWMAKER,SMALL,STEEL,PNTD
CLAMP,BURNER,ASSY
CLAMP,CABLE,CONNECTOR,AMPHENOL
CLAMP,CABLE,NYLON,#10SCREW,5/8
CLAMP,CABLE,NYLON,1/4
CLAMP,CABLE,NYLON,3/8
CLAMP,CABLE,NYLON,7/8
CLAMP,CABLE,STEEL,PLTD,COATED,1-1/8
CLAMP,CONDUIT,HANGER,3/4
CLAMP,ELCTRODE,PVC,COATED,PER DWG.
CLAMP,ELECTRODE,STEEL,13GAUGEX0.5X2.0
CLAMP,GEAR,WORM,SS,1/4 TO 5/8 DIA.
CLAMP,HOSE,GEAR,WORM,SS,11/16TO1-1/4 DIA
CLAMP,HOSE,GEAR,WORM,SS,9/16TO1-1/16DIA
CLAMP,HOSE,MI,2BOLT(INCL),3/4
CLAMP,HOSE,NYLON,BLACK,.750/.875DIA
CLAMP,HOSE,SKIRTED,1/2(1-1/2LONGBOLTS)
CLAMP,HOSE,SKIRTED, 1/4
CLAMP,HOSE,SKIRTED,3/8
CLAMP,HOSE,ST,1-1/2
CLAMP,HOSE,ST,BANDIT,JR,1-1/2
CLAMP,HOSE,STL,BANDIT,JR,13/16
CLAMP,LOOP TYPE,3/160.D. CABLE
CLAMP,SLEEVE,PLASTIC,3/8ID
CLAMP,SUPPORT,FIFTH,WHEEL
CLAMP,WIRE,IGNITION,STAND OFF
CLEANER,SURFACE,ROTARY,3500PSI,6.0GPM,24
CLIP,ALLIGATOR,2LG,3/80PEN
CLIP,GRIPPER,COATED
CLIP,GRIPPER,ST,PLTD
CLIP,SEPARATOR,WIRE,IGNITION,7MM,2-WIRE
CLIP,SEPARATOR,WIRE,IGNITION,7MM,3-WIRE
CLIP,SPRING,STEEL,3/16DIA HOLE
CLIP,SPRING, THERMOSTAT,MOUNT,SS,E-300-C
CLIP,SPRING,WIRE,IGNITION

COCK,GAS,AGA & CGA CERTIFIED,1INPTF
COCK,GAS,AGA & CGA CERTIFIED,1-1/2NPTF
COCK,SQUARE HEAD,BRASS,STEAM,3-WAY,1/2
COIL,ELECTRIC,440V/3,MJ600,ASSY
COIL,ELECTRIC,E300,208V
COIL,ELECTRIC,E300,220V
COIL,ELECTRIC,E300,440V
COIL,ELECTRIC,E300,575V
COIL,ELECTRIC,E3000-C,460V,INNER
COIL,ELECTRIC,E3000-C,460V,OUTER
COIL,ELECTRIC,E3000-C,575V,INNER
COIL,ELECTRIC,E3000-C,575V,OUTER
COIL,ELECTRIC,E350,208V
COIL,ELECTRIC,E350,220V
COIL,ELECTRIC,E350,440V
COIL,ELECTRIC,E350,575V
COIL,ELECTRIC,E850,240VDC&380V
COIL,ELECTRIC,E850,440V
COIL,ELECTRIC,E850,575V
COIL,GAS,FIRED,1/2PIPE,SCH40
COIL,GAS,FIRED,1/2PIPE,SCH40
COIL,GAS,FIRED,1/2PIPE,SCH40,3100

JP5909-B  COIL,GAS,FIRED,1/2PIPE,SCH80

JP5608-A  COIL,GAS,FIRED,1/2PIPE,SCH80,HPW1510
JP5508-A  COIL,GAS,FIRED,1/2PIPE,SCH80,HPW2560
JP7004 COIL,GAS,FIRED,3/8PIPE,SCH40

JD 942-13 COIL,MAGNETO

JP2194 COIL,OIL,FIRE,1/2PIPE,SCH40

JP5224 COIL,OIL,FIRED,1/2PIPE,SCH40

JP2610 COIL,OIL,FIRED,3/8PIPE,SCH80

JP6379 COIL,OIL,FIRED,3/8PIPE,SCH80

JP7226 COIL,OIL,FIRED,7/8TUBING,12GA,RI2400
JD3306-09 COIL,SOLENOID,FUEL,12DC/24VAC,SUNTEC,
JD2162-05 COIL,SOLENOID,SOLUTION,120V,PARKER-SKINN
JD2162-03 COIL,SOLENOID,SOLUTION,220V,ASCO
JD2162-04 COIL,SOLENOID,SOLUTION,230V,PARKER-SKINN
JD2567-R  COIL,STARTER,MAGNETIC,230V,GE

JD7775-1 COLLAR,BRAKE,WHEEL,STEEL,PLATED,HPJ
JD7777 COLLAR,SCREW,SET,STEEL,PLATED,3/41D
JP3917-07 COLLAR,SPACER,STEEL,3/41DX1-1/80D

JB1005 COLLAR,STEEL,0.875DX0.437IDX0.437LONG
JP3282-05 COMPENSATOR,END,PUMP,FUEL

JD6001-05 COMPOUND,SEALING,EXP,1 LB CAN

JD 942-14 CONDENSOR,MAGNETO

JD 799-A CONDUIT, ALUMINUM,FLEXIBLE,3/8

JD 799-33 CONDUIT,FLEX,ASSY,3/8X33

JD6004-04 CONDUIT,METAL,FLEXIBLE,LIQ. TIGHT,1-1/2
JD6004-01 CONDUIT,METAL,FLEXIBLE,LIQUID TIGHT,3/4
JB1002 CONE,AIR,MI,4.00DX3.0IDX0.875LONG

JD3961-45 CONE,VALVE,JS430046

JP1285-B CONNECTOR,BOX,1/2

JD7142 CONNECTOR,BR,3/4GARDEN HOSEX1/2NPTM,SWIV
JD7142-C  CONNECTOR,BRASS,3/4-GARDEN HOSEX1/2NPTF
JD7142-B  CONNECTOR,BRASS,3/4GARDEN HOSEX3/4NPTF
JD7148 CONNECTOR,BRASS,3/4GARDEN HOSEX3/8NPTM
JD2973 CONNECTOR,CABLE,JACK,AMPHENOL

JD3933 CONNECTOR,CABLE,SHEATHED, 1-1/4

JD1448 CONNECTOR,CLAMP,CABLE,SHEATHED,3/4
JD3141 CONNECTOR,CLAMP,CABLE,SHEATHED,3/8
JD3254 CONNECTOR,COMPRESSION,MALE,BR,1/2X1/4NPT
JD6003-02 CONNECTOR,CONDUIT,SEALTITE,1,1NPTM
JD6003 CONNECTOR,CONDUIT,SEALTITE,1/2,1/2NPTM
JD6003-04 CONNECTOR,CONDUIT,SEALTITE,1-1/2,1-1/2NP
JD6003-01 CONNECTOR,CONDUIT,SEALTITE,3/4,3/4ANPTM
JD2391 CONNECTOR,FEMALE,BRASS,1/4-45SAEX1/4NPT
JD7264 CONNECTOR,FEMALE,BRASS,1/4-45SAEX1/8NPT
JP7522 CONNECTOR,FEMALE,ST,PLT,3/8-45SAEX1/2NPT
JD6200 CONNECTOR,GRIP,CORD,WIRE,3/4NPT

JD3253 CONNECTOR,HEX,BRASS,3/8NPTX1/4NPT

JD 660 CONNECTOR,MALE,BRASS, 1/2-45SAEX3/8NPT

JD 659 CONNECTOR,MALE,BRASS, 1/4-45SAEX1/4ANPT

JD 656 CONNECTOR,MALE,BRASS, 1/4-45SAEX1/8NPT
JD1277 CONNECTOR,MALE,BRASS, 1/4-45SAEX3/8NPT

JD 657 CONNECTOR,MALE,BRASS,3/8-45SAEX1/4NPT
JD3182 CONNECTOR,MALE,BRASS,3/8-45SAEX1/8NPT
JD3899 CONNECTOR,MALE,BRASS,5/8-45SAEX1/2NPT
JD3780-A CONNECTOR,MALE,COMPRESSION,BR,1/4TBX1/8
JD1343 CONNECTOR,MALE,COMPRESSION,BR,3/8TBX3/4
JD6035 CONNECTOR,MALE,COMPRESSION,BR,3/8TBX3/8
JD 684-02 CONNECTOR,MALE,SS,FLARELESS,3/80D,TUBE
JD1643 CONNECTOR,MALE,ST,PLTD,3/8SAEX3/4,W/STRN
JD1342 CONNECTOR,MALE,STEEL,3/8-45SAEX3/4ANPTM
JD1435-B CONNECTOR,NUT,WIRE,300V,14-22GA ,BLUE
JD3555 CONNECTOR,NUT,WIRE,300V,16-22GA,GRAY
JD1438 CONNECTOR,NUT,WIRE,600V,10-18GA,RED
JD1435 CONNECTOR,NUT,WIRE,600V,12-18GA,YELLOW
JB1015-04 CONNECTOR,RAJAH,ELECTRODE #6-32
JD1687-19 CONNECTOR,RELIEF,STRAIN,.700-.950,1NPTM
JD1687-05 CONNECTOR,RELIEF,STRAIN,1/2-5/8,1/2NPTM
JD1687-06 CONNECTOR,RELIEF,STRAIN,1/4-3/8,1/2NPTM
JD1687-18 CONNECTOR,RELIEF,STRAIN,1-1.375,1-1/2NPT
JD1687-07 CONNECTOR,RELIEF,STRAIN,3/8-1/2,1/2NPTM
JD1687-17 CONNECTOR,RELIEF,STRAIN,5/8-3/4,3/ANPTM
JD7703 CONNECTOR,SOLENOID,RELIEF,STRAIN,DIN
JD3952 CONNECTOR,SPLICE,BUTT,INSULATED, 14-16GA

Website: www.steamjenny.com

Toll Free Fax Order Line: (888) 4-JENNYS



Part Number Description Part Number Description

JD3720 CONNECTOR,TUBE,STEEL,PLTD,1/2JICX3/8NPTM JD7790-09 COUPLING,SWAGE,3/8HS,4K PSI,SLD,3/8NPTF
JD3982 CONNECTOR,TUBE,STEEL,PLTD,5/8JICX1/2NPT JD7790-04 COUPLING,SWAGE,3/8HS,4K PSI,SLD,3/8NPTM
JP3252-07 CONNECTOR,TUBE,STL,PLTD,1/20DX3/8NPTM JD7790-08 COUPLING,SWAGE,3/8HS,4K PSI,SWVL,3/8NPTF
JD3952-A CONNECTOR,WIRE,CRIMP-ON,12-18 GAUGE JD7790-03 COUPLING,SWAGE,3/8HS,4K PSI,SWVL,3/8NPTM
JP 626 CONNECTOR,Y,BRASS,WATER,SUPPLY,3/4GRDNHS JD7790-05 COUPLING,SWAGE,3/8HS,4KPSI,90SWVL,3/8NPT
JD7651-U CONTACTOR,AUX,2-NO,2-NC,SNAP-ON,SPRECH JD7790-07 COUPLING,SWAGE,3/8HS,7K PSI,SLD,3/8NPTM
JD7651-N CONTACTOR,AUX.,2-NO,2-NC,SNAP-ON,SPRECH- JD7790-06 COUPLING,SWAGE,3/8HS,7K PSI,SWVL,3/8NPTM
JD7651-S CONTACTOR,AUXILLARY,N/O,2P,SNAP-ON,SPR JP6731 COUPLING,WATER,TANK,BRASS,1-1/4HEX
JD7651-M CONTACTOR,AUXILLARY,N/O,N/C,SNAP-ON,SPR& JP5314-01 COVER,ACCESS,CASING,COIL,GES,1600-4800
JD7651-C CONTACTOR,AUXILLARY,NO,SNAP ON(AEG) JP6574 COVER,ASSY,3100,S1600C,4800C

JD3143 CONTACTOR,DP,0OP,1P,25A,24V JP6712 COVER,ASSY,E-300-C

JP3530-C CONTACTOR,DP,0P,2P,25A,208/240 JP7713-01 COVER,BOX,JUNCTION,ST,PAINTED

JP3530-B CONTACTOR,DP,0OP,2P,30A,110V JP6666-04 COVER,BOX,JUNCTION,ST,PAINTED,E-350&850
JP3530-D CONTACTOR,DP,0OP,2P,30A,24V JD 962-01 COVER,BOX,JUNCTION,STEEL,GALV,2X4,W/HOLE
JD7651-Q CONTACTOR,DP,0OP,3P,100A-RES,24V,(CA7) JD8634-18 COVER,END,AIR-MATE#392

JD7803-A CONTACTOR,DP,0OP,3P,100A-RES,24V,(CA7) JP6574-N COVER,LEFT SIDE,PANEL ASSY

JD7651 CONTACTOR,DP,0OP,3P,30A,115V,W/AUX CONTCT JP7302 COVER,MACHINE,SS,HPW,OEP

JD7651-A CONTACTOR,DP,0OP,3P,30A,230V,W/AUX CONTCT JP7475 COVER,MACHINE,SS,HPW,0OMP

JD7651-Y CONTACTOR,DP,0OP,3P,32A-RES,(CA7) JD8012 COVER,MACHINE,SS,0MP,JB

JD7651-W CONTACTOR,DP,0OP,3P,32A-RES,24V,(CA7) JP5918 COVER,OBSERVATION,FIRE,GES,760

JD7651-J CONTACTOR,DP,0OP,3P,40A,24VAC JP6574-K COVER,OPER SIDE,PANEL,ASSY

JD7651-V CONTACTOR,DP,0OP,3P,50A-RES,24V,(CA7) JD3806-03 COVER,SAFETY,FITTING,GREASE

JD7800 CONTACTOR,DP,0OP,3P,60A,24V(CA3) JP7484 COVER,SIDE,PANEL,SS,HPW,OMP

JD3695-A CONTACTOR,DP,0P,3P,60A,24VAC JD8248 COVER,SS,ASSY,OEP,NEW,JB,MACH

JD3776 CONTACTOR,DP,0OP,3P,90A,115V JD8249 COVER,SS,ASSY,OMP,NEW,JB,MACH

JD3083 CONTAINER,PLASTIC,2GAL,BLUE-WH(43-400FIN JP3334-B  COVER,TERMINAL,CASING,COIL,EXP

JP7694-A  CONTROL,IGNITION,UNIT,LOCKOUT,SP745 JP6704 COVER, TERMINAL,FRONT,E-300-C

JD3701-B  CONTROL,LIMIT,TEMPERATURE,AUTOMATIC JP3334-D COVER,TERMINAL,ST,CASING,COIL

JP6708 CONTROL,PRESSURE&TEMP,ASSY,E-300-C JP7721 COVER, TERMINAL,ST,CASING,COIL,E-X000-C
JD6030-A CONTROL,PRIMARY,IGNITION,CONSTANT JP6712-B  COVER,W/TRIM,ASSY,E-300-C

JD3019 CONTROL,RELIGHT,RECTIFICATION,FLAME JR1021-13 CPLG,LANCE,PARTS,CJR

JP6550-C CONTROL,REMOTE,MACHINE,GAS FIRED,COMB,NS JP3229-D CRANKSHAFT,STROKE,1-1/2,LARGE BEARING
JP6550-D CONTROL,REMOTE,MACHINE,GAS FIRED,HPW JP3258 CRANKSHAFT,STROKE, 1-1/2,LARGE BEARING
JD8057 CONTROL, TEMPERATURE,ADJ,1223-C,OEP JP3229-B CRANKSHAFT,STROKE,1-1/2,SMALL BEARING
JD8058 CONTROL, TEMPERATURE,ADJ,GES UNITS JP3258-A CRANKSHAFT,STROKE,1-1/4,LARGE BEARING
JD8070 CONTROL, TEMPERATURE,ADJ,SJ100,120,150,GE JP3229-A° CRANKSHAFT,STROKE,1-1/4,SMALL BEARING
JP7649 CONTROL, THERMOSTAT,ADJUSTABLE,ASSY,AUTO JP3258-B CRANKSHAFT,STROKE,1-5/8,LARGE BEARING
JD2904 CORD,DROP,10,#14-3,SJO JP3231-C CRANKSHAFT,STROKE,2,ASSY

JD2781-A CORD,DROP,10’,#12-3,SJOW/5-20P JP3879 CRANKSHAFT,STROKE,2,ASSY

JD7179-A CORD,DROP,GFCI,120V,15A,40FT JD8625 CROSS,FEMALE,BRASS,1/4NPT

JD7179-B CORD,DROP,GFCI,120V,20A,40FT JD2367-01 CROSS,FEMALE,FORGED,STEEL,PLATED,3/8NPT
JD7179-C CORD,DROP,GFCI,120V,30A,40FT JE 784-02 CROSS,FEMALE,STEEL,PLATED,1/2NPT
JD7179-D CORD,DROP,GFCI,240V,15A,40FT JD2367 CROSS,FEMALE,STEEL,PLATED,3/8NPT
JD7179-E CORD,DROP,GFCI,240V,20A,40FT JD 686 CROSS,UNION,BRASS, 1/4-45SAE

JD7179-F CORD,DROP,GFCI,240V,30A,40FT JD3692-33 CYLINDER, CAT #25660

JD7179 CORD,EXTENSION,GFCI,120V,15A,25F T JD3961-23 CYLINDER,JS#430024

JD3306-E CORDSET,VALVE,SOLENOID,FUEL,SUNTEC JD2858 DECAL,CAUTION,FUSIBLE PLUG,2X3-1/2,LEXAN
JP1416-02 COUPLER,TRAILER,PER SPEC. JD7588 DECAL,CAUTION,WATER,REQUIRED,6.5GPM
JD6101 COUPLING,ASSY,PER SPECIFICATION JD6251-08 DECAL,CLEAR,MYLAR

JD3093 COUPLING,BRASS,3/4NPT JP7107-01 DECAL,DANGER,HIGH PRESSURE

JD7822 COUPLING,HEX,BRASS,3/8NPT JD7239 DECAL,DANGER,WARNING,CAUTION,LARGE

JD 920-01 COUPLING,HEX,BRASS,3/8NPTFX1/4NPTF JD6212 DECAL,DON'T-RUN-IN-BYPASS 4MIL

JD 907-06 COUPLING,HEX,STEEL,PLATED,1/2NPTFX3/4NPT JD7528 DECAL,FUEL,LARGE,10MIL,LEXAN,RED

JD 907-07 COUPLING,HEX,STEEL,PLATED,1/2NPTX3/8NPT JD2345 DECAL,FUEL,OIL,MYLAR,BLUE,1X4

JD 907-05 COUPLING,HEX,STEEL,PLATED,1/4NPTX1/4NPT JD7143 DECAL,INDICATOR,HANDLE,VALVE,SOLUTION
JD 907-04 COUPLING,HEX,STEEL,PLATED,3/8NPX3/8NPT JD7009 DECAL,INFORMATION,ELECTRIC,115V/60HZ/1PH
JD1413 COUPLING,MI,SCH40,1NPTX1-1/2NPT JD7010 DECAL,INFORMATION,ELECTRIC,230V/60HZ/1PH
JP6651 COUPLING,NOZZLE,STEEL,PLATED,PER DWG. JD7012 DECAL,INFORMATION,ELECTRIC,460V/6-HZ/3PH
JD 907-02 COUPLING,STAINLESS STEEL,TAPERTHD,3/8 JD7157 DECAL,INSTRUCTION&SERIAL NUMBER,CPW1020
JD1019-02 COUPLING,STAINLESS STEEL,THREAD,TPRD,1/2 JD6014 DECAL,INSTRUCTION,BOX,JUNCTION,EXP PRF
JD7724 COUPLING,STEEL,PLATED,1/2NPT JD7185 DECAL,LOGO,JENNY,BLUE

JD 803 COUPLING,STEEL,PLATED,1/2NPTFX3/8NPTF JD2741 DECAL,LOGO,JENNY,BLUE,3-3/4X7-3/8

JD1158 COUPLING,STEEL,PLATED,1/2NPTX3/4NPT JD2741-01 DECAL,LOGO,JENNY,BLUE,LARGE,7-1/4X15
JD2708 COUPLING,STEEL,PLATED,1/8NPT JD2741-02 DECAL,LOGO,JENNY,YELLOW,SML,3-3/4x7-3/8
JD2681 COUPLING,STEEL,PLATED,1/8NPTX1/4NPT JD6211 DECAL,MADE-IN-THE-USA,JENNY

JD 920 COUPLING,STEEL,PLATED,3/8NPTFX1/4NPTF JD6251-05 DECAL,NAMEPLATE,OIL FIRED

JP6531-05 COUPLING,STEEL,PLATED,3/8NPTMX1-1/4UNSF JD7023 DECAL,NOTICE,BATTERY,USE 12V 20AMP
JD1332 COUPLING,STEEL,PLATED,3/8NPTX3/4NPT JD7024 DECAL,NOTICE,BATTERY,USE 12V 45AMP

JD 770 COUPLING,STEEL,PLATED,SCH80,3/4NPS JD3842-02 DECAL,NOTICE,CORD,DROP,230V/60HZ/3PH
JD3547 COUPLING,STEEL,PLATED,TAPPRD THRD,3/4NPT JD3842-01 DECAL,NOTICE,CORD,DROP,440V/60HZ/3PH

JD 818 COUPLING,STEEL,THREAD, TAPERED, 1/4 JD3842-04 DECAL,NOTICE,CORD,DROP,550V/60HZ/3PH
JD6217-01 COUPLING,SWAGE,1/4HS,4K PSI,SLD,1/4NPTM JD2344-01 DECAL,NOTICE,GROUND,4MILTHK,5YRWHTE
JD6217-02 COUPLING,SWAGE,1/4HS,4K PSI,SWVL,1/4NPTM JD6005 DECAL,NOTICE,LEVEL,LUBRICATION,PUMP,CHCK

Website: www.steamjenny.com

Toll Free Fax Order Line: (888) 4-JENNYS




Part Number

Description

Part Number Description

JD3955
JD2344
JD7720
JD8467
JD7282
JD8470
JD7286-B
JD7765-03
JD7184
JD8457
JD6905-B
JD8480
JD6013
JD7181
JD8416
JP5924-01
JP3890
JP3890-01
JD6095-D
JD6095-E
JD7213
JD7181-A
JD8420
JD7181-B
JP6560-A
JD7608-01
JD7608-03
JD7608-04
JD3729
JP5005-15
JP5903-02
JP5005-14
JP5807-E
JP5807-F
JP5921-02
JD7765
JD6240
JD6241
JD7931
JD8441
JD8404
JD7163-02
JD7167
JD6229
JD7191
JD7273
JD7191-01
JD7273-01
JP6527-02
JD7608-05
JD6085
JD7638-01
JD2346
JD7527
JD7821-A
JD7821
JD7525
JP3920-25
JP3920-32
JP3920-26
JD7269
JD7274-02
JD8484
JD2857
JD3812
JD6213
JD7043-01
JD3868-01
JD 302-D
JD7704-01
JP 647
JP3148-07
JP3282-08

DECAL,NOTICE,OPEN DRAIN RELIEF-PUMP STRT
DECAL,NOTICE,ROTATION,4MILTHK,5YRWHTE
DECAL,NUMBER,MODEL,1000-C,BLUE,10MIL
DECAL,NUMBER,MODEL,1223-C,BLUE,LARGE
DECAL,NUMBER,MODEL,2000-C,BLUE,10MIL
DECAL,NUMBER,MODEL,2040-C,BLUE,LARGE
DECAL,NUMBER,MODEL,3000-C,BLUE,10MIL
DECAL,NUMBER,MODEL,E-1000-C,BLUE
DECAL,NUMBER,MODEL,HPW2040,BLUE
DECAL,NUMBER,MODEL,HPW3540,BLUE,LARGE
DECAL,NUMBER,MODEL,NAMEPLATE,4800-C
DECAL,NUMBER,MODEL,SJ 70,BLUE,LARGE
DECAL,PACKED,GROOMED,TESTED
DECAL,PANEL,INSTRUCTION,1000-C-GES
DECAL,PANEL,INSTRUCTION,1040-C,OEP&GES
DECAL,PANEL,INSTRUCTION,1560-GES
DECAL,PANEL,INSTRUCTION,1560-OEP
DECAL,PANEL,INSTRUCTION,1560-OMP
DECAL,PANEL,INSTRUCTION,1600-C
DECAL,PANEL,INSTRUCTION,1600-C
DECAL,PANEL,INSTRUCTION,2000-C
DECAL,PANEL,INSTRUCTION,2000-C-GES
DECAL,PANEL,INSTRUCTION,2040-C,OEP&GES
DECAL,PANEL,INSTRUCTION,3000-C-GES
DECAL,PANEL,INSTRUCTION,3100
DECAL,PANEL,INSTRUCTION,3100-GES
DECAL,PANEL,INSTRUCTION,3100-OEP
DECAL,PANEL,INSTRUCTION,3100-OEP
DECAL,PANEL,INSTRUCTION,4MIL,5YR,WHTFLEX
DECAL,PANEL,INSTRUCTION,760-C OEP
DECAL,PANEL,INSTRUCTION,760-C-GES
DECAL,PANEL,INSTRUCTION,760-C-OEP
DECAL,PANEL,INSTRUCTION,760-C-OMP ES
DECAL,PANEL,INSTRUCTION,760-C-OMP RS
DECAL,PANEL,INSTRUCTION,760-GES
DECAL,PANEL,INSTRUCTION,E-1000-C
DECAL,PANEL,INSTRUCTION,E-350-C EXP PRF
DECAL,PANEL,INSTRUCTION,E-850-C EXP PRF
DECAL,PANEL,INSTRUCTION,ELHW1421-OEP
DECAL,PANEL,INSTRUCTION,ENGINE,GAS,CMB
DECAL,PANEL,INSTRUCTION,HPW1530,0EP&GES
DECAL,PANEL,INSTRUCTION,HPW2040
DECAL,PANEL,INSTRUCTION,MTR&BRNR,OFF/ON
DECAL,PANEL,INSTRUCTION,PW-E-850C EXPPRF
DECAL,PANEL,INSTRUCTION,S1600C
DECAL,PANEL,INSTRUCTION,S-1600-C-OEP
DECAL,PANEL,INSTRUCTION,S-1600-C-OMP
DECAL,PANEL,INSTRUCTION,S-1600-C-OMP
DECAL,PANEL,INSTRUCTION,S-200-C-GES
DECAL,PANEL,LOGO,3100
DECAL,PUMP,CHEMICAL
DECAL,REMOTE,UNIT,COMB.
DECAL,SOLUTION,4MILTHK,5YRWHT
DECAL,SOLUTION,LARGE,RED,10MIL
DECAL,SOLUTION,METERING,VALVE,LARGE
DECAL,SOLUTION,METERING,VALVE,SMALL
DECAL,SOLUTION,SMALL,RED,10MIL
DECAL,SWITCH,BURNER,4MIL,5YRWT
DECAL,SWITCH,MOTOR
DECAL,SWITCH,SOLUTION,4MIL,5YRWHT
DECAL,VALVE,BURNER,HPW-OMP ROPE START
DECAL,VALVE,SELECTOR,COMBINATION,OMP
DECAL,VINYL,BLUE,HPJ,17-1/4X9,5MIL
DECAL,WARNING,DISCONNECT FROM ELECTRIC
DECAL,WARNING,LIVE ELECTRICAL DEVICE
DECAL,WARNING,PUMP,JENNY,RISK OF PINCH
DECAL,WARNING,RELAY,REPLACE WITH SAME
DECAL,WARNING,TANK,GASOLINE,EXPLSN,RISK
DEFLECTOR,ASSY
DEFLECTOR,EXHAUST,MUFFLER,KOHLER,CH6
DIAPHRAGM

DIAPHRAGM

DIAPHRAGM,SLUG,PUMP,FUEL

JD3304 DIAPHRAGM,URETHANE,COMPENSATOR
JP2687-13 DISC,BUNA-N,VALVE,SOL

JD6171-01 DISC,BURST,3600PSI,GIANT#25103

JD6171-02 DISC,BURST,4300PSI,GIANT#25104

JD1417-06 DISC,HYCAR,GREY,#103977-1 (FLOAT VALVE)
JD7238 DISC,INSULATION,CERAMIC,14-3/8DIAx1/4THK
JD7238-A DISC,INSULATION,CERMC,14-3/80DX4-1/8X3/8
JP 649 DISC,RUBBER,3/40D

JD2686 DISC,RUBBER,PUMP,FUEL,DIAPHRAM,1.312X.06
JD1417-02 DISC,RUBBER,VALVE,FLOAT

JD3377 DISC,TEFLON,6-3/40DX3/4IDX1/16 THICK

JV 126 DISC,VALVE,UNLOADER

JV 146 DISC,VALVE,UNLOADER

JV 184 DISC,VALVE,UNLOADER

JD2988-01 DISC,VITON,VALVE,FLOAT

JD3018 DIVERTER,DRAFT,VERTICAL,10

JD3073 DIVERTER,DRAFT,VERTICAL,12

JD2364 DIVERTER,DRAFT,VERTICAL,6

JD3167 DIVERTER,DRAFT,VERTICAL,8

JD3961-24 DRAIN,JS#430025

JD8624 DRAIN,SYSTEM,WATER,LOW-PSI

JD2746-03 DRIVE,ADAPT,PUMP,FUEL,SUNTEC

JD 789 EBLOW,CLAMP,CABLE,SHEATHED,1/2

JD7058 ELBOW,BARB,HOSE ,MALE,PLASTIC,1/2HSX3/4NP
JD7285 ELBOW,BARB,HOSE,MALE,PLASTIC,3/8HSX3/8NP
JD1287 ELBOW,CLAMP,CABLE,SHEATHED,3/4
JD6043-01 ELBOW,COMPRESSION,UNION,BRASS,3/8TB
JD6002 ELBOW,CONDUIT,SEALTITE,1/2,1/2NPTM
JD6002-04 ELBOW,CONDUIT,SEALTITE,1-1/2,1-12NPTM
JD6002-01 ELBOW,CONDUIT,SEALTITE,3/4,3/4ANPTM
JD7046 ELBOW,CPVC,3/4NPT

JD7706-01 ELBOW,EXHUAST,ENGINE,GASOLINE
JP2160-02 ELBOW,FEMALE, MI,150#,1NPT

JD7625 ELBOW,FEMALE,45DEG,BRASS,1/4NPT

JD 915 ELBOW,FEMALE,45DEG,STEEL,PLATED,1/2NPT
JD2709 ELBOW,FEMALE,45DEG,STEEL,PLATED,1/4NPT
JD1658 ELBOW,FEMALE,BRASS, 1/4-45SAEX1/4ANPTF
JB1018 ELBOW,FEMALE,BRASS, 1/4-45SAEX1/8NPTF
JD6097 ELBOW,FEMALE,BRASS,1/4NPT

JD2692-01 ELBOW,FEMALE,BRASS,3/4NPT

JD 685 ELBOW,FEMALE,BRASS,3/8-45SAEX1/4NPT
JD3577 ELBOW,FEMALE,BRASS,3/8-45SAEX3/8NPTF
JD3058 ELBOW,FEMALE,BRASS,DROP,3/8NPT

JD 692-02 ELBOW,FEMALE,BRASS,FORGED,1/2NPT

JD 691-01 ELBOW,FEMALE,BRASS,FORGED,3/8NPTF

JD 993 ELBOW,FEMALE,MI,1-1/4NPTX3/4NPT

JE 888 ELBOW,FEMALE,MI,150#,1-1/4X1-1/4

JD 955 ELBOW,FEMALE,MI,150#,3/4NPT

JD1372-01 ELBOW,FEMALE,PVC,XH,2NPTX2NPT

JE 883 ELBOW,FEMALE,REDUCER,MI,150#,1X3/4

JD 692-01 ELBOW,FEMALE,STAINLESS STEEL,1/2NPT

JD 692 ELBOW,FEMALE,STEEL,PLATED,1/2NPT

JD 693 ELBOW,FEMALE,STEEL,PLATED,1/4NPT

JD 691 ELBOW,FEMALE,STEEL,PLATED,3/8NPT
JD6020 ELBOW,FLEX,0-90DEG,CONDUIT,1/2

JP7503 ELBOW,INLET,COIL,BRASS

JD3970 ELBOW,MALE,45DEG,STL,PLTD,1/2JICX3/8NPT
JD 655 ELBOW,MALE,BRASS,1/2-45SAEX3/8NPT

JD 652 ELBOW,MALE,BRASS,1/4-45SAEX1/4NPT

JD 651 ELBOW,MALE,BRASS,1/4-45SAEX1/8NPT

JD 678 ELBOW,MALE,BRASS,1/4-45SAEX3/8NPT

JD 653 ELBOW,MALE,BRASS,3/8-45SAEX1/4NPT
JD3841 ELBOW,MALE,BRASS,3/8-45SAEX1/8NPT

JD 684 ELBOW,MALE,BRASS,3/8-45SAEX3/8NPT
JD3897 ELBOW,MALE,BRASS,5/8-45SAEX1/2NPT

JD 684-01 ELBOW,MALE,S.S.,FLARELESS,3/80D SS TUBE
JD3717-04 ELBOW,MALE,STEEL,PLATED,1/2-37JICX3/8NPT
JD3715 ELBOW,MALE,STEEL,PLATED,1/2JICX1/2NPT
JD3717-05 ELBOW,MALE,STEEL,PLATED,3/8NPT

JD7863 ELBOW,REDUCER,BR,STREET,90DEG,1/2FX3/8M
JD7825 ELBOW,REDUCER,BR,STREET,90DEG,3/8FX1/4M
JD1437 ELBOW,REDUCER,ST,PLTD,3/8X1/4

JD7847 ELBOW,REDUCER,ST,PLTD,90DEG,FEM,1/2X3/8

Website: www.steamjenny.com

Toll Free Fax Order Line: (888) 4-JENNYS



Part Number Description Part Number Description

JD1687-12 ELBOW,RELIEF,STRAIN,1/2-5/8,1/2NPTM JD7706-05 FILTER,OIL,CH18-CH25KOHLER#1205001
JD1687-15 ELBOW,RELIEF,STRAIN,1/2-5/8,3/4ANPTM JD2117-01 FILTER,OIL,FUEL,CARTRIDGE,SPIN-ON
JD1687-14 ELBOW,RELIEF,STRAIN,3/8-1/2,1/2NPTM JD7227 FILTER,OIL,FUEL,IN-LINE

JD3562 ELBOW,STREET,45 DEG,MI,GAL,1/2NPT JD2117 FILTER,OIL,FUEL,W/HEAD,3/8NPT

JD1678 ELBOW,STREET,45 DEG,STEEL,PLATED,3/8NPT JP6707-D  FITTING,DISCHARGE,ASSY,E-300-C

JD 670 ELBOW,STREET,BRASS,1/4NPT JD6228 FITTING,DRAIN,BREATHER,SS,3/8

JD7211 ELBOW,STREET,BRASS,1/8NPT JD2399 FITTING,GREASE, THRED,LUB,ALEMITE,1/4-28
JD3117 ELBOW,STREET,BRASS,3/8NPTX3/8NPT JP6381-A  FITTING,OUTLET,COIL,ASSY,S200C,CSA

JD 800-01 ELBOW,STREET,BRASS,FORGED,1/2NPT JP2845 FITTING,OUTLET, TANK,FLOAT

JD1013 ELBOW,STREET,MI,150#,1-1/4NPT JP7313 FITTING,PRESSURE,PER DWG.

JD1016 ELBOW,STREET,MI,150#,3/4NPT JP7563 FITTINGS,ASSY,1600/3100/4800GES

JD1030 ELBOW,STREET,REDUCER,ST,PLTD,1/2MX3/8F JP7309-E  FITTINGS,INLET,COIL,ASSY,2000-C

JD2693 ELBOW,STREET,STAINLESS STEEL,3/4 JP7068-A  FITTINGS,INLET,PUMP,ASSY

JD 814-01 ELBOW,STREET,STAINLESSS STEEL,3/8NPT JP7309-F  FITTINGS,OUTLET,COIL,ASSY,340F

JD3717 ELBOW,STREET,STEEL,PLATED,1/2NPT JD1482-A  FITTINGS,OUTLET,PUMP,RIGHT HAND,S-200-C
JD 670-01 ELBOW,STREET,STEEL,PLATED,1/4NPT JP3628 FITTINGS,PUMP,INLET,LEFT,ASSY,J-1I-C,CSA
JD3717-03 ELBOW,STREET,STEEL,PLATED,3/8NPT JP6606 FITTINGS, TANK,FLOAT,FOR STEAM CLEANER
JD3227 ELECTRODE,3CERAMIC,INSULATION JB1007 FLAMELOCK,STAINLESS,10 VANE,2.5CONE

JL 145 ELECTRODE,4CERAMIC INSULATION JB2009 FLANGE,ALUMINUM,RETAINER,BEARING,N-FLANG
JL 145-02 ELECTRODE,4CERAMIC INSULATION JD3694-04 FLANGE,MOUNTING,RESET

JL 145-15 ELECTRODE,4CERAMIC INSULATION JD1272-01 FLANGE,TRISURE,SS,2NPTF

JL 145-18 ELECTRODE,4CERAMIC INSULATION JD1271-01 FLANGE,TRISURE,SS,3/4NPTF

JL 145-19 ELECTRODE,4CERAMIC INSULATION JD1272 FLANGE,TRISURE,ST,PLTD,2NPTF

JL 145-20 ELECTRODE,4CERAMIC INSULATION JD1271 FLANGE,TRISURE,ST,PLTD,3/4NPTF

JL 145-27 ELECTRODE,4CERAMIC INSULATION JD1416 FLOAT,BALL&ROD,ASSY,200+,5S200C,760,760C
JL145-A ELECTRODE,4CERAMIC INSULATION JP3282-14 FOLLOWER,SPRING,PUMP,FUEL,ADJ

JB1015 ELECTRODE,4CERAMIC,POINTED,BENT RADIUS JD7153 FOOT,MOLDED,60DUROMETER,SBR

JL 145-04 ELECTRODE,6CERAMIC INSULATION JD7776-A FRAME,CAGE,ROLL,ELECTRIC,SMALL,CPW

JL 145-09 ELECTRODE,6CERAMIC INSULATION JD7775 FRAME,CAGE,ROLL,ENGINE,GAS,LARGE,HPJ
JL 145-10 ELECTRODE,6CERAMIC INSULATION JD7776 FRAME,CAGE,ROLL,ENGINE,GAS,SMALL,CPW
JL 145-14 ELECTRODE,6CERAMIC INSULATION JL204-02 FRAME,CHANNEL,PUMP,COIN OPERATED

JL 145-21 ELECTRODE,6CERAMIC INSULATION JL 204R03 FRAME,CHANNEL,PUMP,GRAY IRON,CLASS 30
JL 145-22 ELECTRODE,6CERAMIC INSULATION JP5407 FRAME,POWER,ASSY,S1600/4800GES

JL 145-24 ELECTRODE,6CERAMIC INSULATION JP7329-A°  FRAME,POWER,S-1600-C,OEP

JL 145-28 ELECTRODE,6CERAMIC INSULATION JP7147-A FRAME,PUMP,PRESSURE,HIGH,ST,PAINTED,GES
JL 145-17 ELECTRODE,6CERAMIC,INSULATION JP6551 FRAME,UNIT,POWER,ASSY,3100-OMP

JD3031 ELECTRODE,SPARK,PILOT#Y99AF-4 JP6865 FRAME,UNIT,POWER,ASSY,S1600C

JD3784-A ELEMENT,HEATING,10KW,208V,.430,190VOLTS JP7501 FUEL,PUMP,ASSY,HPW-803/1122

JD3784 ELEMENT,HEATING,10KW,230V,.430,208VOLTS JD3107-02 FUSE,ELEMENT,DUAL,DELAY,TIME,125V,0.4AMP
JD3785 ELEMENT,HEATING,10KW,460V,.430,416VOLTS JD3107 FUSE,ELEMENT,DUAL,DELAY,TIME,125V,2.5AMP
JP3520-02 ELEMENT,HEATING,6.5KW,460V,.315,240VOLTS JD2126 FUSE,ELEMENT,DUAL,DELAY,TIME,250V,0.4A
JD7573 ENCLOSURE,SWITCH,STARTER,K-M JD3107-05 FUSE,ELEMENT,DUAL,DELAY,TIME,250V,0.5AMP
JP3282-04 END,WATER,PUMP,FUEL JD3107-04 FUSE,ELEMENT,DUAL,DELAY,TIME,250V,0.8AMP
JD7225 ENGINE,GASOLINE,HONDA,11HP,2:1,E.S. JD3107-03 FUSE,ELEMENT,DUAL,DELAY,TIME,250V,1.0AMP
JP7331 ENGINE,GASOLINE,HONDA,13HP,2:1,E.S. JD3107-08 FUSE,ELEMENT,DUAL,DELAY,TIME,250V,10AMP
JD7767 ENGINE,GASOLINE,KOHLER,11HPE.S. JD3107-07 FUSE,ELEMENT,DUAL,DELAY,TIME,250V,20AMP
JD7781 ENGINE,GASOLINE,KOHLER,13HP,E.S. JD2840 FUSE,ELEMENT,DUAL,DELAY,TIME,250V,2-1/2A
JD7704 ENGINE,GASOLINE,KOHLER,6HP,R.S. JD3107-06 FUSE,ELEMENT,DUAL,DELAY,TIME,250V,4.0AMP
JD8059-04 EXTENDER,MOUNT,REEL,HOSE KIT,LIFT,8 JD3107-10 FUSE,ELEMENT,DUAL,DELAY,TIME,250V,6AMP
JP7409-A EXTENSION,GUN,ASSY,36 JD3107-11 FUSE,ELEMENT,DUAL,DELAY,TIME,250V,6AMP
JD7154-B  EXTENSION,NIPPLE,GUN,CAT#34220 JD2111-05 FUSE,ELEMENT,SINGLE,ACTING,FAST,125V,20A
JP6649-E  FAN&HUB,ASSY,1/2ID,WELDED JP3358-02 FUSE,ONE-TIME,250VOLT,30AMP

JP6649-C  FAN&HUB,ASSY,5/8ID,BOLT ON JD8620-A GASKET,ATOMIZING,AIR,SETUP,3612 BUC
JP6649-B  FAN&HUB,ASSY,7/8ID,BOLT ON JL 220 GASKET,COPPER,1-1/40DX1IDX0.100THICK
JP7196-09 FAN&PULLEY ASSY,DG,3.85 ODX20MM ID JD7064-14 GASKET,CVR,GENERAL#69.2119.84

JP3912-A FAN&PULLEY,ASSY JD2950 GAUGE,FUEL,2-1/2DIA,1/4ANPTMBT

JP6098 FAN&PULLEY,ASSY JD3592 GAUGE,PRESSURE,0-14KPA (KILO-PASCAL)
JP7196-07 FAN&PULLEY,ASSY,1-1/8 BORE JD3418 GAUGE,PRESSURE,0-1500#,BACK-MT

JP7307-B FAN&PULLEY,ASSY,1-1/8ID JD8645 GAUGE,PRESSURE,0-160#,BACK-MT,1/8NPT
JP6126 FAN&PULLEY,ASSY,1-13/16ID JP 524 GAUGE,PRESSURE,0-200#,BACK-MT

JP7196-12 FAN&PULLEY,ASSY,1-3/8BORE JD7195 GAUGE,PRESSURE,0-2000#,1/4NPT,BOTTOM-MT
JP7307-D FAN&PULLEY,ASSY,20MM,ID,HP1530 JD3993 GAUGE,PRESSURE,0-3000#,1/4 NPT, BACK-MT
JP7196-06 FAN&PULLEY,ASSY,25MM BORE JD7195-A GAUGE,PRESSURE,0-3000#,1/4NPT,BOTTOM-MT
JP2629 FAN&PULLEY,ASSY,5/8BORE,50HZ JD3725 GAUGE,PRESSURE,0-5000#,BOTTOM-MT
JP5014 FAN&PULLEY,ASSY,5/8ID JD7727 GAUGE,PRESSURE,0-5000,BACK-MT

JP3912-E  FAN&PULLEY,ASSY,5/8ID,7MM,BLT JP2732 GAUGE,PRESSURE,0-600#,1/4NPT,BACK-MT
JP3912-B  FAN&PULLEY,ASSY,JENNY 11 JD6500-A GAUGE, TEMP,S.S.,1/2NPT,50-550DEG,F

JL 140-04 FAN,ST,11DIA,3 BOLT HOLE JD6500 GAUGE, TEST,PRESSURE&TEMPERATURE
JD3050 FASTENER,RECEPTACLE JD3949-07 GLASS,SIGHT,GIANT,#07186

JD3050-01 FASTENER,RECEPTACLE,SCREW JK 537 GLUE,INSULATION,BOTTLE,50Z

JP6972 FENDER,TRAILER,ASSY,1600-4800 JP3125-04 GRIP,HANDLE,RUBBER

JD6001-06 FILLER,PACKING,FIBER,3/40Z.BOX JD1487-01 GRIP,PLASTIC,BLACK

JD7767-04 FILTER,OIL,CH11-CH13,KOHLER#5205002 JD3589 GRIP,RUBBER,HANDLE

Website: www.steamjenny.com 8 Toll Free Fax Order Line: (888) 4-JENNYS



Part Number Description Part Number Description

JP 675 GROMMET,RUBBER,BLACK,1-1/2,1.D. JD7152-A HANDLE,FRAME,7/80DX18GA,PER DWG(CHROME)
JD6071 GROMMET,RUBBER,BLACK,2-1/2DIAMETER JD7776-B  HANDLE,FRAME,CAGE,ROLL,ST,PNTD,SMALL,CPW
JD3385-01 GROMMET,RUBBER,BLACK,7/161.D. JR1021-05 HANDLE,GUN,CJR,P/N,76-P11

JD2494 GUAGE,LIQUID,LEVEL,EMPTY-FULL JD1487-C HANDLE,GUN,DBLDUTY,PLTD,ASSY(CHROMEPLTD)
JP6538-A GUARD,BELT,MAGNETO JD1487-03 HANDLE,GUN,OPEN

JP7480 GUARD,BELT,MAGNETO,HPW,OMP JP6011-02 HANDLE,GUN,OPEN,RED,ASSY,1/4NPT

JD2898 GUARD,BELT,PLASTIC,JENNY JP6317 HANDLE,GUN,OPEN,W/GRIP,BLUE,ASSY,3/8NPT
JP6538 GUARD,BELT,PUMP,FUEL,SUNTEC JP6011-A  HANDLE,GUN,OPEN,W/GRIP,RED,ASSY,1/4ANPT
JP5826-A GUARD,BELT,PW1000&S1000-C JD3669-01 HANDLE,GUN,PERFORATED,PER DWG.
JP6187-03 GUARD,BURNER,200,760,1000,2040 JE 290-A°  HANDLE,GUN,W/SWIVEL,ASSY,1/2

JD8056 GUARD,BURNER,IGN.WIRES, TUBING,JB JE 288-A° HANDLE,GUN,W/SWIVEL,ASSY,3/8

JP7191 GUARD,FAN,METAL,EXPANDED, 1560-OEP JD7176 HANDLE,INSULATED,POYMER,BLACK
JD6128-01 GUARD,HOSE,SPRING,1/2 JP6831-06 HANDLE,LANCE,SS,1/4PIPE

JD6129-01 GUARD,HOSE,SPRING,3/8 JP6831-02 HANDLE,LANCE,STEEL,PAINTED,1/4PIPE
JP7008 GUARD,MOTOR,PACKAGE,RENTAL,ASSY,760 JD7557 HANDLE,LONG,CPW,PLTD

JD7780-02 GUARD,MUFFLER,KOHLER,11-15HP JE 280-A° HANDLE,PERFORATED,SCH40,ST,ASSY,3/8,0BS
JD7780-06 GUARD,MUFFLER,ROUND,KOHLER,11-15HP,TOP JP4119-B HANDLE,PERFORATED,SCH80,STEEL,ASSY,1/4
JD1417-03 GUARD,SPLASH,SHTMTL,3/8FLTVALV JP2224-19 HANDLE,STEEL,DOOR,1/4 TURN

JP6733 GUARD,SPLASH,TANK,FLOAT,ASSY,S1600,4800 JD3139-01 HANDLE,STEEL,PLATED,VALVE,BALL,1/4NPTF
JD6134 GUARD,SWITCH,TOGGLE,STEEL,PLATED JD3309-01 HANDLE,STEEL,PLATED,VALVE,BALL,1/4NPTF
JR1021-19 GUIDE,GENERAL,10.0304.76 JP2688-04 HANDLE,VALVE,DRAIN,RELIEF

JD6130-12 GUIDE,RETAINER,HYPRO#1830-53(NOTAVAILAB) JP7211-01 HANDLE,VALVE,KINGSTON,RI2400

JP3208-06 GUIDE,VALVE,CHECK JP3358-01 HOLDER,FUSE,CERAMIC,250V,30AMP

JE 288 GUN,ASSY,3/8INLET,SIMPLEX JD3106-B HOLDER,FUSE,MOUNT,PANEL,1/4X1-1/4
JP7308-C GUN,ASSY,N/C,2200PSI,HPW JD3106-A HOLDER,FUSE,TRANSFORMER,1/4X1-1/4,ACME
JP7308-D GUN,ASSY,N/C,3000PSI,HPW JP2224-D HOLDER,GUN,END,TIP,STEEL,PAINTED
JP7308-E GUN,ASSY,N/C,5000PSI,HPW JD6141 HOLDER,NOZZLE,ADJUSTABLE,BRASS,1/4NPTF
JP7308-B GUN,ASSY,NC,ADJ,NOZ,3000PSI JD6141-A HOLDER,NOZZLE,ROLL OVER,DUAL,1/4NPTF
JP5261 GUN,ASSY,NC,W/SWIVEL,1/2INLET JP6835 HOLDER,TIP,STEEL,PAINTED

JP7211 GUN,ASSY,NC,W/SWIVEL,HI-TEMP JD8644 HOSE,AIR,300PSI,3/8IDX1/4ANPTFX1/4NPT,ASY
JE 294 GUN,ASSY,W/SWIVEL,1/2INLET,2100 JE 490 HOSE,AIR,FUEL,300PSI,212F,1/4,BLUE

JP3252 GUN,DOUBLE DUTY JP6857 HOSE,ALLEVIATOR,3/4X10

JP4261-G  GUN,HANDLE,ASSY,3/8INLET,3/80CUTLET JP3939 HOSE,ALLEVIATOR,3/4X16-1/2,UNION

JD7594 GUN,HOLDER,BOTTOM,CPW JP2930 HOSE,ALLEVIATOR,3/4X22,UNION

JD7763-A  GUN,LANCE,DUAL,NC,ASSY,SS,3000PSI JP 779 HOSE,ALLEVIATOR,3/4X27,UNION

JD7763-C GUN,LANCE,DUAL,NC,ASSY,STEEL,PLTD,3000# JP1317 HOSE,ALLEVIATOR,3/4X36,UNION

JP4261-H GUN,SCH80,N/C,W/O,SWIVEL,ASSY,3/8,COMB JD 980-A HOSE,ALLEVIATOR,5PLY,3/41D

JP4261-1 GUN,SCH80,NC,ASSY,1/2INLET,10.5GPM,COMB JE 490-11 HOSE,ALLEVIATOR,FUEL,1/4X11

JP4261-F  GUN,SCH80,NC,W/O SWIVEL,ASSY,3/8,COMB JE 490-16 HOSE,ALLEVIATOR,FUEL,1/4X16

JD7154 GUN,TRIGGER,2200PSI,6GPM,212F JE 490-31 HOSE,ALLEVIATOR,FUEL,1/4X31

JD7400-F GUN,TRIGGER,2200PSI,7.8GPM,194 DEG JP3945 HOSE,ALLEVIATOR,FUEL,1/4X32

JD7400-G GUN,TRIGGER,2900PSI,7.8GPM,300 DEG JP6434 HOSE,ALLEVIATOR,FUEL,1/4X32

JD7400 GUN, TRIGGER,3000PSI,8GPM,320 DEG JE 490-36 HOSE,ALLEVIATOR,FUEL,1/4X36

JD7401-D GUN,TRIGGER,3200PSI,8.0GPM,320 DEG JP2692 HOSE,ALLEVIATOR,FUEL,1/4X41

JD7401-A  GUN,TRIGGER,3200PSI1,9GPM,320 DEG JE 490-45 HOSE,ALLEVIATOR,FUEL,1/4X45

JD7400-H GUN,TRIGGER,3650PSI,10.5GPM,300 DEG JP5227 HOSE,ALLEVIATOR,FUEL,1/4X54

JD7400-1 GUN,TRIGGER,3650PSI,10.5GPM,300 DEG JP6647 HOSE,ALLEVIATOR,FUEL,1/4X6

JD7401-B  GUN,TRIGGER,3650PSI,10.5GPM,320 DEG JP6512 HOSE,ALLEVIATOR,FUEL,1/4X6-1/2

JD7401-E  GUN,TRIGGER,3650PSI,10.5GPM,320 DEG JP6778 HOSE,ALLEVIATOR,FUEL,3/8X36

JD7400-B GUN,TRIGGER,4000PSI,12GPM,300 DEG JD7735 HOSE,ASSY,1/2] DX54,SAE 100R1

JD7400-C GUN,TRIGGER,4000PSI,12GPM,300 DEG JR1021-D HOSE,ASSY,25,CJR

JD7400-J GUN,TRIGGER,4060PSI,10.5GPM,300 DEG JP6821 HOSE,ASSY,3/8X10

JD7400-K GUN,TRIGGER,4060PSI,10.5GPM,300 DEG JD7624-E  HOSE,COMBINATION,JENNY,1/2X100’
JD7401-C  GUN,TRIGGER,4200PS1,8.0GPM,300 DEG JD7624-B  HOSE,COMBINATION,JENNY,1/2X25’

JD7400-D GUN,TRIGGER,4500PSI,12GPM,300 DEG JD7624-C HOSE,COMBINATION,JENNY,1/2X50’

JD7400-E GUN,TRIGGER,4500PSI,12GPM,300 DEG JD7624-D HOSE,COMBINATION,JENNY,3/8X100’
JD6068-A GUN,TRIGGER,5000PSI,10GPM,300F JD7624-F HOSE,COMBINATION,JENNY,3/8X12.5’
JD6068-C GUN,TRIGGER,SS,2850PSI,10GPM JD7624-A HOSE,COMBINATION,JENNY,3/8X25’

JD6068-D GUN,TRIGGER,SS,5000PSI,10GPM,300F JD7624-H HOSE,COMBINATION,JENNY,3/8X4’

JD7773-01 GUN,TRIGGER,WAND,TELESCOPING JD7624 HOSE,COMBINATION,JENNY,3/8X50’

JD7400-L GUN,TRIGGR,4000PSI,12.0 GPM,300 DEG JD7929 HOSE,FUEL,ASSY,1/4X42,INLET,ELHW
JP2688-D HANDLE&PIN,VALVE,RELIEF,DRAIN JD8628 HOSE,HYD,2750PSI,13’L,1/4NPTMX1/4NPTM
JP2688-E HANDLE&PIN,VALVE,STIRRING JD7817 HOSE,HYD,3K PSI,17L,3/8NPTM,3/8NPTM-SWI
JP3252-B HANDLE&VALVE,GUN,DBL,DUTY,ASSY JD7287 HOSE,HYD,3K PSI,17L,3/8NPTM,90D-3/8NPTM
JP1952-01 HANDLE,ASSY JD7829 HOSE,HYD,3K PSI,21L,3/8NPTF,90D-3/8NPTM
JD1487-A  HANDLE,ASSY,1/2INLET JD7890 HOSE,HYD,3K PSI,21L,3/8NPTM,90D-3/8NPTM
JD1487-B  HANDLE,ASSY,3/8INLET JD7817-B  HOSE,HYD,3K PSI,22L,3/8NPTMX3/8NPTF-SWI
JP 899 HANDLE,BAR,DRAW,LTC,STEEL,PAINTED,760 JD7542 HOSE,HYD,3K PSI,23L,3/8NPTM,90D-3/8NPTM
JP 724 HANDLE,BAR,DRAW,PAINTED,ASSY JD7817-A HOSE,HYD,3K PSI,23L,3/8NPTMX3/8NPTM-SWI
JP2241 HANDLE,BAR,DRAW,ST,PNTD,S1600,3100,4800 JD7818 HOSE,HYD,3K PSI,30L,3/8NPTM,3/8NPTF-SWI
JD7775-F HANDLE,CONTAINER,SOLUTION,LARGE,HPJ GAS JD7893 HOSE,HYD,3K PSI,31L,3/8NPTM,90D-3/8NPTM
JD7775-D HANDLE,ENGINE,GAS,ST,PAINTED,LARGE,HPJ JD7818-A HOSE,HYD,3K PSI,36L,3/8NPTM,3/8NPTF
JP7250 HANDLE,FOR GUN ASSY,RI2400 JD7712 HOSE,HYD,3K PSI,41L,3/8NPTM,90D-1/2NPTM

Website: www.steamjenny.com

Toll Free Fax Order Line: (888) 4-JENNYS



Part Number

Description

Part Number Description

JD7874
JD7897
JD7981
JD7714
JD7753
JD7543
JD3722-C
JD7545
JD3722-J
JD3722-B
JD2814
JD7544
JD3722-H
JD3722-M
JD3722-A
JD6217
JD6120-B
JD6120-A
JD6120
JD7538-A
JD7715
JD3896
JD3896-C
JD3976-A
JD7702
JD6012
JP1088
JD7230
JD7403-02
JE 558-22
JE 558
JE 558-26
JE 558-06
JL 146-10
JL 146-18
JL 146-23
JL 146-26
JD 946
JP3429
JP3429-B
JD 900-K
JD 813-I
JD 813-J
JD 813-H
JD 813-F
JD 813-G
JD 813-D
JD 813-E
JD 813-A
JD 813-B
JD 813-C
JD 813-L
JD7790-G
JD7790-B
JD7790
JD7790-A
JD7790-F
JD7790-E
JD7790-D
JD7789-01
JD7789-B
JD7789
JD7789-A
JB2001
JP5236
JP4319
JD3694-03
JD3750-38
JD2300
JD2312
Jv 187

JV 129
JP6113-A

HOSE,HYD,3K PSI,44L,3/8NPTM,3/8NPTM
HOSE,HYD,3K PSI,47L,3/8NPTM,3/8NPTM
HOSE,HYD,3K PSI,78L,3/8NPTM,3/8NPTM
HOSE,HYD,5K PSI,23L,3/8NPTM,3/8NPTM
HOSE,HYD,5K PSI,32L,3/8NPTM,3/8NPTM
HOSE,HYDRAULIC,1/2IDX23,W/FTGS
HOSE,HYDRAULIC,1/2X17
HOSE,HYDRAULIC,1/2X20
HOSE,HYDRAULIC,1/2X22 (PER SPEC)
HOSE,HYDRAULIC,1/2X22(PER SPEC)
HOSE,HYDRAULIC,1/2X23
HOSE,HYDRAULIC,1/2X27-1/2
HOSE,HYDRAULIC,1/2X35
HOSE,HYDRAULIC,1/2X42
HOSE,HYDRAULIC,1/2X50’
HOSE,HYDRAULIC,1/41D,1250PSI
HOSE,HYDRAULIC,3/8x11
HOSE,HYDRAULIC,3/8X15
HOSE,HYDRAULIC,3/8X19
HOSE,HYDRAULIC,3/8X19,4000PSI
HOSE,HYDRAULIC,3/8X41,SAE100R2
HOSE,HYDRAULIC,5/8X12
HOSE,HYDRAULIC,5/8X22
HOSE,HYDRAULIC,5/8X22
HOSE,HYDRAULIC,FUEL,1/4ID,1250PSI WP
HOSE,INLET,PUMP,63/64ID,4800-C
HOSE,NEOPRENE, TWO BRAID,3/8
HOSE,PULSE,3/8X18
HOSE,PULSE,PRESSURE, 1500 PSI,3/8X24PLUG
HOSE,RUBBBER,BLACK,3/4X22
HOSE,RUBBER,BLACK,3/4
HOSE,RUBBER,BLACK,3/4X26
HOSE,RUBBER,BLACK,3/4X6-1/4
HOSE,RUBBER,BLACK,5/8X10
HOSE,RUBBER,BLACK,5/8X18
HOSE,RUBBER,BLACK,5/8X23
HOSE,RUBBER,BLACK,5/8X26
HOSE,SOLVENT,NEOPRENE,1/2ID
HOSE,STEAM,2WIRE,1/2X25,HITEMP
HOSE,STEAM,2WIRE,1/2X50,HITEMP
HOSE,STEAM,RI2400,1/2IDX50FT
HOSE,SUPPLY,WATER,COLD,3/4X25FT
HOSE,SUPPLY,WATER,COLD,3/4X50FT
HOSE,SUPPLY,WATER,COLD,5/8X100FT
HOSE,SUPPLY,WATER,COLD,5/8X25FT
HOSE,SUPPLY,WATER,COLD,5/8X50FT
HOSE,SUPPLY,WATER,DUTY,HEAVY,3/4X25FT
HOSE,SUPPLY,WATER,DUTY,HEAVY,3/4X50FT
HOSE,SUPPLY,WATER,DUTY,HEAVY,5/8X25FT
HOSE,SUPPLY,WATER,DUTY,HEAVY,5/8X50FT
HOSE,SUPPLY,WATER,DUTY,HEAVY,5/8X75FT
HOSE,SUPPLY,WATER,HOT,5/8X50FT
HOSE,WASH,PRESSURE,3000PSI,250F,3/8X10.5
HOSE,WASH,PRESSURE,3000PSI,250F,3/8X100’
HOSE,WASH,PRESSURE,3000PSI,250F,3/8X25F T
HOSE,WASH,PRESSURE,3000PSI,250F,3/8X50F T
HOSE,WASH,PRESSURE,3000PSI,250F,3/8X75’
HOSE,WASH,PRESSURE,4000PSI,250F,3/8X100’
HOSE,WASH,PRESSURE,4000PSI,250F,3/8X50F T
HOSE,WASH,PRESSURE,COLD,5000PSI,3/8,BULK
HOSE,WASH,PRESSURE,COLD,5000PSI,3/8X100’
HOSE,WASH,PRESSURE,COLD,5000PSI,3/8X25FT
HOSE,WASH,PRESSURE,COLD,5000PSI,3/8X50FT
HOUSING,BLOWER,ALUMINUM,6.2500DX4.0WHEEL
HOUSING,BLOWER,ASSY
HOUSING,BLOWER,STEEL,PAINTED,6DIAX3WD
HOUSING,OPERATOR,PUSHBUTTON,RESET
HOUSING,PUMP,GERNI,#18-0181
HOUSING,RECEPTACLE

HOUSING, TERMINAL,SPADE,MALE,1 WIRE
HOUSING,VALVE,UNLOADER,A-SIZE
HOUSING,VALVE,UNLOADER,B-SIZE
HUB,ASSY,5-BOLT,CROFT #545UHI

JD3731-06 HUB,FAN,STEEL,3HOLE,BOLT-ON,1-1/8BORE
JD3731-05 HUB,FAN,STEEL,3HOLE,BOLT-ON,5/8BORE
JD3731-04 HUB,FAN,STEEL,3HOLE,BOLT-ON,7/8BORE
JP7694 IGNITION,ELECTRONIC,SYSTEMS KIT,1

JP7708 IGNITION,ELECTRONIC,SYSTEMS KIT,3/4
JD3032-B IGNITOR,RELITE,PILOT,120V

JD6158-1  INJ,CHEM,ADJ,3200PSIMAX,BR,210F,6.6-10.8
JD6172 INJ,CHEM,ADJ,3600PSI MAX,BR,210F

JD6154-A  INJ,CHEM,ADJ,3650PSI MAX,194F,3.0-4.0
JD6158 INJ,CHEM,ADJ,3650PSI MAX,BR,194F,0-2.6
JD6154 INJ,CHEM,ADJ,3650PSI MAX,BR,194F,2.0-3.0
JD6154-B  INJ,CHEM,ADJ,3650PSI MAX,BR,194F,4.0-5.0
JD6158-B  INJ,CHEM,ADJ,3650PSI MAX,BR,194F,4.0-5.3
JD6140-F INJ,CHEM,ADJ,5800PSI MAX,SS,194F,2.6-4.0
JD6140-G INJ,CHEM,ADJ,5800PSI MAX,SS,194F,4.0-5.3
JD6140-H INJ,CHEM,ADJ,6.6-10.8,3/8

JD6154-C  INJ,CHEM,FIXED,3650# MAX,BR,194F,2.0-3.0
JD6154-D INJ,CHEM,FIXED,3650# MAX,BR,194F,3.0-4.0
JD6154-E  INJ,CHEM,FIXED,3650# MAX,BR,194F,4.0-5.0
JD6158-J  INJ,CHEM,FIXED,3650PSI MAX,194F,0-2.6
JD6158-K  INJ,CHEM,FIXED,3650PSI MAX,194F,2.6-4.0
JP5519-A  INJECTOR,ASSY,2100-C,GES

JP5623-A  INJECTOR,ASSY,3100,GES

JP5911-A  INJECTOR,ASSY,760-C,GES

JD3172 INJECTOR,BODY ONLY,#7NOZZLE,WO/KNOB&SCRW
JD3225 INJECTOR,BODY ONLY,#8NOZZLE ,WO/KNOB&SCRW
JD7809-C INJECTOR,CHEMICAL,1.8 MM CAT,FIXED
JD6140-B  INJECTOR,CHEMICAL,ADJUSTABLE,3-4GPM,3/8
JD6140-C INJECTOR,CHEMICAL,ADJUSTABLE,4-5GPM,3/8
JD6140-D INJECTOR,CHEMICAL,ADJUSTABLE,5-6GPM,3/8
JD7147-46 INJECTOR,CHEMICAL,CAT#7122

JD7147-77 INJECTOR,CHEMICAL,CAT#7193

JD7147-70 INJECTOR,CHEMICAL,CAT#7194

JD7861 INJECTOR,CHEMICAL,FIXED,2-3GPM,3/8NPTMxF
JP7426 INJECTOR,INLET,SOAP,ADJUSTABLE,REDLINE
JP7426-B  INJECTOR,INLET,SOAP,ADJUSTABLE,REDLINE
JD7891 INJECTOR,SOAP,ADJUSTABLE,3/8NPTFX3/8NPTF
JD3910 INJECTOR,SOAP,0#129

JD3694-01 INSERT,PLASTIC,RED,RESET

JP3947-B  INSULATION,CERAMIC,1.56X21X43,8#-DENSITY
JD7278 INSULATION,CERAMIC,1/2X12X24

JD3085 INSULATION,CERAMIC,1-1/2X42X69,6#

JD2498 INSULATION,CERAMIC,1X26-1/2X44

JD3181 INSULATION,CERAMIC,1X34X58,6#

JD3181-01 INSULATION,CERAMIC,8-1/2X11X1THK

JP6557 JACK,SHAFT

JP1416-01 JACK,TRAILER,PER SPEC.

JP7407 JACKET,PLASTIC,BLACK, 11

JP6915 JACKSHAFT,S-1600-C

JP7182 J-BOLT,3/8-16X4

JD2360 JET,BURNER,GAS,LP,BRASS #56,.047

JD3265 JET,BURNER,GAS,LP,BRASS, #60,.040

JD3029 JET,BURNER,GAS,LP,BRASS #62,.038

JD3129 JET,BURNER,GAS,NATURAL,BRASS #50,.070
JD3082 JET,BURNER,GAS,NATURAL,BRASS #52,.064
JD3027 JET,BURNER,GAS,NATURAL,BRASS,0#53,0.059
JD 950-02 KEY STOCK,STEEL,1/8SQUARE

JP6714-03 KEY,STEEL,1/4X1/4X2-1/2LENGTH

JP6714 KEY,STEEL,1/4X1/4X3LENGTH

JD 950 KEY,STEEL,3/16X3/16X1-1/4LENGTH

JD1404 KEY,STEEL,3/16X3/16X2-1/2LENGTH

JD 950-01 KEY,STEEL,3/16X3/16X2-1/4LENGTH

JD3692-99 KEY,STEEL,5MMX5MMX25MM
JD6167-57BKEY,STEEL,6MMX6MMX25MM

JP6714-04 KEY,STEEL,7MMX7MMX50.8MMLENGTH

JD 950-03 KEY,STEEL,WOODRUFF,1/8#404

JD7063-61 KIT,#1,GENERAL,#K01

JD6226-64 KIT,#19,PACKING,20MM,GEN.NO.19(OLD STYLE
JK 525 KIT,BASKET,CONTAINER,SOLUTION,CPW1020
JD7648 KIT,BLAST,SAND,1500-3500 PSI,3-10 GPM
JD3702 KIT,BOX,STUFFING, THERMOSTAT,CONTROL
JD7791-F  KIT,CAPS,VALVE,EZ PUMP,GEN NO.124

JD 900-N  KIT,CLAMP,HOSE,1/2

Website: www.steamjenny.com

10 Toll Free Fax Order Line: (888) 4-JENNYS



Part Number Description

Part Number Description

JK 324 KIT,CONTROL,THERMAL,760&1560

JK539-E  KIT,CONVERSION,LP-NAT,1000/2000/3000-C
JD8069-N  KIT,DUAL GUN,3000PSI,5GPM

JD7634-07 KIT,ELECTRODE,AFG,BURNER,BECKETT (2 EA)
JK 523 KIT,GAUGE,2000PSI,CPW1020

JK523-C  KIT,GAUGE,5000PSI,CPW3050

JD8056-A KIT,GUARD,BURNER,JB

JD6226-66 KIT,HEAD RING,20MM,GEN.NO.21

JD7064-65 KIT,HEAD,RING,GEN#65

JK 524 KITHOLDER,NOZZLE,FLIP-FLOP

JK524-A  KIT,HOLDER,NOZZLE,FLIP-FLOP,W/QUICK-CON
JP7653-A  KIT,HOSE&DROP CORD,CPW 1020

JK 588 KIT,HOSE,ALLEVIATOR,REPLACE,3100 OEP
JK 586 KIT,HOSE,ALLEVIATOR,REPLACE,760-C,OEP
JK471-A  KIT,INJECTION,CHEMICAL,POST,3-4GPM,W/ADJ
JK 471 KIT,INJECTION,CHEMICAL,POST,4-5GPM,W/ADJ
JK 538 KIT,INJECTION,SOAP,UPSTREAM

JD8053 KIT,LEGS,STATIONARY,OEP,OMP,& AEP
JD8059-B  KIT,LIFT,MOUNT,REEL,HOSE,HOLD,GUN,OMP13
JD8059 KIT,LIFT, MOUNT,REEL,HOSE,HOLDER,GUN

JK 526 KIT,LWC,2040/2000C/3040/3000C,OEP

JK572-A  KIT,LWC,E300-C,AEP

JK 572 KIT,LWC,OEP,GES,JB,E1000-E3000-C,AEP

JK 583 KITMAGNETO,OMP,JB

JK 517 KIT,MOBILITY,CPW1020-CPW1530

JK 578 KITMOUNTING,REEL,HOSE,ELHW1021-ELHW2042
JD8050 KIT,OPTION,LTC,FACT,INSTALLED,AEP&OEP
JD8051 KIT,OPTION,LTC,OEP,AEP

JD8051-A  KIT,OPTION,LTC,OMP

JD7812-H KIT,PACKING ASSY,18MM,EZ,GEN NO.131
JD7791-B  KIT,PACKING,15MM,GEN NO.88

JD7063-75 KIT,PACKING,20MM,(NEW STYLE)GEN NO.19 NS
JD7063-71 KIT,PACKING,20MM,GEN NO.28

JD7554-F KIT,PACKING,PLUNGER,14MM,GIANT#09114
JD7459-A  KIT,PACKING,PLUNGER,P313,GIA NO. 09152
JD3949-G  KIT,PACKING,PLUNGER,WEEP,GIANT #09061
JD2265 KIT,PIN,WRIST,PUMP,DUPLEX,JENNY
JD6226-68 KIT,PISTON OIL SEAT,GEN NO.23

JD3692-32 KIT,PISTON,BAC-CUP,CAT #30842

JD6130-B  KIT,PISTON,REPAIR,HYPRO,3430-0145
JD3948-C  KIT,PLUNGER,CERAMIC,GIANT

JD7722-A  KIT,PLUNGER,PACKING,P430,440,450,GIA
JK522-L  KIT,Q-CONNECT,BR,1/2,350F,2200#,F-F
JK522-N  KIT,Q-CONNECT,BR,1/2,350F,2200#,F-M
JK522-0 KIT,Q-CONNECT,BR,1/2,350F,2200#,M-F
JK522-A  KIT,Q-CONNECT,BR,1/4,F-F

JK522-B  KIT,Q-CONNECT,BR,1/4,M-F

JK522-C  KIT,Q-CONNECT,BR,3/8,180F,2700#,F-F
JK522-E  KIT,Q-CONNECT,BR,3/8,180F,2700#,F-M
JK522-D  KIT,Q-CONNECT,BR,3/8,350F,2700#,F-F
JK522-F  KIT,Q-CONNECT,BR,3/8,350F,2700#,F-M
JK522-G  KIT,Q-CONNECT,SS,3/8,180F,F-F

JK522-H  KIT,Q-CONNECT,SS,3/8,350F,F-F

JK522-J  KIT,Q-CONNECT,SS,3/8,350F,F-M

JD7503-04 KIT,RAIL,PUMP,XM,XMA,XRC,XRCA,SER,1-3/4H
JD7503-05 KIT,RAIL,PUMP,XM,XMA,XRC,XRCA,SER,2-5/8H
JD7503-03 KIT,RAIL,PUMP,XM,XMA,XRC,XRCA,SER,5/8H
JD7503-01 KIT,RAIL,PUMP,XT,XTA,XTV,SERIES,1/2H,AR
JD7503-02 KIT,RAIL,PUMP,XT,XTA,XTV,SERIES,1-5/8H
JD7503-06 KIT,RAIL,PUMP,XW SERIES,1-1/4

JD7639-01 KIT,REBUILD,NOZZLE,TURBO,FOR JD7639-A
JD7639-25 KIT,REBUILD,NOZZLE,TURBO,FOR JD7639-B
JD7639-03 KIT,REBUILD,NOZZLE, TURBO,FOR JD7639-C
JD7639-04 KIT,REBUILD,NOZZLE, TURBO,FOR JD7639-D
JD7639-23 KIT,REBUILD,NOZZLE,TURBO,FOR JD7639-F
JD7639-22 KIT,REBUILD,NOZZLE, TURBO,FOR JD7639-K
JK 570 KIT,REEL,HOSE,HPJ1020-HPJ2030

JK 571 KIT,REEL,HOSE,HPJ2040-HPJ3056

JK571-A  KIT,REEL,HOSE,HPJ3540-HPJ5045

JK 361 KIT,REPAIR,BURNER,RIGID,760

JD3404-02 KIT,REPAIR,CUP,CAT,#30184

JD6068-03 KIT,REPAIR,GUN,GIANT#21227

JD3404-01 KIT,REPAIR,PISTON,ASSY,CAT(CAT#30183)

JD3806-01 KIT,REPAIR,PISTON,HYPRO

JD7063-66 KIT,REPAIR,PLUNGER,GEN NO.6

JK 354 KIT,REPAIR,PUMP,DUPLEX,200-C & 760-C

JK 353 KIT,REPAIR,PUMP,DUPLEX,PW-200 & 760
JD3692-02 KIT,REPAIR,SHORT,CUP,CAT#30239

JP7709-02 KIT,REPAIR,SWIVEL,REEL,HOSE,(REEL-QUICK)
JD7809-E KIT,REPAIR,UNLOADER,(31088 & 33099)
JD3694 KIT,RESET,OVERLOAD

JD7869-J KIT,RING,INTERNEDIATE,W/RESTOP,GEN NO.71
JD7554-C  KIT,RING,O,GIANT,#09127

JD7154-11 KIT,RING,0,LANCE

JD3977-01 KIT,RING,0,SWITCH,PRESSURE,GIANT#24030
JD7812-G  KIT,RINGS,HEAD,18MM,EZ PUMP,GEN NO.129
JD7063-67 KIT,RINGS,HEAD,GEN NO.7

JD7147-B  KIT,SEAL,ALL 2SFX MODELS,CAT #34053
JD7549-A  KIT,SEAL,ALL 4SF MODELS,CAT #34054
JD6167-A  KIT,SEAL,MODEL 310,340,350,CAT #30623
JD7784-A KIT,SEAL,MODEL 56,57,59,60,CAT #30799
JD7063-63 KIT,SEAL,OIL,CRANKSHAFT,GEN NO. 3
JD7063-62 KIT,SEAL,OIL,PISTON GUIDE,GEN NO. 2
JD7497-A  KIT,SEAL,OIL,XM,XMA N-VERSION,AR 2786
JD7490-A KIT,SEAL,OIL,XT,XTA,XTVN-VERSION,AR 1872
JD7501-B  KIT,SEAL,OIL,XWA XW VERSION AR 2781
JD7490-C  KIT,SEAL,PACKING,(15MM),XTA-XTV,NO1866
JD3692-25 KIT,SEAL,PRRM-A-LUBE,CAT,#30305

JD7701-A  KIT,SEAL,PUMP,MODEL 45 CAT, #30629
JD7499-B  KIT,SEALS,OIL,XRCV D&E-VERSION,AR 1856
JD7493-A KIT,SEALS,XTA,XTV E VERSION,AR 1860
JK527-A  KIT,SELECT-A-NOZZLE,.55GPM,HPW
JP6312-C  KIT,SELECT-A-NOZZLE,.70GPM,CMB

JK466-B  KIT,SELECT-A-NOZZLE,1.1 GPM,CMB,S1600-C
JD8062-C  KIT,SHUTDOWN,AUTO,24V,4.5MIN,ASSY (MILL/S
JD8062-A KIT,SHUTDOWN,AUTO,24V,4.5MIN,S&S,1223-C
JD8062 KIT,SHUTDOWN,AUTO,24V,4.5MIN,S&S,FIELD
JP2974-B  KIT,SOLUTION,AUXILIARY,750&750-C

JD8054 KIT,START,STOP,AUTO,ASSY,FACTORY,2-3GPM
JD2567-M  KIT,STARTER,CONTACT,AUXILLIARY
JD7781-C  KIT,SWITCH,PRESSURE,OIL,BY-PASS , KOHLER
JD8061 KIT,TANK,FLOAT,PLASTIC ,ELHW,LARGE,GP
JK 467 KIT,THROTTLE,LINKAGE,B&S

JD8052 KIT, TIRE,PNEUMATIC,END,CASTER

JK 558 KIT,UNLOADER,REPLACEMENT,DPC1020
JD7549-B  KIT,VALVE,ALL 4SF MODELS,CAT #34055
JD3948-B  KIT,VALVE,ASSY,GIANT,#09039

JD7809-B  KIT,VALVE,CAT,33057

JD3806-A1 KIT,VALVE,HYPRO(PART#3430-0197)

JD6167-B  KIT,VALVE,MODEL 310,320,350,CAT #30821
JD7701-B  KIT,VALVE,PUMP,MODEL 45,CAT #30683

JK 478 KIT,VALVE,RELIEF, THERMAL,1/2

JK 544 KIT,VALVE,RELIEF,THERMAL,CPW

JD7722-B  KIT,VALVE,REPAIR,P440,P450,GIA #09142
JD7499-A KIT,VALVE,XRCV VERSION,AR 1828

JD7490-B  KIT,VALVE XT,XTA XM,XMA,AR NO.1864
JD7501-A  KIT,VALVE XWA,XW VERSION,AR 2780

JD7531 KNOB,CONTROL, THERMOSTAT,2000-C
JP2673-01 KNOB,FUEL,RED,POINTER TYPE,OBSOLETE
JD7776-D KNOB,PLASTIC,BLACK,10DX1/4-201D

JP 676 KNOB,PLASTIC,BLACK,PER SPEC.

JD7799 KNOB,RUBBER,BLACK,CONTROL, TEMPERATURE
JP2683-01 KNOB,SOLUTION,BLACK,POINTER TYPE
JD7022-01 KNOB,SOLUTION,REPLACEMENT,RI2400
JD7763 LANCE,DUAL,BENT,SS,3000PS1,220 F,41LONG
JD7763-P  LANCE,DUAL,BENT,SS,3650PSI,284F,1/4X40
JD7763-O LANCE,DUAL,BENT,SS,3650PSI,284F,1/8X40
JD7763-B  LANCE,DUAL,BENT,STL,PLT,3000PSI,220F,36
JD7763-Q LANCE,DUAL,BENT,STL,PLT,3000PSI,220F,72
JD7763-N  LANCE,DUAL,BENT,STL,PLT,3650PSI,284F,1/4
JD7763-M LANCE,DUAL,BENT,STL,PLT,3650PSI,284F,1/8
JD7763-L LANCE,DUAL,BENT,STL,PLT,4000PSI,38,W/SH
JD7763-D LANCE,DUAL,STR,STL,PLT,3000PSI,220F,33
JD7763-H LANCE,DUAL,STRAIGHT,SS,3000PSI,220F,33
JD7763-1 LANCE,DUAL,STRAIGHT,SS,3000PSI,220F,41
JP7080-U LANCE,INSULATED,BENT,STEEL,PLATED,1/4X36

Website: www.steamjenny.com

11 Toll Free Fax Order Line: (888) 4-JENNYS




Part Number Description Part Number Description

JP7080-V LANCE,INSULATED,BENT,STEEL,PLATED,1/4X48 JD7564 MOTOR,10HP,230-460/60/3,1725RPM,C-FACE
JP7080-W LANCE,INSULATED,BENT,STEEL,PLATED,1/4X59 JB3020 MOTOR,10HP,575/60/3,1725RPM,TEFC,F2 C-FA
JP7080-X LANCE,INSULATED,BENT,STEEL,PLATED,1/4X79 JD3520 MOTOR,1HP,115-230/60/1,1725RPM,TEFC
JP7080-T LANCE,INSULATED,SS,1/4X79 JB3003 MOTOR,1HP,115-230/60/1,1725RPM,TEFC,F2
JP7080-K LANCE,INSULATED,SS,36 JD2568-A MOTOR,1HP,208-230-460/60/3,1725RPM,TEFC
JP7080-N  LANCE,INSULATED,SS,5000PSI,1/4X48 JB3004 MOTOR,1HP,230-460/60/3,1725RPM,TEFC,F2
JP7080-L LANCE,INSULATED,SS,55 JB3005 MOTOR,1HP,575/60/3,1725RPM,TEFC,F2
JP7080-O LANCE,INSULATED,STEEL,ZINC-PLATED,1/4X36 JB3006-D MOTOR,2HP,115-230/60/1,1725RP, TEFC,F2,CF
JP7080-P LANCE,INSULATED,STEEL,ZINC-PLATED,1/4X48 JD3984-S MOTOR,2HP,115-230/60/1,1725RPM,PCL1322M
JP7080-Q LANCE,INSULATED,STEEL,ZINC-PLATED,1/4X59 JB3006-E MOTOR,2HP,115-230/60/1,3450RPM,TEFC,C-F
JP7080-S LANCE,INSULATED,STEEL,ZINC-PLATED,1/4X79 JD3984-J MOTOR,2HP,230-380-440/50/3,1450RPM,ODP
JR1021-14 LANCE,PARTS,CJR,10.0298.70 JD8613 MOTOR,3/4HP,115-230/1PH,1725RPM,TEFC,C-F
JD7640-A LATCH,ARROWHEAD,STEEL,PLATED JB3009 MOTOR,3HP,208-230/60/1,1725RPM,TEFC,F2
JP6672 LEG,STEEL,PAINTED,OES,1600,3100,4800 JD7558 MOTOR,3HP,230/60/1,3450RPM, TEFC,C-FACE
JP5408-A LID,SOLUTION,TANK,ASSY,2100 JB3010 MOTOR,3HP,230-460/60/3,1725RPM,TEFC,F2
JP5331-05 LID,TANK,SOLUTION,SS,200,GES JB3012 MOTOR,5HP,208-230/60/1,1725RPM, TEFC,F2
JP5331-02 LID,TANK,SOLUTION,STEEL,PAINTED,200-GES JD6098-X MOTOR,5HP,208-230-460/60/3,1725RPM, TEFC
JD8059-01 LIFT,REEL,HOSE,HOLDER,GUN,BRACKET JD7560 MOTOR,5HP,230/60/1,1725RPM,TEFC,C-FACE
JD8059-02 LIFT,REEL,HOSE,HOLDER,GUN,MOUNTS JB3013 MOTOR,5HP,230-460/60/3,1725RPM, TEFC,F2
JD7161-A LIGHT,INDICATOR,AMBER,120V,0.940X0.440 JB3014 MOTOR,5HP,575/60/3,1725RPM,TEFC,F2
JD7161 LIGHT,INDICATOR,AMBER,250V,0.940X0.440 JD3983-B MOTOR,7.5HP,220-380-460/50/3,1450RPM, TEF
JD2131-03 LIGHT,PILOT,GREEN,24VAC,SNAP-IN,5/16HL JB3015-A MOTOR,7.5HP,230/60/1,1725RPM,TEFC,F2
JP3312-01 LIGHT,PILOT,RED,115V,1HOLE JB3015 MOTOR,7.5HP,230/60/1,1725RPM,TEFC,F2,C-F
JP4128-01 LIGHT,PILOT,RED,12VDC,SNAP-IN,1/2HOLE JD7563 MOTOR,7.5HP,230-460/60/3,1725RPM,ODPCFAC
JD2131-02 LIGHT,PILOT,RED,24VAC,SNAP-IN,5/16HOLE JB3016 MOTOR,7.5HP,230-460/60/3,1725RPM,TEFC,F2
JD2131-04 LIGHT,PILOT,YELLOW,24VAC,SNAP-IN,5/16HL JB3017 MOTOR,7.5HP,575/60/3,1725RPM,TEFC,F2
JD7848-01 LINK,FUSIBLE,ENG,KUBOTA,0C95 JD8050-A MOUNT,AXLE,LTC,REAR

JP1706 LUG,TERMINAL,COPPER,1/4BOLT,1/0-6GAUGE JD8059-03 MOUNT,REEL,HOSE KIT,LIFT

JD6152 LUG,TERMINAL,COPPER,3/16BOLT,6-14GAUGE JD6137 MOUNT,VIBRATION,1-1/20DX3/8-16 THREAD
JP6553 MAGNETO,BRACKET,ASSY JD7202 MOUNT,VIBRATION,3/4X1-1/4

JD 942-A°  MAGNETO,IGNITION,FM,CCW JD3709 MOUNT,VIBRATION,RUBBER,NEOPRENE

JD 942 MAGNETO,IGNITION,FM,CW JD3709-01 MOUNT,VIBRATION,RUBBER,NEOPRENE
JP5927-J MANIFOLD,BURNER,INLET,ASSY,GES-LES,2040 JD3709-02 MOUNT,VIBRATION,RUBBER,NEOPRENE
JP7716 MANIFOLD,FITTINGS,STEEL,PLATED,ALL UNITS JD7706-02 MUFFLER,ENGINE,GASOLINE,KOHLER#275679
JP5927-C  MANIFOLD,GAS,NAT,ASSY,760/1000C,GF,115V JD7780-04 MUFFLER,ENGINE,KOHLER,PTO,11-15HP, TOP
JD7147-26 MANIFOLD,INLET,CAT#44874 JD7780-07 MUFFLER,RD,ENGINE,KOHLER,11-15HP, TOP,KIT
JP7092-E MANIFOLD,STEEL,PLATED,ASSY JD2136-E  NAMEPLATE,C.G.A.

JP5928-04 MANIFOLD,SUPPORT,BRACKET JP7213 NAMEPLATE,RI2400,ALUMINUM

JP6881 MANIFOLD,WATER,ASSY JP7214 NAMEPLATE,RI2400,ALUMINUM

JD4063-02 MANUAL,INSTRUCTION,1000-C-OEP JP7217 NAMEPLATE,RI2400,ALUMINUM

JD4063-03 MANUAL,INSTRUCTION,1000-C-OEP JD3175 NECK,FILLER,FUEL

JD4082-C MANUAL,INSTRUCTION,1223-C OEP JP 850-A  NIPPLE&COUPLING,ASSY,22

JD4018-B  MANUAL,INSTRUCTION,1560-OEP JD 721-02 NIPPLE,BRASS,1/2NPTX2-1/2LONG
JD4041-03 MANUAL,INSTRUCTION,200 + OEP JD 721-01 NIPPLE,BRASS,1/2NPTX2LONG

JD7529 MANUAL,INSTRUCTION,2000-C-GES-GESR JD3094-02 NIPPLE,BRASS,1/2NPTX3LONG

JD4007 MANUAL,INSTRUCTION,3100,GES-GESR JD 745-01 NIPPLE,BRASS,1/4NPTX2LONG

JD4025 MANUAL,INSTRUCTION,3100-OEP JD7244 NIPPLE,BRASS,3/8NPTX1-1/2LONG

JD4020 MANUAL,INSTRUCTION,760 & 1560 GES-GESR JP6388 NIPPLE,BURNER,JENNY,PER DWG.

JD4004 MANUAL,INSTRUCTION,760 OEP,OLD STYLE JP6545 NIPPLE,BURNER,LARGE,JENNY,PER SPEC
JD4003 MANUAL,INSTRUCTION,760-C-GES JP6545-01 NIPPLE,BURNER,RED LINE,JENNY

JD4044 MANUAL,INSTRUCTION,760-C-OEP JD3094 NIPPLE,CLOSE,BRASS,1/2NPT

JD4043-02 MANUAL,INSTRUCTION,760-OEP JD3057 NIPPLE,CLOSE,BRASS,1/4NPT

JD4044-B  MANUAL,INSTRUCTION,760-OEP,50HZ JD3066 NIPPLE,CLOSE,BRASS,1/8NPT

JD4054 MANUAL,INSTRUCTION,E-300-C-EP JD1181-01 NIPPLE,CLOSE,BRASS,3/4NPT

JD4033-02 MANUAL,INSTRUCTION,E-850-C-EP JD3054 NIPPLE,CLOSE,BRASS,3/8NPT

JD4082 MANUAL,INSTRUCTION,HPW-1023-OEP JD3975 NIPPLE,CLOSE,STAINLESS STEEL,SCH40,3/4
JD4082-B  MANUAL,INSTRUCTION,HPW-1223-OEP JP 981-01 NIPPLE,CLOSE,STAINLESS STEEL,SCH80,1/2
JD4083 MANUAL,INSTRUCTION,HPW-1530 & 2040-OEP JD 714-03 NIPPLE,CLOSE,STAINLESS STEEL,SCH80,1/4
JD4083-A MANUAL,INSTRUCTION,HPW-1530 & 2040-OMP JD2167-01 NIPPLE,CLOSE,STAINLESS STEEL,SCH80,1/8
JD4071-03 MANUAL,INSTRUCTION,S-1600-C-OEP JD 712-01 NIPPLE,CLOSE,STAINLESS STEEL,SCH80,3/8
JD4032 MANUAL,INSTRUCTION,S-200-C-OEP JD2756 NIPPLE,CLOSE,STEEL,GALV,SCH40,1-1/2NPT
JD7047 METER,COIN,B-CHUTE,4-QUARTERS JD7628 NIPPLE,CLOSE,STEEL,PLATED,3/4NPT
JD2402-01 METER,HOUR,MOUNT,PANEL,230VAC JD1243 NIPPLE,CLOSE,STEEL,SCH40,1-1/2NPT
JD2402-B  METER,HOUR,MOUNT,PANEL,24V,2.68DIAMETR JE 886 NIPPLE,CLOSE,STEEL,SCH40,1-1/4NPT
JP2913-02 MIRROR,REVERSE,ANGLE,CSA JK 116 NIPPLE,CLOSE,STEEL,SCH40,1NPT

JB3006-C MOTOR,1.5HP,115-230/1,1725RPM,TEFC,F2,CF JD1181 NIPPLE,CLOSE,STEEL,SCH40,3/4NPT
JD2944-E  MOTOR,1.5HP,115-230/1,3450RPM,PCL3513M JP 981 NIPPLE,CLOSE,STEEL,SCH80,1/2NPT
JD3460-A MOTOR,1.5HP,115-230/50/1,1450RPM,ODP JD 714 NIPPLE,CLOSE,STEEL,SCH80,1/4NPT

JD7146 MOTOR,1.5HP,115-230/60/1,3450RPM,TEFC,CF JD2167 NIPPLE,CLOSE,STEEL,SCH80,1/8NPT

JB3007 MOTOR,1.5HP,230-460/60/3,1725RPM,TEFC,F2 JD 712 NIPPLE,CLOSE,STEEL,SCH80,3/8NPT

JD2923 MOTOR, 1/3HP,230-460/60/3,1725RPM,TEFC JP5261-01 NIPPLE,COUPLING,ASSY,28

JD7634-01 MOTOR,1/7HP,115V,3450RPM,BECKETT JD3961-48 NIPPLE,DISCHARGE,JS#430049

JB3018 MOTOR,10HP,230/60/1,1725RPM,TEFC,F2,C-FA JD3961-F NIPPLE,DISCHARGE,JS#430449

Website: www.steamjenny.com

12

Toll Free Fax Order Line: (888) 4-JENNYS




Part Number Description Part Number Description

JD3716 NIPPLE,HEX,STEEL,PLATED,1/2NPTX1/2NPT JD7154-01 NOZZLE,ANGLE,VARIABLE,1.3MM,BLUE

JD 732-03 NIPPLE,HEX,STEEL,PLATED,1/4ANPTMX3/8NPTM JD7154-02 NOZZLE,ANGLE,VARIABLE,1.4MM,RED

JD 732-04 NIPPLE,HEX,STEEL,PLATED,3/8NPTMX1/2NPTM JD7154-03 NOZZLE,ANGLE,VARIABLE,1.5MM,GREEN
JD3716-01 NIPPLE,HEX,STEEL,PLATED,3/8NPTX3/8NPT JD7600 NOZZLE,ANGLE,VARIABLE,W/O,ORIFICE
JP1632 NIPPLE,ORIFICE,YEAGER,1/2NPT JD7280 NOZZLE,BURNER,OIL,1.00GPH,80 DEG,H.C.
JP 678-01 NIPPLE,PVC,SCH80,2NPTX3LONG JD7275-A  NOZZLE,BURNER,OIL,1.20GPH,80 DEG,H.C.
JD 732-01 NIPPLE,SS,SCH80,3/8NPTX2LONG JD3247 NOZZLE,BURNER,OIL,1.25GPH,80 DEG,H.C.
JD1182-01 NIPPLE,ST.GALVANIZED,SCH40,1/2X3LONG JB1515 NOZZLE,BURNER,OIL,1.25GPH,80 DEG,S.C.
JD2695 NIPPLE,STAINLESS STEEL,SCH40,3/4NPTX2LNG JE 166 NOZZLE,BURNER,OIL,1.25GPH,90 DEG,H.C.
JD1183-01 NIPPLE,STAINLESS STEEL,SCH80,1/2X2-1/2 JD7232 NOZZLE,BURNER,OIL,1.35GPH,80 DEG,H.C.
JD3116-01 NIPPLE,STAINLESS STEEL,SCH80,1/4NPTX2 JD7233-A NOZZLE,BURNER,OIL,1.50GPH,80 DEG,H.C.
JD3116 NIPPLE,STAINLESS STEEL,SCH80,1/4X1-1/2 JB1513 NOZZLE,BURNER,OIL,1.50GPH,80 DEG,S.C.
JD6170 NIPPLE,STAINLESS STEEL,SCH80,3/8NPTX36LG JD7234 NOZZLE,BURNER,OIL,1.50GPH,90 DEG,H.C.
JP4234-01 NIPPLE,STEEL,SCH40,1/2NPTX4-3/4LONG JB1510 NOZZLE,BURNER,OIL,1.75GPH,80 DEG,S.C.
JB1004 NIPPLE,STEEL,SCH40,1/8NPTX4LONG JE 149 NOZZLE,BURNER,OIL,1.75GPH,90 DEG,H.C.
JD2841 NIPPLE,STEEL,SCH40,1-1/2NPTX2-1/2LONG JB1512 NOZZLE,BURNER,OIL,2.00GPH,80 DEG,S.C.
JD1414 NIPPLE,STEEL,SCH40,1-1/4ANPTX2LONG JD3609 NOZZLE,BURNER,OIL,2.00GPH,90 DEG,H.C.
JD3074 NIPPLE,STEEL,SCH40,1-1/4ANPTX5-1/2LONG JD7235 NOZZLE,BURNER,OIL,2.25GPH,80 DEG,H.C.
JD3466 NIPPLE,STEEL,SCH40,1-1/4ANPTX9LONG JB1511 NOZZLE,BURNER,OIL,2.25GPH,80 DEG,S.C.
JD 884 NIPPLE,STEEL,SCH40,1NPTX2LONG JD3328 NOZZLE,BURNER,OIL,2.25GPH,90 DEG,H.C.
JP2160-03 NIPPLE,STEEL,SCH40,1NPTX4LONG JB1514 NOZZLE,BURNER,OIL,2.50GPH,80 DEG,S.C.
JD1304-A NIPPLE,STEEL,SCH40,1NPTX6LONG JD3535 NOZZLE,BURNER,OIL,2.50GPH,90 DEG,H.C.
JD1303 NIPPLE,STEEL,SCH40,3/4ANPTX2LONG JD 265-02 NOZZLE,BURNER,OIL,3.00GPH,90 DEG,H.C.
JD 994 NIPPLE,STEEL,SCH40,3/4ANPTX4LONG JD 265-03 NOZZLE,BURNER,OIL,3.21GPH,90 DEG,H.C.
JD1219 NIPPLE,STEEL,SCH40,3/4ANPTX5LONG JD3508 NOZZLE,BURNER,OIL,3.50GPH,90 DEG,H.C.
JD1403 NIPPLE,STEEL,SCH40,3/4ANPTX9LONG JE 146 NOZZLE,BURNER,OIL,4.00GPH,90 DEG,H.C.
JE 562 NIPPLE,STEEL,SCH80,1/2NPTX11LONG JE 148 NOZZLE,BURNER,OIL,4.50GPH,90 DEG,H.C.
JD1223 NIPPLE,STEEL,SCH80,1/2NPTX12-1/2LONG JD7743 NOZZLE,BURNER,OIL,5.00GPH,90 DEG,H.C.
JD1261 NIPPLE,STEEL,SCH80,1/2NPTX15LONG JD3848 NOZZLE,BURNER,OIL,5.50GPH,90 DEG,H.C.
JD1183 NIPPLE,STEEL,SCH80,1/2NPTX2-1/2LONG JE 165 NOZZLE,BURNER,OIL,6.00GPH,90 DEG,H.C.
JP7661-01 NIPPLE,STEEL,SCH80,1/2NPTX23LONG JE 164 NOZZLE,BURNER,OIL,7.00GPH,90 DEG,H.C.
JD3111 NIPPLE,STEEL,SCH80,1/2NPTX27-1/2LONG JD 459 NOZZLE,FAN,STEAM,2 WIDE

JD1182 NIPPLE,STEEL,SCH80,1/2NPTX3LONG JD 459-A NOZZLE,FAN,STEAM,2 WIDE,WITH REDUCER
JP3909-17 NIPPLE,STEEL,SCH80,1/2NPTX4-3/4LONG JD 460 NOZZLE,FAN,STEAM,4 WIDE

JD 726 NIPPLE,STEEL,SCH80,1/2NPTX4LONG JD 460-A NOZZLE,FAN,STEAM,6 WIDE

JD1189 NIPPLE,STEEL,SCH80,1/2NPTX6-1/2LONG JD7596 NOZZLE,FOAM,SUTTNER #ST-70

JD3576 NIPPLE,STEEL,SCH80,1/2NPTX9-3/4LONG JD7649 NOZZLE,OSCILATNG,3.0,3600PSI,212F,MAX5.2
JD1359 NIPPLE,STEEL,SCH80,1/4NPTX12LONG JD7649-A NOZZLE,OSCILATNG,3.5,3600PSI,212F,MAX5.2
JD 731 NIPPLE,STEEL,SCH80,1/4NPTX1-3/4LONG JD7649-C NOZZLE,OSCILATNG,4.5,3600PSI,212F,MAX5.2
JD3674 NIPPLE,STEEL,SCH80,1/4NPTX18LONG JD7649-D NOZZLE,OSCILATNG,5.0,3600PSI,212F,MAX5.2
JD 978 NIPPLE,STEEL,SCH80,1/4NPTX2-1/2LONG JD7649-E  NOZZLE,OSCILATNG,5.5,3600PSI,212F,MAX5.2
JD3522 NIPPLE,STEEL,SCH80,1/4NPTX22LONG JD7639-Q NOZZLE,ROTATIN,12.0,5000PSI,212F,MAX12.0
JD 953 NIPPLE,STEEL,SCH80,1/4ANPTX2LONG JD7639 NOZZLE,ROTATING,#4.0,1900PSI

JD 964 NIPPLE,STEEL,SCH80,1/4ANPTX4LONG JD7639-S NOZZLE,ROTATING,1300-2000PSI,2.1-2.6 GPM
JD 965 NIPPLE,STEEL,SCH80,1/4ANPTX5LONG JD7639-T NOZZLE,ROTATING,1450-3500PSI,2.9-4.0 GPM
JD3985 NIPPLE,STEEL,SCH80,1/8NPTX10LONG JD7632 NOZZLE,ROTATING,3.0,3000PSI,190F,MAX 5.0
JD2775 NIPPLE,STEEL,SCH80,1/8NPTX1-1/2LONG JD7632-A NOZZLE,ROTATING,3.5,3000PSI,190F,MAX 5.0
JD3986 NIPPLE,STEEL,SCH80,1/8NPTX12LONG JD7639-E  NOZZLE,ROTATING,3.5,3600PSI,212F,MAX 5.2
JD2713 NIPPLE,STEEL,SCH80,1/8NPTX37-1/2LONG JD7632-B  NOZZLE,ROTATING,4.0,3000PSI,190F,MAX 5.0
JD1018 NIPPLE,STEEL,SCH80,3/8NPTX1-1/2LONG JD7639-N  NOZZLE,ROTATING,4.0,5100PSI,212F,MAX12.0
JD1257 NIPPLE,STEEL,SCH80,3/8NPTX12-1/2LONG JD7639-F NOZZLE,ROTATING,4.5,3600PSI,212F,MAX 5.2
JD 967 NIPPLE,STEEL,SCH80,3/8NPTX1-3/4LONG JD7632-J NOZZLE,ROTATING,4.5,5000PSI,212F,MAX12.0
JD 729 NIPPLE,STEEL,SCH80,3/8NPTX13LONG JD7639-L NOZZLE,ROTATING,5.0,3600PSI,212F,MAX 5.2
JD1035 NIPPLE,STEEL,SCH80,3/8NPTX15LONG JD7639-O NOZZLE,ROTATING,5.0,5100PSI,212F,MAX12.0
JD3673 NIPPLE,STEEL,SCH80,3/8NPTX18LONG JD7632-E  NOZZLE,ROTATING,5.5,3000PSI,190F,MAX 5.0
JD 718 NIPPLE,STEEL,SCH80,3/8NPTX2-1/2LONG JD7639-B NOZZLE,ROTATING,5.5,3600PSI,212F,MAX 5.2
JP3909-12 NIPPLE,STEEL,SCH80,3/8NPTX22LONG JD7639-C NOZZLE,ROTATING,5.5,5100PSI,212F,MAX12.0
JD 968 NIPPLE,STEEL,SCH80,3/8NPTX2-3/4LONG JD7639-M NOZZLE,ROTATING,6.0,3600PSI,212F,MAX 5.2
JD 963 NIPPLE,STEEL,SCH80,3/8NPTX28LONG JD7639-R NOZZLE,ROTATING,6.0,5100PSI,212F,MAX12.0
JD 732 NIPPLE,STEEL,SCH80,3/8NPTX2LONG JD7639-D NOZZLE,ROTATING,7.0,5100PSI,212F,MAX12.0
JD7579 NIPPLE,STEEL,SCH80,3/8NPTX30LONG JD7639-P NOZZLE,ROTATING,8.0,5100PSI,212F,MAX12.0
JD1009 NIPPLE,STEEL,SCH80,3/8NPTX3LONG JD3574 NOZZLE,SAND,STEEL,PLATED

JD1028 NIPPLE,STEEL,SCH80,3/8NPTX4LONG JP3909-03 NOZZLE,SPRAY,PSI WASH,BR,#5004

JD 919 NIPPLE,STEEL,SCH80,3/8NPTX6LONG JP3586 NOZZLE,SPRAY,PSI WASH,BRASS, #5006
JD7158 NIPPLE,STEEL,SCH80,3/8NPTX7LONG JD2807-B NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,0003
JD 912 NIPPLE,STEEL,SCH80,3/8NPTX8LONG JD3924-A NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,00035
JD1489 NIPPLE,STEEL,SCH80,3/8NPTX9LONG JD6026 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,0013
JP 692 NIPPLE,STEEL,SCH80,BENT,1/4ANPTX5LONG JD3924-B NOZZLE,SPRAY,PSI WASH,SS,1/4MEG, 15035
JP3909-10 NIPPLE,STEEL,SCH80,BENT,3/8NPTX22LONG JD6026-A NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,1513
JD7293 NIPPLE,STEEL,SCH80,PLATED,3/8NPTX24LONG JD6225-B NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,1520
JD3961-E  NIPPLE,SUCTION,JS#430442 JD7267-B NOZZLE,SPRAY,PSI WASH,SS,1/4MEG, 1540
JD1488-07 NIPPLE,SWIVEL,BRASS,PER SPECIFICATION JD2807-C NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,2503
JD7154-04 NOZZLE,ANGLE,VARI,W/EXTENSION,1.3MM,BLUE JD3924-C NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,25035

Website: www.steamjenny.com

13

Toll Free Fax Order Line: (888) 4-JENNYS



Part Number Description Part Number Description

JD3346-A NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,2510 JD3884 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-4015
JD6026-B NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,2513 JD6025 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-4018
JD6048-A NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,2515 JD3727 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-4030
JD6225 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,2520 JD7268 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-4035
JD6048-B NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,2525 JD7267 NOZZLE,SPRAY,PSI WASH,SS, 1/4MEG-4040
JD7267-C NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,2540 JD3099 NOZZLE,SPRAY,PSI WASH,SS, 1/8F,WEG40085
JD6057-B  NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,2550 JD3099-01 NOZZLE,SPRAY,PSI WASH,SS,1/8M,WEG40085
JD6060-B  NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,2560 JD3927 NOZZLE,SPRAY,PSI WASH,SS,1/8MEG-00016
JD2807-D NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,4003 JD3924 NOZZLE,SPRAY,PSI WASH,SS,1/8MEG-00035
JD3924-D NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,40035 JD3928 NOZZLE,SPRAY,PSI WASH,SS,1/8MEG-07015
JD3346-B NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,4010 JD3929 NOZZLE,SPRAY,PSI WASH,SS,1/8MEG-15015
JD6026-C NOZZLE,SPRAY,PSI WASH,SS,1/4MEG,4013 JD2643 NOZZLE,SPRAY,PSI WASH,SS,1/8MEG-15025
JD6124 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-0004 JD3925 NOZZLE,SPRAY,PSI WASH,SS,1/8MEG-15035
JD3705 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-00045 JD3926 NOZZLE,SPRAY,PSI WASH,SS,1/8MEG-25035
JD6072 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-0005 JD3826 NOZZLE,SPRAY,PS| WASH,SS,1/8WEG-0006
JD3880 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-00055 JD3104 NOZZLE,SPRAY,PS|I WASH,SS,1/8WEG-00085
JD3413 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-0006 JD3827 NOZZLE,SPRAY,PSI WASH,SS,1/8WEG-1506
JD3879 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-00065 JD3103-01 NOZZLE,SPRAY,PSI WASH,SS,1/8WEG-15085
JD6180 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-0007 JD3828 NOZZLE,SPRAY,PSI WASH,SS,1/8WEG-2506
JD3905 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-00075 JD3829 NOZZLE,SPRAY,PSI WASH,SS,1/8WEG-4006
JD3667 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-0008 JD7758-15 NOZZLE,SPRAY,PSI,SS QCK CON,40DEG,0#3.0
JD6142 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-00085 JD7755-13 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,0#15.0
JD3359 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-0009 JD7755-14 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,0#3.5
JD3346 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-0010 JD7755-10 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,0#10.0
JD7266-01 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-0011 JD7755-11 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,0#12.0
JD6191 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-0012 JD7755-15 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,0#3.0
JD6006 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-0015 JD7755 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,0#4.0
JD6022 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-0018 JD7755-01 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,0#4.5
JD2807-A NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-1503 JD7755-02 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,0#5.0
JD6123 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-1504 JD7755-03 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,0#5.5
JD3704 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-15045 JD7755-04 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,0#6.0
JD6073 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-1505 JD7755-05 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,0#6.5
JD3877 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-15055 JD7755-06 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,0#7.0
JD3342 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-1506 JD7755-07 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,0#7.5
JD3876 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-15065 JD7755-08 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,0#8.0
JD6181 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-1507 JD7755-09 NOZZLE,SPRAY,PSI,SS,QCK CON,0 DEG,0#9.0
JD3906 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-15075 JD7756-13 NOZZLE,SPRAY,PSI,SS,QCK CON,15 DEG,0#15.
JD3810 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-1508 JD7756-14 NOZZLE,SPRAY,PSI,SS,QCK CON,15 DEG,0#3.5
JD6143 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-15085 JD7756-11 NOZZLE,SPRAY,PSI,SS,QCK CON,15DEG,0#12.0
JD3358 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-1509 JD7756-10 NOZZLE,SPRAY,PSI,SS,QCK CON,15DEG,0#10.0
JD3345 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-1510 JD7756-15 NOZZLE,SPRAY,PSI,SS,QCK CON,15DEG,0#3.0
JD7266 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-1511 JD7756 NOZZLE,SPRAY,PSI,SS,QCK CON,15DEG,0#4.0
JD6192 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-1512 JD7756-01 NOZZLE,SPRAY,PSI,SS,QCK CON,15DEG,0#4.5
JD6007 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-1515 JD7756-02 NOZZLE,SPRAY,PSI,SS,QCK CON,15DEG,0#5.0
JD6023 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-1518 JD7756-03 NOZZLE,SPRAY,PSI,SS,QCK CON,15DEG,0#5.5
JD7766 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-25035 JD7756-04 NOZZLE,SPRAY,PSI,SS,QCK CON,15DEG,0#6.0
JD6094 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-2504 JD7756-05 NOZZLE,SPRAY,PSI,SS,QCK CON,15DEG,0#6.5
JD3882 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-25045 JD7756-06 NOZZLE,SPRAY,PSI,SS,QCK CON,15DEG,0#7.0
JD3523 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-2505 JD7756-07 NOZZLE,SPRAY,PSI,SS,QCK CON,15DEG,0#7.5
JD3883 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-25055 JD7756-08 NOZZLE,SPRAY,PSI,SS,QCK CON,15DEG,0#8.0
JD3412 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-2506 JD7756-09 NOZZLE,SPRAY,PSI,SS,QCK CON,15DEG,0#9.0
JD3881 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-25065 JD7757-13 NOZZLE,SPRAY,PSI,SS,QCK CON,25 DEG,0#15.
JD3942 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-2507 JD7757-14 NOZZLE,SPRAY,PSI,SS,QCK CON,25 DEG,0#3.5
JD3907 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-25075 JD7757-10 NOZZLE,SPRAY,PSI,SS,QCK CON,25DEG,0#10.0
JD3534 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-2508 JD7757-11 NOZZLE,SPRAY,PSI,SS,QCK CON,25DEG,0#12.0
JD6144 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-25085 JD7757-15 NOZZLE,SPRAY,PSI,SS,QCK CON,25DEG,0#3.0
JD3357 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-2509 JD7757 NOZZLE,SPRAY,PSI,SS,QCK CON,25DEG,0#4.0
JD7266-02 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-2511 JD7757-01 NOZZLE,SPRAY,PSI,SS,QCK CON,25DEG,0#4.5
JD6193 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-2512 JD7757-02 NOZZLE,SPRAY,PSI,SS,QCK CON,25DEG,0#5.0
JD3691 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-2515 JD7757-03 NOZZLE,SPRAY,PSI,SS,QCK CON,25DEG,0#5.5
JD6125 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-4004 JD7757-04 NOZZLE,SPRAY,PSI,SS,QCK CON,25DEG,0#6.0
JD3703 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-40045 JD7757-05 NOZZLE,SPRAY,PSI,SS,QCK CON,25DEG,0#6.5
JD6074 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-4005 JD7757-06 NOZZLE,SPRAY,PSI,SS,QCK CON,25DEG,0#7.0
JD3880-01 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-40055 JD7757-07 NOZZLE,SPRAY,PSI,SS,QCK CON,25DEG,0#7.5
JD3414 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-4006 JD7757-08 NOZZLE,SPRAY,PSI,SS,QCK CON,25DEG,0#8.0
JD2997-A NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-40065 JD7757-09 NOZZLE,SPRAY,PSI,SS,QCK CON,25DEG,0#9.0
JD7633 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-4007 JD7758-13 NOZZLE,SPRAY,PSI,SS,QCK CON,40 DEG,0#15.
JD3908 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-40075 JD7758-14 NOZZLE,SPRAY,PSI,SS,QCK CON,40 DEG,0#3.5
JD3668 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-4008 JD7758-10 NOZZLE,SPRAY,PSI,SS,QCK CON,40DEG,0#10.0
JD6145 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-40085 JD7758-11 NOZZLE,SPRAY,PSI,SS,QCK CON,40DEG,0#12.0
JD3352 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-4009 JD7758 NOZZLE,SPRAY,PSI,SS,QCK CON,40DEG,0#4.0
JD7266-03 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-4011 JD7758-01 NOZZLE,SPRAY,PSI,SS,QCK CON,40DEG,0#4.5
JD3650 NOZZLE,SPRAY,PSI WASH,SS,1/4MEG-4015 JD7758-02 NOZZLE,SPRAY,PSI,SS,QCK CON,40DEG,0#5.0

Website: www.steamjenny.com

14

Toll Free Fax Order Line: (888) 4-JENNYS



Part Number

Description

Part Number Description

JD7758-03
JD7758-04
JD7758-05
JD7758-06
JD7758-07
JD7758-08
JD7758-09
JD3878
JD3348
JD3108
JD7759
JD7759-02
JD7759-01
JP3308-B
JP5018-A
JP2735-B
JP6709-01
JP4739
JP4740
JD8618
JP3252-D
JD7629-A
JD7629-B
JD7629-C
JD7241
JP2688-07
JP2687-12
JL 206

JP 993
JD3512-A
JD3692-13
JD1353-01
JD3780-01
JD3780
JV 122

JV 142
JD7864

JP 635-B
JD 664

JD 661

JD 662
JD7226
JD7147-33
JD 771
JD3794
JD 802-01
JD 802
JD3404-32
JD 929

JD 837
JD6221

JD 791
JD1325
JD 781

JD 846

JE 755

JD 792
JD1350-B
JD2803-A
JD3726-03
JP 809
JD3849
JD3849-01
JD2902
JD7774-E
JD7147-47
JD3726-04
JD3726
JP1006
JD3726-02
JD3726-01
JP6496
JP2603-05

NOZZLE,SPRAY,PSI,SS,QCK CON,40DEG,0#5.5
NOZZLE,SPRAY,PSI,SS,QCK CON,40DEG,0#6.0
NOZZLE,SPRAY,PSI,SS,QCK CON,40DEG,0#6.5
NOZZLE,SPRAY,PSI,SS,QCK CON,40DEG,0#7.0
NOZZLE,SPRAY,PSI,SS,QCK CON,40DEG,0#7.5
NOZZLE,SPRAY,PSI,SS,QCK CON,40DEG,0#8.0
NOZZLE,SPRAY,PSI,SS,QCK CON,40DEG,0#9.0
NOZZLE,SPRAY,PSI,WASH,H3/8 USS-1522
NOZZLE,SPRAY,PSI,WASH,SS,1/4MEG-1522
NOZZLE,SPRAY,PSI,WASH,SS,H3/8USS-0022

NOZZLE,SPRAY,SOAP,BR,QCK CON,25DEG,0#40.
NOZZLE,SPRAY,SOAP,BR,QCK CON,50DEG,O0#50.
NOZZLE,SPRAY,SOAP,BR,QCK CON,65DEG,0#40.

NOZZLE,STEAM,3/4HEX,STEEL,PLATED,TAPPED
NOZZLE,STEAM,7/8HEX #290RIFICE
NOZZLE,STEAM,7/8HEX,STEEL,PLATED
NOZZLE,STEAM,9/16HEX,STEEL,PLATED,E-300C
NOZZLE,STEAM,FAN,2,RI1600
NOZZLE,STEAM,FAN,4,RI1600

NOZZLE, TEE-JET,QUICK-JET,QVV-4003
NOZZLE, TUBING,ASSY,GUN,DBL,DTY

NOZZLE ,VARIABLE,3.5,2800PSI,190F,1.2MM
NOZZLE ,VARIABLE,4.0,2800PSI,190F,1.3MM
NOZZLE VARIABLE,4.5,2800PSI,190F,1.4MM
NUT,ACORN,HEX,STEEL,PLATED,5/16-18
NUT,ADJUSTING,STIRRING,VALVE
NUT,BONNET,BRASS

NUT,BONNET,STEEL
NUT,BONNET,VALVE,CHECK,SOLUTION
NUT,BURNER,STEEL,PLATED,1/4-18NPT
NUT,CASTELLATED,CAT#27000
NUT,COMPRESSION,BRASS,3/80DTUBE
NUT,COMPRESSION,BRASS,5/16
NUT,COMPRESSION,BRASS,7/16
NUT,CONE,VALVE,UNLOADER
NUT,CONE,VALVE,UNLOADER
NUT,CONTROL,COMPRESSION-SLEEVE,(GES)
NUT,FERRULE,WATER,SUPPLY,CONNECTOR
NUT,FLARE,BRASS, 1/2-45SAE
NUT,FLARE,BRASS, 1/4-45SAE
NUT,FLARE,BRASS,3/8-45SAE
NUT,FLARE,INVERTED,BRASS,1/4TUBEX1/2-20
NUT,HEX,BR,M6,CAT#27000
NUT,HEX,BRASS,1/4-20
NUT,HEX,BRASS,10-32
NUT,HEX,JAM,STEEL,PLATED,3/4-16
NUT,HEX,JAM,STEEL,PLATED,7/8-14
NUT,HEX,M8,CAT#81109
NUT,HEX,STEEL,PLATED,#6-32
NUT,HEX,STEEL,PLATED,#8-32
NUT,HEX,STEEL,PLATED,1/2-13
NUT,HEX,STEEL,PLATED,1/4-20
NUT,HEX,STEEL,PLATED,10-24
NUT,HEX,STEEL,PLATED,10-32
NUT,HEX,STEEL,PLATED,3/8-16
NUT,HEX,STEEL,PLATED,5/16-18
NUT,HEX,STEEL,PLATED,7/16-14
NUT,HOSE,3/8SAE,USED WITH JD1350-A
NUT,LOCK,1050 SPRING STEEL,1/2-13
NUT,LOCK,BRASS,ELASTIC,10-32
NUT,LOCK,CONDUIT,STEEL,PLATED,1/2
NUT,LOCK,CONDUIT,STEEL,PLATED,1-1/4
NUT,LOCK,CONDUIT,STEEL,PLTD,W/SEAL,1-1/2
NUT,LOCK,CONNECTOR,AMPHENOL
NUT,LOCK,FLANGE,HEX,SERR,ST,PL,5/16-18
NUT,LOCK,M18X1,CAT#31047
NUT,LOCK,STEEL,PLATED,ELASTIC,7/16-14
NUT,LOCK,STEEL,PLTD,NYLON INSERT,1/4-20
NUT,LOCK,STEEL,PLTD,NYLON INSERT,3/4-10
NUT,LOCK,STEEL,PLTD,NYLON INSERT,3/8-16
NUT,LOCK,STEEL,PLTD,NYLON INSERT,5/16-18
NUT,PACKING,FORGED,BRASS, 1-1/4X13/16
NUT,PACKING,FORGED,BRASS, 1-1/4X41/64

JP2542-02 NUT,PACKING,FORGED,BRASS,1-3/4X1-1/64
JP2603-04 NUT,PACKING,FORGED,BRASS,1-3/4X1-9/64
JD2322 NUT,PACKING,FORGED,BRASS, 1-3/4X7/8

JE 227-A°  NUT,PACKING,OLD STYLE(NEED SPANNER WR.)
JD1488-06 NUT,PACKING,SWIVEL,BRASS,PER SPEC.
JD7290-A NUT,PAL,HUB,LOCK,PLASTIC,3/4

JD7290 NUT,PAL,HUB,LOCK,PLASTIC,5/8

JD3185 NUT,PAL,ROUND FLAT,ST,PLTD,LCK RNG,1/2X1
JD3186 NUT,PAL,WASHER CAP,ST,PLTD,LCK RNG,1/2
JD7042 NUT,SPEED, TINNERMAN,1/4-20

JP 957 NUT,SPEED, TINNERMAN,1/4-20

JP3284-03 NUT,VALVE,RELIEF,DRAIN,BRASS,ADJUSTABLE
JV 158 NUT,VALVE,UNLOADER

JD1178-A  NUT,WING,STEEL,DIECAST,ELASTIC,1/4-20
JD2186 NUT,WING,STEEL,FORGED,PLATED,10-24
JD3404-04 OIL,CRANKCASE,PUMP,CAT,210z BTL
JD7553-A OIL,GEAR,SAE,20/50,W/PARAFIN,160Z BOTTLE
JD7999-B  OIL,PUMP,SYNTHETIC,HIGH-PERFORMANCE,1 PT
JD7999-A OIL,PUMP,SYNTHETIC,HIGH-PERFORMANCE,1 QT
JP5714 ORIFICE,#25PLUG,1/4NPTM,PW3

JP5714-01 ORIFICE #29PLUG,1/4NPTM,PW3

JD3599 ORIFICE,DEMA24-8-8

JD3598 ORIFICE,INJECTOR

JD7147-87 ORIFICE,INJECTOR,CHEMICAL,2.3M,CAT#32374
JD7286 ORIFICE,OIL,NO AIR

JP3175-03 ORIFICE,STEAM,SS #15

JP3175-11 ORIFICE,STEAM,SS #18

JP3175-04 ORIFICE,STEAM,SS #28

JP3175-01 ORIFICE,STEAM,SS #29

JP3175-06 ORIFICE,STEAM,SS #30

JP3175-12 ORIFICE,STEAM,SS, #31

JP3175-16 ORIFICE,STEAM,SS #35

JP3175-13 ORIFICE,STEAM,SS #37

JP3175-15 ORIFICE,STEAM,SS #39

JP3175-07 ORIFICE,STEAM,SS #41

JP3175-09 ORIFICE,STEAM,SS #46

JP3175-10 ORIFICE,STEAM,SS #48

JP3175-14 ORIFICE,STEAM,SS #50

JP3175-08 ORIFICE,STEAM,SS #54

JP3915-03 ORIFICE,STEAM,STEEL,PLATED,3/8NPT#34
JP1138-B  ORIFICE,VAPOR,TEE,1/2NPT,13/64

JP3915 OUTLET,ASSEMBLY,VAPOR

JP5413-05 OUTLET,BRACKET,1660,4800-C GES

JP2961 OUTLET,COIL,ASSY,760

JP6736-A OUTLET,FITTINGS, TANK,FLOAT

JD2567-16 OVERLOAD,HEATER,0.55AMPS

JD3936-03 OVERLOAD,HEATER,0.78AMPS

JD2567-28 OVERLOAD,HEATER,0.80AMPS

JD2567-17 OVERLOAD,HEATER,0.87AMPS

JD3936-07 OVERLOAD,HEATER,1.13AMPS

JD2567-15 OVERLOAD,HEATER,1.20AMPS

JD2567-02 OVERLOAD,HEATER,1.30AMPS

JD2567-12 OVERLOAD,HEATER,1.56AMPS

JD2567-27 OVERLOAD,HEATER,1.72AMPS

JD3429-02 OVERLOAD,HEATER,1.80AMPS,E-28
JD3429-13 OVERLOAD,HEATER,1.83AMPS,E-29
JD2567-03 OVERLOAD,HEATER,1.94AMPS

JD2567-06 OVERLOAD,HEATER,10.60AMPS

JD3936-32 OVERLOAD,HEATER,11.50AMPS

JD2567-10 OVERLOAD,HEATER,14.00AMPS

JD3936-34 OVERLOAD,HEATER,14.40AMPS

JD3936-36 OVERLOAD,HEATER,16.00AMPS

JD3936-37 OVERLOAD,HEATER,17.4AMPS

JD3936-35 OVERLOAD,HEATER,18.7AMPS

JD2567-26 OVERLOAD,HEATER,18.9AMPS

JD3936-38 OVERLOAD,HEATER,19.9AMPS

JD3936-14 OVERLOAD,HEATER,2.09AMPS

JD3429-03 OVERLOAD,HEATER,2.27AMPS,E-32
JD2567-29 OVERLOAD,HEATER,2.39AMPS

JD3936-16 OVERLOAD,HEATER,2.45AMPS

JD3936-17 OVERLOAD,HEATER,2.76AMPS

JD2567-21 OVERLOAD,HEATER,2.82AMPS

JD2567-19 OVERLOAD,HEATER,21.50AMPS

Website: www.steamjenny.com

15 Toll Free Fax Order Line: (888) 4-JENNYS



Part Number Description Part Number Description

JD3936-39 OVERLOAD,HEATER,22.20AMPS JD8007 PANEL,CONTROL,BOX,JUNCTION,STEEL,PAINTED
JD2567-20 OVERLOAD,HEATER,23.0AMPS JD8511 PANEL,CONTROL,BOX,JUNCTION,STL,PNTD,GES
JD2567-23 OVERLOAD,HEATER,25.4AMPS JP5417 PANEL,CONTROL,COVER,TOP,ST,PAINTED,S1600
JD2567-31 OVERLOAD,HEATER,28.1AMPS JP7419 PANEL,CONTROL,S-1600-C

JD2567-01 OVERLOAD,HEATER,3.00AMPS JP7419-01 PANEL,CONTROL,S-1600-C,OMP

JD3936-19 OVERLOAD,HEATER,3.35AMPS JP5405-05 PANEL,CONTROL,STEEL,PAINTED

JD7716-07 OVERLOAD,HEATER,3.45-3.63 AMPS,SQD#B4.85 JP6650-01 PANEL,CONTROL,STEEL,PAINTED,3100
JD2567-30 OVERLOAD,HEATER,3.50AMPS JP5330-01 PANEL,CONTROL,STEEL,PAINTED,GES,760,1560
JD3429-12 OVERLOAD,HEATER,3.67AMPS,E-41 JP5330-02 PANEL,CONTROL,STEEL,PAINTED,GES,760-C
JD3936-20 OVERLOAD,HEATER,3.79AMPS JP5807-02 PANEL,CONTROL,STL,PNTD,760-C-OEP
JD2567-07 OVERLOAD,HEATER,3.85AMPS JP7203-D PANEL,CONTROL,WELD,ASSY,RI12400

JD2567-24 OVERLOAD,HEATER,4.30AMPS JP5919-03 PANEL,COVER,BACK,ST,PAINTED,760-C-GES
JD3936-21 OVERLOAD,HEATER,4.31AMPS JP5411-01 PANEL,COVER,FRONT,ST,PAINTED,GES,1600-48
JD2567-04 OVERLOAD,HEATER,4.66AMPS JD8013-A PANEL,COVER,FRONT,ST,PAINTED,OMP,CMB,JB
JD3936-22 OVERLOAD,HEATER,4.90AMPS JD8013 PANEL,COVER,FRONT,ST,PAINTED,OMP,HPW,JB
JD3429-09 OVERLOAD,HEATER,4.96AMPS,E-44 JP5415 PANEL,COVER,SIDE,CORNER,LEFT,ST,PAINTED
JD2567-22 OVERLOAD,HEATER,5.00AMPS JP5416 PANEL,COVER,SIDE,CORNER,RIGHT,ST,PAINTED
JD2567-35 OVERLOAD,HEATER,5.53AMPS JP5919 PANEL,COVER,SIDE,GES,760,1000,2000,3000
JD3936-24 OVERLOAD,HEATER,5.67AMPS JP3920-C PANEL,INSTRUCTION,200+,ALUM

JD3936-25 OVERLOAD,HEATER,6.07AMPS JP2978-07 PANEL,INSTRUCTION,760 OEP

JD2567-11 OVERLOAD,HEATER,6.93AMPS JP2978-09 PANEL,INSTRUCTION,760 OEP,W/SWITCH HOLES
JD2567-32 OVERLOAD,HEATER,7.30AMPS JP2978-08 PANEL,INSTRUCTION,760 OMP

JD3936-27 OVERLOAD,HEATER,7.55AMPS JP3920-D PANEL,INSTRUCTION,S200-C,ALUM

JD2567-13 OVERLOAD,HEATER,7.98AMPS JD7775-K  PANEL,JENNY,HPJ,STEEL,PAINTED

JD3936-29 OVERLOAD,HEATER,8.49AMPS JD7775-L  PANEL,JENNY,HPJ,STEEL,PAINTED,EXHAUST
JD3936-30 OVERLOAD,HEATER,9.04AMPS JD8510 PANEL,SUPPORT,COVER,REAR,STEEL,PNTD,GES
JD2567-37 OVERLOAD,HEATER,9.40AMPS JP5213 PANEL,TIE,STRAP

JD3423 OVERLOAD,HEATER,9.74AMPS JD2359-02 PILOT,BURNER,LP,Q314B1019-LP

JD7261 OVERLOAD,HEATER,GE#H377A JD2359-01 PILOT,BURNER,NAT,Q314B1019

JP4605 PACKING,CYLINDER,NEOPRENE JD7008 PIN,COTTER,HAIR,ST,PLTD,0.1480D

JD7064-47 PACKING,GENERAL,#90.2770.00 JP1914-08 PIN,COTTER,STEEL,PLATED,1/8DIAX1-1/2LONG
JD6226-12 PACKING,GENERAL,90.2703.00 JD 875-01 PIN,COTTER,STEEL,PLATED,1/8DIAX1-1/4LONG
JL219-Z  PACKING,PUMP,1-9/640DX5/8X3/8,SINGLERING JD1494 PIN,COTTER,STEEL,PLATED,1/8DIAX3/4LONG
JD2355-Z PACKING,PUMP,3/4IDX1-5/32X3/8 JD 875 PIN,COTTER,STEEL,PLATED,3/16DIAX1-1/2LNG
JL218 PACKING,PUMP,PACKAGE OF 2 JL 218-Z JD7775-J  PIN,LOCK,HANDLE,1/4X1.843LG,W/RING ST.PL

JL 219 PACKING,PUMP,PACKAGE OF 2 JL 219-Z JP6130 PIN,RETAINING,5TH WHEEL

JL219-A  PACKING,PUMP,PACKAGE OF 3 JL 219-Z JD3404-06 PIN,ROD,PISTON,CAT,#16948

JP2542-05 PACKING,PUMP,PKG OF 3 JR1021-34 PIN,ROD,PISTON,GEN,#97-7310-00

JP2603-03 PACKING,PUMP,PKG OF 3 JD1509 PIN,ROLLED,STEEL,PLATED,9/16LX3/160D
JD2355 PACKING,PUMP,PKG OF 3 JD2355-Z JP2688-06 PIN,SPRING,STEEL,5/64DIAX9/16LONG
JP2603-Z PACKING,RING,1-1/8IDX1-5/80DX3/8W JP2687-07 PIN,SPRING,STEEL,PLATED,1/8X9/16

JD3769-01 PAD,MOUNTING,RUBBER JD7867 PIN,SPRING,STEEL,PLATED,5/16DIAX1-1/2L
JP2601-09 PAD,NEOPRENESPONGE,3-1/80DX1/2X1/4THICK JP6580-A  PIN,WRIST,W/GREASE,FTGS

JD3007 PAD,RUBBER,1/2X8X14 JP6580-01 PIN,WRIST,W/O FITTING

JP4334 PAN,DRIP,ASSY,3100&RI2400 JP3251 PISTON&ROD,ASSY,1X1

JP 856 PAN,DRIP,SOLUTION JP6534 PISTON,FUEL,ST,J-55

JD6167-46 PAN,OIL,CAT#43355 JD3404-13 PISTON,MACHINED,ASSY,CAT#28955

JP5214-10 PANEL,3100,GAS ENGINE JP2542-04 PISTON,NIRESIST,1X1

JP5210-10 PANEL,ACCESS,COVER,3100,2100,S-1600 JP3247-01 PISTON,NIRESIST,1-1/8X1-1/8

JP6716 PANEL,COIL,ELCTRC,E300,440V JP4607-03 PISTON,NIRESIST,3/4X3/4

JP6716-P  PANEL,COIL,ELCTRC,E300,440V JP2905-01 PISTON,NIRESIST,5/8X1

JP6745 PANEL,COIL,ELCTRC,E300,550V JP6535 PISTON,NIRESIST,SOLUTION,J-55

JP7714-N  PANEL,COIL,ELECTRIC,230V,ASSY,N/S,PARTS JP3247R01 PISTON,PUMP,NIRESIST,CASTING

JP3364-H PANEL,COIL,ELECTRIC,E350,208V,ASSY,NS JV 127 PISTON,VALVE,UNLOADER

JP3365-E PANEL,COIL,ELECTRIC,E350,220V,ASSY,NS JV 147 PISTON,VALVE,UNLOADER

JP3364-E PANEL,COIL,ELECTRIC,E350,440V,ASSY,NS JV 164 PISTON,VALVE,UNLOADER

JP3364-C PANEL,COIL,ELECTRIC,E350,440V,ASSY,0S JV 185 PISTON,VALVE,UNLOADER

JP3342 PANEL,COIL,ELECTRIC,E350,550V,ASSY,0S JD2746-02 PLATE,ADAPTER,SUNTEC,#160153

JP4521-B  PANEL,COIL,ELECTRIC,E850,380V,ASSY,0S JP3286-01 PLATE,BRASS,COVER,PUMP,FUEL

JP4514-B  PANEL,COIL,ELECTRIC,E850,440V,ASSY,NS JP2697 PLATE,BURNER,ASSY,J-II-C&J-I

JP4514-E  PANEL,COIL,ELECTRIC,E850,440V,ASSY,NS JP6389-03 PLATE,BURNER,LARGE,HOLE

JP4514-A  PANEL,COIL,ELECTRIC,E850,440V,ASSY,0S JB1003 PLATE,BURNER,STEEL,14GAUGEX5.25DIAMETER
JP3342-05 PANEL,COIL,ELECTRIC,SS,PAINTED,E350,N/S JP6389-01 PLATE,BURNER,THERMOCOUPLE,HOLE,CSA
JP6935 PANEL,COIL,ELECTRIC,ST,PAINTED,E350,EXP JL 339 PLATE,COIL,BAFFLE,STEEL,60DX14GAUGE
JP3342-04 PANEL,COIL,ELECTRIC,ST,PAINTED,E350,N/S JD8514 PLATE,COVER,PANEL,CONT,BOX,JCT,CMB,GES
JP3334-A PANEL,COIL,ELECTRIC,ST,PAINTED,E350,0Z JD8513 PLATE,COVER,PANEL,CONT,BOX,JCT,HPW,GES
JP4515-02 PANEL,COIL,ELECTRIC,STEEL,PAINTD,E850,NS JP7301-03 PLATE,COVER,PANEL,CONTROL

JP6703-B  PANEL,COIL,ST,PNTD,W/BRACKET,ASSY,E-300C JD8009-A PLATE,COVER,PANEL,CONTROL,BOX,JNCTN,CMB
JP6918-06 PANEL,CONTROL,1000-C,760-C,RS JB2004 PLATE,COVER,SLOT,STEEL,PLATED,18GAX1X2.5
JP6918-03 PANEL,CONTROL,760-C,1000-C,ES JP7664 PLATE,ENGINE,MOUNTING,CPW1530

JP7303 PANEL,CONTROL,ASSY,WELD,ASSY JP7652 PLATE,MOTOR,CPW1020

JP5405 PANEL,CONTROL,BLANK,ST,PAINTED,3100-GES JP7000-03 PLATE,MOUNTING,BOX,JUNCTION,10X10
JP6705-01 PANEL,CONTROL,BLANK,STEEL,PAINTED,E-300C JP7000-01 PLATE,MOUNTING,BOX,JUNCTION,6X6X4

Website: www.steamjenny.com

16

Toll Free Fax Order Line: (888) 4-JENNYS




Part Number Description Part Number Description

JP7000-06 PLATE,MOUNTING,BOX,JUNCTION,6X6X4,W/STUD JD7151 PLUG,SOCKET,HEX,BRASS,3/8NPT
JP1416-04 PLATE,MOUNTING,COUPLER,TRAILER JD6017 PLUG,SQUARE HEAD,STEEL,PLATED,1NPTM
JP6706-03 PLATE,MOUNTING,E-300-C JD1335-01 PLUG,TRISURE,STAINLESS STEEL,2NPTM
JD7174 PLATE,MOUNTING,ENGINE,GASOLINE,CAT,2SF JD1339-01 PLUG,TRISURE,STAINLESS STEEL,3/4NPTM
JP7043-01 PLATE,MOUNTING,ENGINE,ST,PAINTED,S-1600C JD1335 PLUG, TRISURE,STEEL,PLATED,2NPTM
JP7410 PLATE,MOUNTING,ENGINE,ST,PLTD,CPW1020 JD1339 PLUG, TRISURE,STEEL,PLATED,3/4NPTM
JD8512 PLATE,MOUNTING,PANEL,CONT,BOX,JCT,ST,GES JV 128 PLUG,VALVE,UNLOADER

JD8016 PLATE,MOUNTING,PUMP,STEEL,PAINTED,JB JV 148 PLUG,VALVE,UNLOADER

JP7176-07 PLATE,MOUNTING,PUMP,UPPER,HPW JV 186 PLUG,VALVE,UNLOADER

JB2010 PLATE,MOUNTING,ST,PAINTD,ADAPTER,CHASSIS JP7314 PLUNGER

JP6664 PLATE,MOUNTING,STEEL,PAINTED JD7147-28 PLUNGER,CERAMIC,CAT#45847
JP4720-02 PLATE,MOUNTING,SWITCH,PRESSURE JD7549-27 PLUNGER,CERAMIC,CAT#45848

JD2136 PLATE,NAME,ALUM,OIL-FIRED,CSA JD7701-27 PLUNGER,CERAMIC,MODEL 45

JD2136-C PLATE,NAME,ALUM,OIL-FIRED,CSA JP3282-07 PLUNGER,PUMP,FUEL

JD3456 PLATE,NAME,ALUM,PRINT,BLACK,4X4 JP3148-09 PLUNGER,VALVE,SOLENOID

JD2124-01 PLATE,NAME,INDICATING,ON-OFF,15/32HOLE JD 942-22 POINTS,CONTACT,MAGNETO,CCW
JP5939 PLATE,SCANNER,STEEL,PAINTED,ASSY,760GESR JD 942-12 POINTS,CONTACT,MAGNETO,CW

JB1009 PLATE,STEEL,PLATED,DISC,SOLID,3-3/80D JP7233 POT,FIRE,RI2400

JD2892-04 PLATE,SWITCH,ALUMINUM,ETCHED JL 133 POT,FIRE,SS

JD1321 PLUG,BUTTON,STEEL,PLATED,11/16 JD3088 PREVENTER,BACKFLOW,3/4GARDEN HOSE
JD1191 PLUG,BUTTON,STEEL,PLATED,7/8 JD3692-26 PROTECTOR,CRANKSHAFT,END (CAT#25130)
JD8622 PLUG,COUPLING,QUICK,AIR,BR,1/4NPTF JD3949-17 PROTECTOR,SHAFT,GIANT,#07197
JD7147-05 PLUG,DRAIN,1/2NPT,CAT#44842(RPL#2SF20EIl) JD7986 PULLEY,ALUM,SG,4.040DX.5011D,(A39X1/2G)
JP7310 PLUG,DRAIN,OIL,ENGINE,GASOLINE,HONDA JD6250 PULLEY,ALUMINUM,SG,60DX24MMID
JD2963 PLUG,ELECTRIC,115V,20A,2POLE,3WIRE JD3789-02 PULLEY,CI,DG,2-1/2X1-1/8ID

JD3696-02 PLUG,ELECTRIC,600V,30A,3POLE ,4WIRE JD3789 PULLEY,CI,DG,2AK25,2-1/20DX11D

JD7577 PLUG,ELECTRIC,600V,60A,3POLE ,4WIRE,HAZ,L JD7725 PULLEY,CI,DG,2AK30,3/4 ID

JD3949-02 PLUG,FILL,OIL,GIANT,#07181 JD3914-02 PULLEY,CI,DG,30DX1ID

JP3921-G PLUG,FUSIBLE,240 DEGREE F,PKG OF 6 JD3904-35 PULLEY,CI,DG,TH,2AK30H,2.6PDA
JP3921-A PLUG,FUSIBLE,340 DEGREE F,PKG OF 6 JD3904-08 PULLEY,CI,DG,TH,2AK39H,3.5PDA,3.16PD3L
JP3921-E  PLUG,FUSIBLE,380 DEGREE,PKG OF 6,R12400 JD3904-24 PULLEY,CI,DG,TH,2AK51H,4.7PDA,4.36PD3L
JP3921-F PLUG,FUSIBLE,ASSY,240 DEGREE F,HPW JD3904-23 PULLEY,CI,DG,TH,2AK54H,5.0PDA,4.66PD3L
JD2648 PLUG,HEAD,HEX,STEEL,PLATED,1/2NPT JD3904-21 PULLEY,CI,DG,TH,2AK61H,5.7PDA,5.36PD3L
JD1538 PLUG,HEAD,SOCKET,HEX,NYLCK,STEEL,1/16NPT JD3904-39 PULLEY,CI,DG,TH,2AK64H,6.0PDA,5.66PD3L
JD2780 PLUG,HEAD,SOCKET,HEX,SS,1/2NPT JD3903-L PULLEY,CI,DG,TH,2AK74H,7.0PDA,6.66PD3L
JD 760 PLUG,HEAD,SOCKET,HEX,STEEL,PLATED,1/2NPT JD3904-28 PULLEY,CI,DG,TH,2AK81H,7.7PDA

JD 679 PLUG,HEAD,SOCKET,HEX,STEEL,PLATED,1/4NP JD3904-09 PULLEY,CI,DG,TH,2AK84H,8.0PDA,7.66PD3L
JD 877 PLUG,HEAD,SOCKET,HEX,STEEL,PLATED,3/4NP JD3904-34 PULLEY,CI,DG,TH,2AK94H,9.0PDA,8.66PD3L
JD1326 PLUG,HEAD,SOCKET,HEX,STEEL,PLATED,3/8NP JD3904-K PULLEY,CI,DG,TH,2BK100H,9.0PDA,9.4PDB
JD 679-02 PLUG,HEAD,SQUARE,BRASS,1/4NPT JD3904-05 PULLEY,CI,DG,TH,2BK47H,3.7PDA,4.1PDB
JD 795 PLUG,HEAD,SQUARE,STEEL,PLATED,3/8NPTM JD3904-10 PULLEY,CI,DG,TH,2BK55H,4.5PDA4.9PDB
JD3856-01 PLUG,HOLE,PLASTIC,BLACK,1 JD3904-61 PULLEY,CI,DG,TH,2BK57H,4.7PDA,5.1PDB
JD3856-02 PLUG,HOLE,PLASTIC,BLACK,1/2 JD3904-H PULLEY,CI,DG,TH,2BK60H,5.0PDA,5.4PDB
JD3856-03 PLUG,HOLE,PLASTIC,BLACK,1-1/4 JD3904-71 PULLEY,CI,DG,TH,2BK62H,5.2PDA,5.6PDB
JD6135 PLUG,HOLE,PLASTIC,BLACK,1-3/16 JD3904-72 PULLEY,CI,DG,TH,2BK70H,6.0PDA,6.4PDB
JD2369-03 PLUG,HOLE,PLASTIC,BLACK,3 JD3904-66 PULLEY,CI,DG,TH,2BK80H,7.0PDA,7.4PDB
JD3496 PLUG,HOLE,PLASTIC,BLACK,4 JD3904-56 PULLEY,CI,DG,TH,2BK90H,8.0PDA,8.4PDB
JD3376 PLUG,HOLE,PLASTIC,BLACK,5/16DIA. JD3904-70 PULLEY,CI,FG,4BG34X1,3.4DPA

JD3856 PLUG,HOLE,PLASTIC,BLACK,7/8 JJ 179-A  PULLEY,CI,IDLER,MAGNETO,4-1/20D
JD7553-32 PLUG,MANIFOLD,QUINTUPLEX PUMPS JD2145-A  PULLEY,CI,SG,120DX5/8ID

JD7000 PLUG,PIPE,BRASS,HEX HEAD,3/4NPT JD2145 PULLEY,CI,SG,120DX5/8ID (5-8MM)
JD1335-02 PLUG,PVC,XH,2NPTM JD3914 PULLEY,CI,SG,2-3/41D (3L-4L)

JD3103-G PLUG,QUICK CONNECT,BRASS,HOSE,GARDEN,3/4 JD3903-02 PULLEY,CI,SG,30DX1-1/8ID

JD7997 PLUG,QUICK COUPL,SW,3650PSI,300F,1/4NPTF JD3914-03 PULLEY,CI,SG,50DX5/8ID

JD7997-B PLUG,QUICK COUPL,SW,3650PSI,300F,3/8NPTM JD3964 PULLEY,CI,SG,AK39,3-3/40DX5/8ID
JD3103-02 PLUG,QUICK COUPLING,BRASS,1/2NPTF JD3624 PULLEY,CI,SG,AK49,4-3/40DX5/8ID 4L
JD3103-12 PLUG,QUICK COUPLING,BRASS,1/2NPTM JD3904-38 PULLEY,CI,SG,BK27,7/8I1D

JD3103-03 PLUG,QUICK COUPLING,BRASS,1/4NPTF JD3904-29 PULLEY,CI,SG,BK34,3-1/20DX1-1/8ID
JD3103-04 PLUG,QUICK COUPLING,BRASS,1/4ANPTM JD3904-30 PULLEY,CI,SG,BK34,3-1/20DX7/8ID
JD7778-A PLUG,QUICK COUPLING,BRASS,1/4ANPTM,GAS JD3904-43 PULLEY,CI,SG,BK36,1-1/8ID

JD3103-05 PLUG,QUICK COUPLING,BRASS,3/8NPTF JD3904-15 PULLEY,CI,SG,BK45,1-1/8ID

JD3103-11 PLUG,QUICK COUPLING,BRASS,3/8NPTM JD3904-45 PULLEY,CI,SG,BK55,1-1/8ID

JD3103-d PLUG,QUICK COUPLING,STAINLESS,1/2NPTF JD3903-Z PULLEY,CI,SG,TH,AK30H,2.8PDA,2.46PD3L
JD3103-H PLUG,QUICK COUPLING,STAINLESS,1/2NPTM JD3914-04 PULLEY,CI,SG,TH,AK32H,3.0PDA,2.66PD3L
JD3103-F PLUG,QUICK COUPLING,STAINLESS,1/4NPTF JD3904-12 PULLEY,CI,SG,TH,AK44H,4.0PDA,3.66PD3L
JD3103-E  PLUG,QUICK COUPLING,STAINLESS,1/4NPTM JD3904-01 PULLEY,CI,SG,TH,AK46H,4.2PDA,3.86PD3L
JD3103-A PLUG,QUICK COUPLING,STAINLESS,3/8NPTF JD3904-03 PULLEY,CI,SG,TH,AK54H,5.0PDA,4.66PD3L
JD3103-B PLUG,QUICK COUPLING,STAINLESS,3/8NPTM JD3903-D PULLEY,CI,SG,TH,AK56H,5.2PDA,4.86PD3L
JD3103-14 PLUG,QUICK COUPLING,STEEL PLATED,1/2NPTF JD3904-51 PULLEY,CI,SG,TH,AK59H,5.5PDA,5.16PD3L
JD3103-15 PLUG,QUICK COUPLING,STEEL PLATED,1/2NPTM JD3904-33 PULLEY,CI,SG,TH,AK61H,5.7PDA,5.36PD3L
JD3103-06 PLUG,QUICK COUPLING,STEEL PLATED,3/8NPTF JD3903-E PULLEY,CI,SG,TH,AK64H,6.0PDA,5.66PD3L
JD2648-01 PLUG,SOCKET,HEX,BRASS,1/2NPT JD3904-02 PULLEY,CI,SG,TH,AK66H,6.2PDA,5.86PD3L
JD7243 PLUG,SOCKET,HEX,BRASS,1/8NPT JD3904-65 PULLEY,CI,SG,TH,AK71H,6.7PDA,6.36PD3L

Website: www.steamjenny.com

17

Toll Free Fax Order Line: (888) 4-JENNYS



Part Number Description Part Number Description

JD3904-06 PULLEY,CI,SG,TH,AK74H,7.0PDA,6.66PD3L JP3200-G PUMP,DUPLEX,ASSY,5/8X1-1/8PSTN,1-1/2STRK
JD3904 PULLEY,CI,SG,TH,AK79H,7.5PDA,7.16PD3L JP3204-R PUMP,DUPLEX,ASSY,5/8X1PISTON,1-1/2STROKE
JD3904-11 PULLEY,CI,SG,TH,AK84H,8.0PDA,7.66PD3L JP5235-B  PUMP,DUPLEX,FINAL,3100

JD3904-67 PULLEY,CI,SG,TH,AK94H,9.0PDA,8.66PD3L JP7738 PUMP,FUEL,ASSY,JENNY-BURNER

JD3904-42 PULLEY,CI,SG,TH,BK47H,3.7PDA,4.1PDB JD8305 PUMP,MOUNTING&FITTINGS,ASSY,3040&3540
JD3904-40 PULLEY,CI,SG,TH,BK55H,4.5PDA,4.9PDB JD7201 PUMP,OIL,FUEL, 120V, TAISAN

JD3904-46 PULLEY,CI,SG,TH,BK57H,4.7PDA,5.1PDB JD3306-A PUMP,OIL,FUEL,SINGLESTAGE,3GPH,1725RPM
JD3904-14 PULLEY,CI,SG,TH,BK62H,5.2PDA,5.6PDB JD3306-D PUMP,OIL,FUEL,SINGLESTAGE,3GPH,3450RPM
JD3903-S PULLEY,CI,SG,TH,BK65H,5.5PDA,5.9PDB JD3306-F PUMP,OIL,FUEL,SNGLSTGE,3GPH,3450RPM,24V
JD3904-69 PULLEY,CI,SG,TH,BK70H,6.0PDA,6.4PDB JD3806-A PUMP,PISTON,1000PSI,2.2GPM,HYPRO
JD3904-26 PULLEY,CI,SG,TH,BK72H,6.2PDA,6.6PDB JD7553 PUMP,PLUNGER,QUINTUPLEX,3000PSI,5.0GPM
JD3903-U PULLEY,CI,SG,TH,BK75H,6.5PDA,6.9PDB JD7554 PUMP,PLUNGER,QUINTUPLEX,3000PSI,5.0GPM
JD3904-41 PULLEY,CI,SG,TH,BK85H,7.5PDA,7.9PDB JD7813 PUMP,PLUNGER, TRIPLEX,1500PSI,2.11GPM
JD3904-37 PULLEY,CI,SG,TH,BK90H,8.0PDA,8.4PDB JD7813-A PUMP,PLUNGER,TRIPLEX,1500PSI,2.11GPM
JD3890 PULLEY,CI,SG,VARIABLE,7/8ID JD7814-A PUMP,PLUNGER,TRIPLEX,1500PSI,3.0GPM,GEN
JP3571-02 PULLEY,CI,SG,VP,2.50DX5/8ID JD7494 PUMP,PLUNGER, TRIPLEX,1600PSI,3.0GPM,AR
JP3340 PULLEY,CI,SG,VP,3.150DX1/2ID JD7956 PUMP,PLUNGER, TRIPLEX,1800PSI,2.11GPM,AR
JD3839-A PULLEY,CI,TG,TH,3BK80H,7.0PDA,7.4PDB JD7493 PUMP,PLUNGER, TRIPLEX,1800PSI,2.1GPM,AR
JD3904-75 PULLEY,CI,TG,TH,3BK90H,8.0PDA,8.4PDB JD7147-E  PUMP,PLUNGER,TRIPLEX,2000PSI,2.0GPM,HI-T
JD3296 PULLEY,CRS,DG,20DX5/8ID JD7198 PUMP,PLUNGER, TRIPLEX,2000PSI,2.2GPM,CAT
JD3445 PULLEY,CRS,DG,20DX5/8ID JD7496 PUMP,PLUNGER, TRIPLEX,2000PSI,3.0GPM,AR
JD3486 PULLEY,CRS,DG,20DX7/8ID JD7199 PUMP,PLUNGER, TRIPLEX,2000PSI,3.0GPM,CAT
JD3747 PULLEY,CRS,DG,2-1/20DX5/8ID (3L-4L) JD7548 PUMP,PLUNGER, TRIPLEX,2000PSI,3.0GPM,CAT
JD3477 PULLEY,CRS,DG,2-1/80DX5/8ID JD7806 PUMP,PLUNGER, TRIPLEX,2000PSI,3.0GPM,CAT
JD6010 PULLEY,CRS,DG,2-3/40D X 7/8ID JD7675 PUMP,PLUNGER, TRIPLEX,2000PSI,3.18GPM,GIA
JD3745 PULLEY,CRS,DG,2-3/40DX5/8ID JD7412 PUMP,PLUNGER, TRIPLEX,2000PSI,4.5GPM,GEN
JD3730 PULLEY,CRS,DG,2-5/160DX5/8ID (3L4L) JD7497 PUMP,PLUNGER, TRIPLEX,2200PSI,4.0GPM,AR
JD3730-03 PULLEY,CRS,DG,2-5/160DX5/8ID (3L-4L) JD7955 PUMP,PLUNGER, TRIPLEX,2200PSI,4.0GPM,AR
JD6009 PULLEY,CRS,DG,2-5/160DX7/8ID JD7457 PUMP,PLUNGER, TRIPLEX,2500PSI,10.0GPM,GIA
JD3323 PULLEY,CRS,DG,2-7/320DX5/8ID JD7957 PUMP,PLUNGER, TRIPLEX,2500PSI,2.9GPM,AR
JD3746 PULLEY,CRS,DG,2-9/640DX5/8ID JD7812 PUMP,PLUNGER, TRIPLEX,2500PSI,4.2GPM,GEN
JP7196-10 PULLEY,CRS,DG,3.85X20MMID JD7700 PUMP,PLUNGER, TRIPLEX,2500PS|,4.2GPM,GIA
JP7178-04 PULLEY,CRS,DG,3-3/40DX5/8ID JD6167 PUMP,PLUNGER, TRIPLEX,2500PSI,4.5GPM,CAT
JD6021 PULLEY,CRS,DG,4-11/320DX7/8ID (3L-4L) JD7479 PUMP,PLUNGER, TRIPLEX,2500PSI,5.9GPM,HYPR
JD6021-03 PULLEY,CRS,DG,4-5/160DX1-1/8ID(3L-4L) JD7549 PUMP,PLUNGER, TRIPLEX,3000PSI,4.0GPM,CAT
JP7196-11 PULLEY,CRS,SD,3.750DX1-3/8ID JD7550 PUMP,PLUNGER, TRIPLEX,3000PSI,4.0GPM,CAT
JD3233 PULLEY,CRS,SG,1-1/2DIAX5/161D(3L BELT) JD7791 PUMP,PLUNGER, TRIPLEX,3000PSI,4.0GPM,GEN
JD3209 PULLEY,CRS,SG,1-1/20DX1/2ID JD7869 PUMP,PLUNGER, TRIPLEX,3000PSI,4.0GPM,GEN
JD3233-01 PULLEY,CRS,SG,1-1/20DX7/16ID (3L BELT) JD7506 PUMP,PLUNGER, TRIPLEX,3000PSI,4.0GPM,HY-T
JD3233-03 PULLEY,CRS,SG,1-3/40DX5/16ID (3L BELT) JD7063 PUMP,PLUNGER, TRIPLEX,3000PSI,5.6GPM,GEN
JD2891 PULLEY,CRS,SG,1-3/40DX5/8ID (7MM) JD7808 PUMP,PLUNGER, TRIPLEX,3200PSI,4.0GPM,CAT
JD3314 PULLEY,CRS,SG,1-3/40DX7/16ID JD7500 PUMP,PLUNGER, TRIPLEX,3500PSI,4.0GPM,AR
JD3233-04 PULLEY,CRS,SG,1-3/40DX1/2ID(3L BELT)W/KE JD7501 PUMP,PLUNGER, TRIPLEX,3600PSI,5.5GPM,AR
JD3308 PULLEY,CRS,SG,1-5/80DX5/8ID JD7502 PUMP,PLUNGER, TRIPLEX,4000PSI,4.5GPM,AR
JP3912-06 PULLEY,CRS,SG,1-5/80DX5/8ID JP7428-B  PUMPW/FITTINGS,ASSY,HPW,803

JD6021-02 PULLEY,CRS,SG,20DX1-1/8ID JP7309 PUMP,W/FITTINGS,ASSY,HPW2040

JD2427 PULLEY,CRS,SG,20DX5/8ID JP7010 RACK,GUN&HOSE,ASSY

JP6522 PULLEY,CRS,SG,20DX5/8ID JP7653 RACK,HOSE&DROP,CORD,CPW,1020

JD2661 PULLEY,CRS,SG,20DX5/8ID (7TMM) JD7556 RAIL,CHASSIS,CPW,PLTD

JP7196-05 PULLEY,CRS,SG,20DX63/641D JD7768-A RAIL,DIN,STL,PLTD,TAIL,DOVE,1 3/8X5/16
JD7835 PULLEY,CRS,SG,2.20DX1/2ID,W/KEYWAY JD7152 RAIL,FRAME,10DX18GA,PER DWG(CHROMEPLTD)
JP6585-01 PULLEY,CRS,SG,2-1/20DX5/8ID JD2974 RECEPTACLE,AMPHENOL,5 PIN

JP2629-01 PULLEY,CRS,SG,2-1/20DX5/8ID(REPLCMNT) JD7021-01 RECEPTACLE,CLIPON,STEEL,PLATD,DARCROTIZE
JD2661-01 PULLEY,CRS,SG,2-1/40DX5/8ID JD3696-06 RECEPTACLE,ELECTRIC,125V,20A,2POLE-3WIRE
JP2910-02 PULLEY,CRS,SG,2-1/40DX5/8ID JD3696-03 RECEPTACLE,ELECTRIC,600V,30A,3POLE 4WIRE
JP6477 PULLEY,CRS,SG,2-1/80DX5/8ID JP7733-01 RECEPTICAL,CLIP-ON,STEEL,DACROTIZED
JD3904-18 PULLEY,CRS,SG,2-3/160DX7/8ID(3L) JP7711 REEL,HOSE,360DEG PIVOT,4000PSI,3/8SW,13
JD6021-04 PULLEY,CRS,SG,2-3/80DX1-3/8ID JP7711-A  REEL,HOSE,360DEG PIVOT,4000PSI,3/8SW,16
JP2629-02 PULLEY,CRS,SG,2-7/160DX3/41D JP7711-B  REEL,HOSE,360DEG PIVOT,5000PSI,3/8SW,13
JP2679-04 PULLEY,CRS,SG,2-7/80DX5/8ID JP7711-C  REEL,HOSE,360DEG PIVOT,5000PSI,3/8SW,16
JP3912-07 PULLEY,CRS,SG,2-9/320DX1/2ID JP7709-B  REEL,HOSE,NON-PIVOT,5000PSI,3/8SW,SS,13
JP3912-08 PULLEY,CRS,SG,2-9/320DX5/8ID JP7709-C REEL,HOSE,NON-PIVOT,5000PSI,3/8SW,SS,16
JP7196-02 PULLEY,CRS,SG,3.750DX1-1/8ID JD2366-C REGULATOR,CONVERSION,LP TO NAT,ROBERTSHW
JP7196-08 PULLEY,CRS,SG,3.850DX20MMID JD3845-D REGULATOR,CONVERSION,NAT-TO-LP(HONEYWEL)
JD2380 PULLEY,CRS,TG,1-1/2X5/8ID (5MM-3GROOV) JD2366-04 REGULATOR,CONVERSION,NAT-TO-LP,ROBERTSHW
JD3730-01 PULLEY,CRS,TG,20DX5/8ID JD2366-06 REGULATOR,CONVERSION,NAT-TO-LPWHITERDGR
JD6100 PULLEY,IDLER,FLAT,3-1/40DX3/8 JD6008-A REGULATOR,GAS,PILOT,LP,5.5-12,RV10,1/8

JE 875-A PULLEY,SM,SG,120DX5/8ID(WGHT.HUB SIDE) JD6008 REGULATOR,GAS,PILOT,NAT,3-6,RV10,1/8
JD8634 PUMP,COMPRESSOR,AIR,KIT JD3077-A REGULATOR,GAS,PSI,LP,5-12WC,1-1/4NPTF
JP3245 PUMP,DPLX,ASSY,1-1/8X1-1/8,2STROKE JD3024-A REGULATOR,GAS,PSI,LP,5-12WC.1NPTF
JP3268-B PUMP,DPLX,ASSY,1X1,1-1/2STROKE JD3024 REGULATOR,GAS,PSI,NAT,3-8WC,1NPTF
JP3268-C PUMP,DPLX,ASSY,1X1,X1-1/4STROKE JD3077 REGULATOR,GAS,PSI,NAT,4-8WC,1-1/4NPTF
JP3230-R PUMP,DPLX,ASSY,5/8X1,1-1/4STROKE JD7228 REGULATOR,PRESSURE,WATER,INLET,IN-LINE

Website: www.steamjenny.com

18

Toll Free Fax Order Line: (888) 4-JENNYS




Part Number Description Part Number Description

JD6114 REGULATOR,WATER,PSI,10-125(NO.26A,3/8NP JD5016 RING,0,BUNA-N,3/40DX5/8IDX1/16 THK
JD2195-12 REJECTOR,METER,COIN,#58-46,25 JD5012 RING,0,BUNA-N,3/80DX1/2IDX1/16 THK
JD2195-11 RELAY,2P,25A,120V JD3285 RING,O,BUNA-N,3-3/40DX3-3/8IDX3/16 THK
JD3152 RELAY,DELAY,TIME,45SEC,115V JD5115 RING,0,BUNA-N,7/80DX11/161D3/32THK
JD3152-B RELAY,DELAY,TIME,45SEC,230V,R12400 JD3750-30 RING,0,BUNA-N,70DUROMETER,GERNI
JD3049 RELAY,DELAY,TIME,FIXED,120V JD3692-22 RING,0,BUNA-N,BEARINGCASE,CAT#26536
JD7819 RELAY,DP,DT,24VAC JD7147-04 RING,0,BUNA-N,CAT#14179

JD7651-20 RELAY,OVERLOAD,PLUG-IN,3PH,12-37AMPS JD3404-33 RING,0,BUNA-N,PUMP,CAT,#23172
JD7651-18 RELAY,OVERLOAD,PLUG-IN,3PH,14-45AMPS JD3404-09 RING,0,BUNA-N,PUMP,CAT,#25392
JD3422-A RELAY,OVERLOAD,THERMAL,OPEN,3P,30A JD7064-16 RING,0,GENERAL,#90.3841.00

JD7651-11 RELAY,OVERLOAD,THERMAL,PLUG IN,7.5-11AMP JD7064-03 RING,0,GENERAL,#90.3859.00

JD7651-02 RELAY,OVERLOAD,THERMAL,PLUG-IN,0.63-1.0A JD7064-45 RING,0,GENERAL,#90.3885.00

JD7651-03 RELAY,OVERLOAD,THERMAL,PLUG-IN,1.0-1.4A JD7064-39 RING,0,GENERAL,#90.4131.00

JD7651-29 RELAY,OVERLOAD,THERMAL,PLUG-IN,1.0-1.6A JD7675-21 RING,0,GIA 08443

JD7651-04 RELAY,OVERLOAD,THERMAL,PLUG-IN,1.4-1.8A JD7553-33 RING,O,GIANT#07035

JD7651-05 RELAY,OVERLOAD,THERMAL,PLUG-IN,1.7-2.4A JD3961-22 RING,0,JS#430023

JD7651-12 RELAY,OVERLOAD,THERMAL,PLUG-IN,10-14AMPS JD3961-43 RING,0,JS#430044

JD7651-34 RELAY,OVERLOAD,THERMAL,PLUG-IN,10-16A JD7147-54 RING,O,PLUNGER,,RETAINER,CAT#14190
JD7651-13 RELAY,OVERLOAD,THERMAL,PLUG-IN,13-19AMPS JD6130-04 RING,O,RETAINER,HYPRO,#1830-56
JD7651-14 RELAY,OVERLOAD,THERMAL,PLUG-IN,15-25AMPS JD6167-44 RING,O,RETAINER,PLUNGR,BUNA-N,CAT#17399
JD7651-35 RELAY,OVERLOAD,THERMAL,PLUG-IN,16-24A JD6167-49 RING,O,SEAT,VALVE,BUNA-N,CAT#43358
JD7651-36 RELAY,OVERLOAD,THERMAL,PLUG-IN,18-30A JD3949-38 RING,O,SEAT,VALVE,GIANT#06015
JD7651-06 RELAY,OVERLOAD,THERMAL,PLUG-IN,2.2-3.1A JD7726 RING,O,VITON,.6900DX.484IDX.104THK,QC
JD7651-31 RELAY,OVERLOAD,THERMAL,PLUG-IN,2.4-4A JD3102-E  RING,O,VITON,QUICK CONNECT,1/4
JD7651-08 RELAY,OVERLOAD,THERMAL,PLUG-IN,3.5-5.0A JD7147-82 RING,O,VITON,RETANR,SEAT,BALL,CAT#33504
JD7651-37 RELAY,OVERLOAD,THERMAL,PLUG-IN,30-45A JB2015 RING,RETAINER,EXTERIOR,ST,1/2
JD7651-16 RELAY,OVERLOAD,THERMAL,PLUG-IN,32-50AMPS JD2861 RING,RETAINER,EXTERIOR,ST,5/8
JD7651-09 RELAY,OVERLOAD,THERMAL,PLUG-IN,4.5-6.5A JD3154 RING,RETAINING,E TYPE

JD7651-32 RELAY,OVERLOAD,THERMAL,PLUG-IN,4-6A JD3949-32 RING,SUPPORT,20MM,GIANT#07209
JD7651-33 RELAY,OVERLOAD,THERMAL,PLUG-IN,6-10A JD3949-49 RING,SUPPORT,REAR,SLEEVE,V,GIANT#07040
JD7651-10 RELAY,OVERLOAD,THERMAL,PLUG-IN,6-8.5AMPS JD6033 RIVET,POP,STEEL,3/16DIAMETERX5/8LONG
JD3037-02 RELAY,PILOT,PLUG-IN(TTT NO.A100G564,MAN) JD7675-16 ROD,CONNECTING,(GIANT)

JD7043 RELAY,SAFETY,SOLID STATE,120V,10A JD7549-19 ROD,CONNECTING,CAT,#45572

JP7115 RELAY,SP,ST,240V,60/50,HZ JD7486-C ROD,CONNECTING,HYPRO,0500-8800-A
JB2006 RETAINER,BEARING,ALUMINUM,BAND,AIR JP3254-01 ROD,CONNECTING,LARGE,HOLE

JP7021 RETAINER,BUSHING,SPLIT,HUB JP3254 ROD,CONNECTING,SMALL,HOLE,PUMP,JENNY
JD7063-43 RETAINER,PACKING,GEN,47.0805.70 JD7171-02 ROD,CRS,PLTD,1/2DIAX12-1/2

JD7064-46 RETAINER,PACKING,GEN69.0800.70 JD3002 ROD,FLOAT&NUT,ASSY

JD3404-15 RETAINER,PISTON,PUMP,CAT,#22023 JD1416-02 ROD,FLOAT,BENT,BRASS,1/4X5-5/8LONG
JD7021-02 RETAINER,PUSH ON,SS,PASSIVATED JD3002-01 ROD,FLOAT,BENT,BRASS,1/4X8LONG
JP7733-02 RETAINER,SCREW,PHILLIPS,HEAD,N JD2477 ROD,FLOAT,STRAIGHT,BRASS,1/4X12LONG
JD7147-39 RETAINER,SPRING,VALVE,CAT#44565 JD1347-01 ROD,FLOAT,STRAIGHT,BRASS,1/4X7LG
JD3404-38 RETAINER,SPRING,VALVE,PUMP,CAT #22841 JP6183 ROD,FLOAT,STRIGHT,BRASS,1/4X2-1/2LONG
JD6167-53 RETAINER,SPRING,VALVE,PVDF,CAT#44565 JD2735 ROD,LIGHTER,HANDY,GES UNITS
JD3961-47 RETAINER,VALVE,JS#430048 JD3404-07 ROD,PISTON,ASSY,CAT,#25395

JD7064-17 RING,ANTI-EXTRUSION,GENERAL#96.7555.00 JD3692-04 ROD,PISTON,ASSY,CAT,#27981

JD7259 RING,BACK-UP,GIANT#12525 JR1021-31 ROD,PISTON,GEN#,51-0500-56

JP6497 RING,BACKUP,J-55 JD 551 SCREW,CAP,HEX HD,GR5,ST,PL,1/4-20X3/4
JD6167-43 RING,BACK-UP,PLUNGER,RETAINER,CAT#43235 JD 491 SCREW,CAP,HEX HD,GR5,ST,PL,5/16-18X2-1/2
JD7147-58 RING,BACK-UP, TEFLON,CAT#107675 JD7147-43 SCREW,CAP,HEX HD,GR5,ST,PL,M8X75,CAT
JD7147-53 RING,BACK-UP, TEFLON,CAT#20184 JD6220 SCREW,CAP,HEX HD,ST,PL,1/2-13X2-1/4
JD6167-48 RING,BACK-UP, TEFLON,CAT#48361 JD7585 SCREW,CAP,HEX HD,ST,PL,1/2-20X1/2
JD7549-15 RING,BUNA-N,GUAGE,OIL,CAT#14037 JD 552 SCREW,CAP,HEX HD,ST,PL,1/4-20X1
JD3256 RING,CASING,COIL,SS,18-7/80DX9-15/161D JD 550 SCREW,CAP,HEX HD,ST,PL,1/4-20X1/2
JD3017 RING,CASING,COIL,SS,22-1/40DX9-15/161D JD2118-01 SCREW,CAP,HEX HD,ST,PL,1/4-20X1-1/2
JD3072 RING,CASING,COIL,SS,28-1/20DX11-15/161D JD2766 SCREW,CAP,HEX HD,ST,PL,1/4-20X1-1/4
JP4813-A RING,CASING,COIL,SS,5-15/161D JD7036 SCREW,CAP,HEX HD,ST,PL,1/4-20X1-3/4
JD2140-B RING,CASING,COIL,SS,7-15/161D JD2118 SCREW,CAP,HEX HD,ST,PL,1/4-20X2

JP 574-A RING,FLAT,CASING,COIL,SS JD2985 SCREW,CAP,HEX HD,ST,PL,1/4-20X3-1/2
JD7064-48 RING,HEAD,GENERAL,#69.1000.51 JD2687 SCREW,CAP,HEX HD,ST,PL,1/4-20X4
JD7064-49 RING,INTERMEDIATE, #69.2167.70 JD3627 SCREW,CAP,HEX HD,ST,PL,3/4-10X9-1/2
JD7147-37 RING,O0,ADAPTER,BUNA-N,CAT#23172 JD 563 SCREW,CAP,HEX HD,ST,PL,3/8-16X1
JD3949-13 RING,O,BEARING,CVR,GIANT#07193 JD 560 SCREW,CAP,HEX HD,ST,PL,3/8-16X1/2
JD7147-57 RING,0,BODY,CAT#14759 JD1420 SCREW,CAP,HEX HD,ST,PL,3/8-16X1-1/2
JD7250 RING,0,BUNA,.3120DX.172IDX.068THK JD 514 SCREW,CAP,HEX HD,ST,PL,3/8-16X1-1/4
JD7260 RING,0,BUNA,5/160DX3/16I1DX1/16 THK JD2629 SCREW,CAP,HEX HD,ST,PL,3/8-16X1-3/4

JV 112 RING,0,BUNA-N,10DX51/64IDX.103THK JD7289-01 SCREW,CAP,HEX HD,ST,PL,3/8-16X2

JV 151 RING,0,BUNA-N,1.1230DX.924IDX.103THK JD 563-01 SCREW,CAP,HEX HD,ST,PL,3/8-16X2-1/2

JV 131 RING,0,BUNA-N,1.3100DX1.112IDX.103THK JD 564 SCREW,CAP,HEX HD,ST,PL,3/8-16X2-3/4

JV 152 RING,0,BUNA-N,1.4350DX1.237IDX.103THK JD1286 SCREW,CAP,HEX HD,ST,PL,3/8-16X4
JD5118 RING,0,BUNA-N,1-1/160DX7/8IDX3/32THK JD1286-01 SCREW,CAP,HEX HD,ST,PL,3/8-16X4-1/2
JD7277 RING,0,BUNA-N,11/320DX7/32ID1/16 THK JD 557 SCREW,CAP,HEX HD,ST,PL,5/16-18X1
JD3454 RING,0,BUNA-N,2.3180DX2.112IDX.103THK JD 546 SCREW,CAP,HEX HD,ST,PL,5/16-18X1-1/2

Website: www.steamjenny.com

19

Toll Free Fax Order Line: (888) 4-JENNYS




Part Number

Description

Part Number Description

JD 536

JD 556

JD 568

JD 567

JD 537
JD7611
JD2897-07
JD7035
JD7258
JD3797
JD3961-18
JD7039
JD7906-A
JD7905-B
JD7905-A
JB1013
JD3234
JD 594-01
JD2680
JD2785
JD7141
JD6214
JD 597
JD3476
JD3846
JD 593

JD 591
JD1033
JD1464
JE 801

JD 838
JD3250
JD1000
JB1017
JP2687-09
JP7733
JB1016
JD7144
JB1014
JD1537
JB1012
JD3744
JE 895
JD1682-01
JE 879
JD1002
JD2768
JD3040
JD3241
JB2017
JD2683
JP2735-05
JD7074-A
JD6050
JD7145
JD3043-01
JD6219
JD1003
JD7019
JD6209
JD6189
JD6188
JD3041
JD1433
JD1164
JD1354
JD1173
JD1004
JD1157
JD3404-21
JD7549-11
JD7549-23
JD6167-32

SCREW,CAP,HEX HD,ST,PL,5/16-18X2
SCREW,CAP,HEX HD,ST,PL,5/16-18X3/4
SCREW,CAP,HEX HD,ST,PL,7/16-14X1-1/2
SCREW,CAP,HEX HD,ST,PL,7/16-14X1-1/4
SCREW,CAP,HEX HD,ST,PL,7/16-14X2-1/2
SCREW,CAP,HEX HD,ST,PL,7/16-14X3
SCREW,CAP,HEX HD,ST,PL,7/16-14X7-1/2
SCREW,CAP,HEX HD,ST,PL,FLT,3/8-16X2-1/4
SCREW,CAP,HEX HD,ST,PLTD,M8-1.25X16MM
SCREW,CAP,HEX HD,ST,PLTD,M8-1.25X22MM
SCREW,CAP,SOCK HD,ST,PL,JS#430019
SCREW,CAP,SQR HEAD,ST,PLTD,1/4-20X1-1/2
SCREW,FLANGE,HEX,SERR,ST,PL,3/8-16X3/4
SCREW,FLANGE,HEX,SERR,ST,PL,5/16-18X3/4
SCREW,FLANGE,HEX,SERR,ST,PL,5/16-18X5/8
SCREW,MACHINE,HEX WSHR,ST,PL,10-24X5/16
SCREW,MACHINE,PHILIP,PAN,ST,PL,10-32X3/8
SCREW,MACHINE,PHILLIP,BRASS,10-32X1/2
SCREW,MACHINE,PHILLIP,BRASS,8-32X1-1/2
SCREW,MACHINE,PHILLIP,FLLSTR,ST,8-32X1/2
SCREW,MACHINE,PHILLIP,FLSTR,ST,10-32X1/2
SCREW,MACHINE,PHILLIP,ST,PL,1/2X1-1/4
SCREW,MACHINE,PHILLIP,ST,PL,1/4-20X1/2
SCREW,MACHINE,PHILLIP,ST,PL,10-24X2
SCREW,MACHINE,PHILLIP,ST,PL,10-24X3/8
SCREW,MACHINE,PHILLIP,ST,PL,10-32X3/4
SCREW,MACHINE,PHILLIP,ST,PL,6-32X1
SCREW,MACHINE,PHILLIP,ST,PL,6-32X1/2
SCREW,MACHINE,PHILLIP,ST,PL,6-32X3/8
SCREW,MACHINE,PHILLIP,ST,PL,6-32X7/16
SCREW,MACHINE,PHILLIP,ST,PL,8-32X1
SCREW,MACHINE,PHILLIP,ST,PL,8-32X1-1/2
SCREW,MACHINE,PHILLIP,ST,PL,8-32X3/4
SCREW,MACHINE,PHILLIPS,ST,PL,FL,8-32X3/8
SCREW,MACHINE,SLOTTED,BRASS,8-32X1/2
SCREW,PHILLIPS,HEAD,N,COVER
SCREW,SELFTAPHEX WASH,ST,PL,4-40X3/8
SCREW,SELFTAP,HEX WASH,ST,PL,5/16-18X3/4
SCREW,SELFTAP,HEX WASH,ST,PL,6-32X3/8
SCREW,SET,HEX,CONE POINT,NYLK,5-40X1/4
SCREW,SET,HEX,CUP POINT,10-24X1/4
SCREW,SET,HEX,CUP POINT,NYL,5/16-18X5/16
SCREW,SET,HEX,CUP POINT,NYLK,1/4-20X1/4
SCREW,SET,HEX,CUP POINT,NYLK,1/4-20X3/8
SCREW,SET,HEX,CUP POINT,NYLK,3/8-16X1/2
SCREW,SET,HEX,CUP POINT,NYLK,5/16-18X3/8
SCREW,SET,HEX,CUP POINT,NYLK,5/16-18X5/8
SCREW,SET,HEX,CUP POINT,NYLK,5/16-24X1/2
SCREW,SET,HEX,SOC,CUP PNT,NYLK,8-32X3/16
SCREW,SET,HEX-SKT,KNURL-PNT,5/16-24X3/8L
SCREW,SET,SLOTTED,STEEL,PLATED,7/8-14
SCREW,SET,SQUARE HEAD,SS,5/16-18X1/2
SCREW,SLF DRL,HEX WASHER,PLTD ,#10x5/8
SCREW,SLF DRL,PHILLIP,ST,PLTD,#8X1/2
SCREW,SLF TAPHEX WASH,ST,PL,3/8-16X1
SCREW,SLF TAP,HEX WASH,ST,PL,8-32X3/8
SCREW,SLF TAPHEX WASHER,PLTD,10-32X1/2
SCREW,SLF TAPHEX,WASH,ST,PL,1/4-20X1/2
SCREW,SLF TAP,PHILLIP,ST,PL,10-32X3/8
SCREW,SLF TAP,PHILLIP,ST,PL,8-32X1
SCREW,SLF TAP,PHILLIP,ST,PL,8-32X5/8
SCREW,SLF TAP,PHILLIP,ST,PL,8-32X7/8
SCREW,SPOTWELD,RECEPTACLE

SCREW, THUMB,STL,PLTD,W/SHLDER, 1/4-20X1/2
SCREW,TYPEA,BIND HEAD,PHILLIP#6X3/8
SCREW,TYPEA,BIND HEAD,PHILLIP#8X3/4
SCREW,TYPEA,BIND HEAD,PHILLIP#8X3/8
SCREW,TYPEA,PAN HEAD,PHILLIP,#10X3/8
SCREW,TYPEA,PAN HEAD,PHILLIP#12X1/2
SEAL,CRANKCASE,PISTON,ROD,PUMP,CAT,25301
SEAL,OIL,BUNA-N,CAT#141852
SEAL,OIL,BUNA-N,CAT#27339
SEAL,OIL,BUNA-N,CRANKCASE,CAT#43228

JD3949-27 SEAL,OIL,CRANKCASE,GIANT#07206

JD7064-38 SEAL,OIL,GENERAL,#90.1672.00

JV 110 SEAL,PISTON,VALVE,UNLOADER

JV 150 SEAL,PISTON,VALVE,UNLOADER

JV 167 SEAL,PISTON,VALVE,UNLOADER

JV 188 SEAL,PISTON,VALVE,UNLOADER

JD7553-05 SEAL,SHAFT,GIANT#07877

JL 209 SEAT,MONEL,CHECK,VALVE

JD3404-35 SEAT,QUIET,DISCHARGE,VALVE,CAT#29487
JP3667-02 SEAT,SS,SOLUTION,VALVE,CHECK

JD6167-50 SEAT,VALVE,CAT#43725

JP3208R10 SEAT,VALVE,CHECK,303SS,PER DWG.
JD7147-42 SEAT,VALVE,DISCHARGE,CAT#44881

JD3961-44 SEAT,VALVE,JS#430045

JV 121 SEAT,VALVE,UNLOADER

JV 141 SEAT,VALVE,UNLOADER

JV 144 SEAT,VALVE,UNLOADER

JV 181 SEAT,VALVE,UNLOADER

JV 196 SEAT,VALVE,UNLOADER

JV 203 SEAT,VALVE,UNLOADER

JV 215 SEAT,VALVE,UNLOADER

JV 220 SEAT,VALVE,UNLOADER

JV 221 SEAT,VALVE,UNLOADER

JD3021 SENSOR,FLAME,RECTIFICATION,FLAME
JP7694-D SENSOR,IGNITOR,W/MT-BRKT&HDWARE,60lead
JD7583-B SENSOR,SAFETY,PHOTOCELL

JB2008 SHAFT,BLOWER,STL,0.50DIA.X9.562L,W/KEYS
JP6685 SHAFT,JACK,7/8DIAX9-1/2LONG

JD3607 SHANK,HOSE, TEEJET

JP6846 SHEILD,ELECTRODE,GESR

JP5616 SHIELD,HEAT,BURNER,ST,PAINTED,GES, 1600
JP6853-B  SHIELD,HEAT,BURNER,ST,PAINTED,GES,760
JD8521 SHIELD,HEAT,BURNER,ST,PAINTED,SIZE-B
JD8522 SHIELD,HEAT,BURNER,ST,PAINTED,SIZE-D
JL213-A  SHIM,BRASS,1/64

JD3404-30 SHIM,MANIFOLD,0.5MM,CAT#13533

JD7152-B  SKID,FRAME,7/80DX18GA,PER DWG.(CHROME)
JD2992 SLEEVE,BLOWER,CANVAX,DUCTAIR

JD3272 SLEEVE,CANVAS,AIR,DUCT

JD3781-02 SLEEVE,COMPRESSION,BRASS,1/4

JD1353-02 SLEEVE,COMPRESSION,BRASS,3/80D TUBE
JD3781-01 SLEEVE,COMPRESSION,BRASS,5/16

JD3781 SLEEVE,COMPRESSION,BRASS,7/16

JD6167-31 SLINGER,BARRIER,CAT#43328

JD8623 SOCKET,COUPLING,QUICK,AIR,BR,1/4NPTF
JD3102-G SOCKET,QUICK CONNECT,BRASS,HOSE,GRDN,3/4
JD7998-A SOCKET,QUICK COUPL,SW,3650#,300F,3/8NPTM
JD8616 SOCKET,QUICK COUPLING,BR,AIR,1/4X3/8NPTM
JD3102-15 SOCKET,QUICK COUPLING,BR,VITON,1/2NPTF
JD3102-10 SOCKET,QUICK COUPLING,BR,VITON,1/2NPTM
JD3102-11 SOCKET,QUICK COUPLING,BR,VITON,3/8NPTF
JD3102-14 SOCKET,QUICK COUPLING,BR,VITON,3/8NPTM
JD3102-01 SOCKET,QUICK COUPLING,BRASS,1/2NPTF
JD3102-13 SOCKET,QUICK COUPLING,BRASS,1/2NPTM
JD7778 SOCKET,QUICK COUPLING,BRASS,1/4HOSE,GAS
JD3102-02 SOCKET,QUICK COUPLING,BRASS,1/4NPTF
JD3102-03 SOCKET,QUICK COUPLING,BRASS,1/4NPTM
JD3102 SOCKET,QUICK COUPLING,BRASS,1/8NPTF
JD3102-12 SOCKET,QUICK COUPLING,BRASS,1/8NPTM
JD3102-05 SOCKET,QUICK COUPLING,BRASS,3/8NPTF
JD3102-04 SOCKET,QUICK COUPLING,BRASS,3/8NPTM
JD3102-C SOCKET,QUICK COUPLING,SS,VITON,3/8NPTF
JD3102-N SOCKET,QUICK COUPLING,STAINLESS,1/2NPTF
JD3102-K SOCKET,QUICK COUPLING,STAINLESS,1/4NPTM
JD3102-B  SOCKET,QUICK COUPLING,STAINLESS,3/8NPTM
JD3102-A  SOCKET,QUICK COUPLING,STAINLESS,3/8NPTF
JD3102-L SOCKET,QUICK,COUPLING,STAINLESS,1/4NPTF
JP 858-03 SOLDER,ACID CORE,1/8DIAMETER,50/50

JP 858R06 SOLDER,WIRE,255DEG,1/4RND. RODX24LONG
JP 858R02 SOLDER,WIRE,3/8DIA,30/70,50#SP

JP7300-02 SOLENOID,PUMP,FUEL,ASSY

JD7706-03 SOLENOID,STARTER,ELECT-START,KOHLER
JP6144-B  SOLUTION,DUAL,ASSY,W/PANEL-MOUNT

Website: www.steamjenny.com

20 Toll Free Fax Order Line: (888) 4-JENNYS



Part Number

Description

Part Number Description

JP6144-C
JP7148
JD7147-30
JD7064-37
JD3692-10
JD3404-14
JP2240-06
JP6585-03
JP6859-01
JP2240-04
JP6880-01
JP7630

JV 125

JV 145

JV 183
JD3694-05
JP6479-01
JP3208-02
JD7147-65
JP3287-01
JD7262
JD7251
JP3288-01
JP3286-03
JD7553-15
JD2684
JD3949-33
JD3949-34
JD3989
JP2687-03
JP2688-02
JD7147-84
JP4631-20
JD7147-40
JD3949-35
JD3404-37
JD6167-52
JP3284-01
JV 139

JV 153

JV 170
JP6595
JP3938-05
JP 882
JD2855
JD2567-F
JD2567-G
JD7651-R
JD7651-0
JD7261-B
JD7573-G
JD7591-D
JD7573-J
JD7571
JD7573-K
JD7591-E
JD7571-A
JD7591-B
JD7573-F
JD7573-W
JP7305-A
JP7426-03
JD7147-52
JD6093-05
JP3208-05
JD6157-07
JP3284-C
JP6908-B
JV 123

JV 143

JV 182
JD3306-08
JR1021-20

SOLUTION,DUAL,SOLENOID,DUAL,ASSY
SPACER,AXLE,STEEL,PLATED,PER DRAWING
SPACER,CAT#44871
SPACER,GENERAL,#69.2115.51
SPACER,PISTON,CAT#27983
SPACER,PISTON,CAT,#23357
SPACER,STEEL,PLATD,1-1/20DX1.0871DX3-1/4
SPACER,STEEL,PLATED,0.5350DX0.235IDX0.94
SPACER,STEEL,PLATED,1.060DX.825IDX1.5LNG
SPACER,STEEL,PLATED,1-1/20DX1.08IDX3-1/4
SPACER,STEEL,PLATED,1-1/40DX7/16IDX7/16T
SPACER,STEEL,PLATED,7/80DX21/32IDX1-3/8L
SPACER,VALVE,UNLOADER
SPACER,VALVE,UNLOADER
SPACER,VALVE,UNLOADER,.530
SPREADER,BUTTON,OVERLOAD
SPRING,302SS,0.406DIA,15/32HGT
SPRING,302SS,PER DWG.
SPRING,BALANCER,FLOW,85G,CAT#45924
SPRING,BONNET,PSI,INTERMEDIATE
SPRING,GIANT#12523

SPRING,INJECTOR
SPRING,PHOSPH,BRONZE,0.025WIRE
SPRING,PHOSPH,BRONZE,0.050WIRE
SPRING,PLUNGER,GIANT, #07873
SPRING,PLUNGER,STAINLESS STEEL,PER SPEC
SPRING,PRESSURE,GIANT#07210
SPRING,RETAINER,UNLOADER,GIANT
SPRING,SS,PER SPECIFICATION
SPRING,ST,3/8 ROSS VV

SPRING,ST,CHR VANADIUM,PER SPEC.
SPRING, TAPERED,BALL,SS,#33501
SPRING,UNLOADER,MJ600
SPRING,VALVE,CAT#43360
SPRING,VALVE,GIANT,#06017
SPRING,VALVE,PUMP,CAT,#22031
SPRING,VALVE,QUIET,CAT# 43750
SPRING,VALVE,RELIEF,DRAIN,316S
SPRING,VALVE,UNLOADER
SPRING,VALVE,UNLOADER
SPRING,VALVE,UNLOADER
SPUD,HOSE,BRASS,5/8HOSEX3/4NPT
SPUD,HOSE,ST,1/4HOSEX1/4NPTM
SPUD,HOSE,STEEL,1/2HOSEX1/2NPTM
SPUD,HOSE,STEEL,PLATED,3/8HOSEX3/8NPTM
STARTER,DP,OP,3P,25A,120V
STARTER,DP,0P,3P,30A,240V
STARTER,DP,0P,3P,50A-RES,24V,(CA7)
STARTER,DP,0P,3P,85A-RES,24V,(CA7)
STARTER,MANUAL,OP,2P,8AMPS
STARTER,MANUAL,OP,3P,10A K-M
STARTER,MANUAL,OP,3P,16A K-M
STARTER,MANUAL,OP,3P,20A K-M
STARTER,MANUAL,OP,3P,20A,ROTARY
STARTER,MANUAL,OP,3P,25A K-M
STARTER,MANUAL,OP,3P,28-42A,ACI
STARTER,MANUAL,OP,3P,30A,ROTARY
STARTER,MANUAL,OP,3P,32A K-M
STARTER,MANUAL,OP,3P,6A,K-M
STARTER,MANUAL,S-STATE,3P,12-32A
STARTER,MOTOR,ASSY,HPW,1530
STEM,INJECTOR

STEM,PISTON,CAT#45694
STEM,VALVE,ACCUMULATOR,BLADDER,GIA,22036
STEM,VALVE,CHECK,SS,LAPPED
STEM,VALVE,NEEDLE,HYPRO(#3220-0016)
STEM,VALVE,RELIEF,DRAIN,ASSY,BRASS,LP&HP
STEM,VALVE,RELIEF,DRAIN,BRASS,ASSY,VHP
STEM,VALVE,UNLOADER
STEM,VALVE,UNLOADER
STEM,VALVE,UNLOADER
STEM-ASSY,SOLENOID,PUMP,FUEL,12/24V
STICK,DIP,GEN#,98.2097.00

JP2618-07 STRAINER,30X30MESH,BRASS,1/2NPTF

JD7006 STRAINER,BASKET,SS,540 MESH,3DIAMETER
JD7140-A STRAINER,CHEMICAL,BRASS,1/4HOSEBARB
JD3606-01 STRAINER,FUEL,INLET,ASSY

JD3605-01 STRAINER,FUEL,OUTLET,W/BALL CHECK
JP6735 STRAINER, TANK,FLOAT,ASSY

JD15636-02 STRAINER,VALVE,FUEL,ADJ

JP7189 STRAINER,W/TUBING,ASSY

JD3706 STRAINER,WATER,INLET,30X30MSH,1/4NPTF
JD3706-B STRAINER,WATER,INLET,30X30MSH,1NPTF
JD3706-A STRAINER,WATER,INLET,30X30MSH,3/8NPTF
JD7782 STRAINER,WATER,IN-LINE,ALUMINUM,1/2NPT
JD7782-A STRAINER,WATER,IN-LINE,BR,1/2NPT,W1/4BY-
JD3843 STRAINER,WATER,SS,30MESH,25/320DX3-1/8LG
JD3843-B STRAINER,WATER,SS,30MESH,47/640DX3-1/8LG
JD6161-A  STRAINER,Y,BRASS,50 MESH,1/2NPTF

JD6161 STRAINER,Y,BRASS,50 MESH,3/4NPTF

JD6161-C STRAINER,Y,BRASS,50 MESH,3/8NPTF

JP5236-A STRAP,BLOWER,ASSY

JP2186-B STRAP,DUCT,BLOWER,CANVAS,ASSY

JP7411 STRAP,PANEL,CONTROL,CHASSIS, HPW

JD7288 STRAP,RETAINING,VELCRO,CONTAINER,SOLUTN
JP2186-A STRAP,SLEEVE,BLOWER,ASSY

JD6127-02 STRAP,TANK,FUEL,B&S,#291490

JP6575-01 STRAP, TANK,HOLD,DOWN,STEEL,100LONG
JD7021 STUD,1/4TURN,STEEL,PLATED,SLTD,DACROTIZE
JD6167-42 STUD,PLUNGER,RETAINER, CAT#89648
JP6790-03 SUPPORT,ANGLE,BOX,JNCTN,1600,3100,4800
JP5907-03 SUPPORT,BURNER,760-C,GES

JP1418-01 SUPPORT,CASING,COIL,ASSY,RENTAL

JB1008 SUPPORT,ELECTRODE,ALUMINUM

JP2224-11 SUPPORT,RACK,HOSE,STEEL,PAINTED
JP6551-B SUPPORT,SHIPPING,FRAME,POWER, TRAILER
JP5204 SUPPORT,WHEEL,5TH,ASSY

JP5267 SWITCH,ASSY,220/60/1

JD7962 SWITCH,CAM,ROTARY,DP,W/ENCLOSURE,1PH,5HP
JD7961 SWITCH,CAM,ROTARY,SP,W/ENCLOSURE,2PH,3HP
JD7972 SWITCH,CAM,ROTARY,W/O ENCLOS,3P,5HP,30A
JD7279-A  SWITCH,FLOW,SP,ST,NO,20VA,3/8NPTF

JD7279 SWITCH,FLOW,SP,ST,NO,20VA,3/8NPTM

JD7882 SWITCH,FLOW,SP,ST,NO,3/8NPT,18GPM,4000#
JD2901 SWITCH,LEVER,W/KNOB (PER SPEC)

JD3150 SWITCH,LIMIT,PRESSURE

JJ 300-08 SWITCH,MICRO,20A,120&240V,SCREW TERMINAL
JP4720-C  SWITCH,PRESSURE,ASSY,35-400PSI

JD6168 SWITCH,PRESSURE,DIFF,SP,ST,15A,10PSI
JD3202-A SWITCH,PRESSURE,DP,ST,NC,5-10PSI

JD3202 SWITCH,PRESSURE,DP,ST,NO,NEMA4,5-10PSI
JD7969 SWITCH,PRESSURE,OIL,SP,ST,NO,15PSI,1/8N
JD3415-B  SWITCH,PRESSURE,SP,DT,NONC,400-1600,EP
JD3415 SWITCH,PRESSURE,SP,ST,NONC,250-1000ADJ
JP4720 SWITCH,PRESSURE,SP,ST,NONC,35-400PS]I
JP7731 SWITCH,PRESSURE,W/BRACKET,WELDED,ASSY
JD7526 SWITCH,PSI,SP,ST,100#,5A,250V

JD3977-B  SWITCH,PSI,SP,ST,NO,15A,230V,1/4NPT

JD3977 SWITCH,PSI,SP,ST,NO,15A,230V,3/8NPT
JD6168-03 SWITCH,PUSHBUTTON,6A@230V,3A@125V
JD3711 SWITCH,PUSHBUTTON,STOP,MUSHROOM,MOMENARY
JD7279-01 SWITCH,REED,ASSY,47LEAD

JE1001 SWITCH,ROCKER,DP,DT,10A,125V,NEON LIGHTS
JE1006 SWITCH,ROCKER,DP,DT,OFF-ON-MOM, 10A,24V
JE1004 SWITCH,ROCKER,SP,ST,10A,24V,LED LIGHTS
JD6015 SWITCH,SEALED,DP,DT,120V,30A

JD3693-05 SWITCH,SELECTOR,OPERATOR,2 POSITION
JD3195-A  SWITCH,SENSOR,FLAME,200 DEG

JD2567-L SWITCH,STARTER,START-STOP,PUSH BUTTON
JD6027 SWITCH,THERMAL,SP,ST,NO,95-120DEG F
JD7764-B  SWITCH,TOGGLE,1P,DT,10A@250V,15A@ 125V
JD7764-A  SWITCH,TOGGLE,3P,DT,10A@250V,15A@ 125V
JD7764 SWITCH,TOGGLE,4P,DT,10A@250V,15A@ 125V
JD7160 SWITCH,TOGGLE,DP,DT,10@250V,OFF/ON/MOM
JD3953 SWITCH,TOGGLE,DP,DT,6A@120V,3A@240V
JD6168-04 SWITCH,TOGGLE,DP,ST,20A@240V

Website: www.steamjenny.com

21 Toll Free Fax Order Line: (888) 4-JENNYS



Part Number Description Part Number Description

JD7205 SWITCH,TOGGLE,DP,ST,20A@250V JD8067 TANKS,FUEL,8.7,SOL,4.8,BOLT-ON,STEEL,PNT
JD6168-05 SWITCH,TOGGLE,DP,ST,6A@115V,3A@240V,W/LD JD7180 TAPE,PATCH,DUAL,LOCK,1X1

JP3556 SWITCH,TOGGLE,SP,ST,15A,250V JD7823 TEE,BARB,PLASTIC,3/8X5/8X5/8

JD3672 SWITCH,TOGGLE,SP,ST,20A,240V JD 666 TEE,BRANCH,BRASS,1/4-45SAEX1/8NPTM

JE 966-A SWITCH,TOGGLE,SP,ST,20A@120V JD3071 TEE,BRANCH,MALE,BRASS,1/4-45SAEX1/4NPT
JD1656 SWITCH,TOGGLE,SP,ST,20A@120V,10A@250V JD7221 TEE,BRANCH,MALE,BRASS,3/8NPT

JP3589-01 SWITCH,TOGGLE,SP,ST,30A,120V JD3820 TEE,BRANCH,MALE,STEEL,PLATED,1/2NPT
JD7071 SWITCH,TOGGLE,SP,ST,30A@250V JD7866 TEE,BRANCH,MALE,STEEL,PLATED,3/8NPT
JD2124 SWITCH,TOGGLE,SP,ST,6A@120V JD3023 TEE,FEMALE,BRASS,1/2NPT

JD6168-01 SWITCH,TOGGLE,SP,ST,6A@125V,3A@240V JD1661-03 TEE,FEMALE,BRASS,1/2NPTFX1/2NPTFX3/8NPTF
JP2536 SWITCH,TOGGLE,ST,DP,15A,120V JD3095 TEE,FEMALE,BRASS,1/4NPT

JP3591-01 SWITCH,TOGGLE,ST,DP,30A,120V JD7607 TEE,FEMALE,BRASS,3/4NPT

JE 929 SWITCH,TOGGLE,TP,ST,20A@115V JD3055 TEE,FEMALE,BRASS,3/8NPT

JD1488 SWIVEL,BRASS,1500PSI,ASSY,3/8 JD7242 TEE,FEMALE,BRASS,FORGED,1/8NPT

JD3590 SWIVEL,FLARE,BARB,HOSE,BR,1/4HSX1/4-45 JD2865 TEE,FEMALE,MI,150#,1/2X1/2X3/4

JP7709-01 SWIVEL,REEL,HOSE,5000PSI,325DEG,1/2X3/8 JD3076 TEE,FEMALE,MI,150#,1-1/2X1-1/2X1/2

JD8555 SWIVEL,ST,3/8FX3/8M,SS,5600PSI|,320 DEG JD3274 TEE,FEMALE,MI,150#,1-1/4X1-1/4X1-1/4

JD7644 TAG,NOTICE,NEGATIVE JD1274 TEE,FEMALE,MI,150#,1-1/4X1-1/4X3/4

JD7645 TAG,NOTICE,POSITIVE JD1561 TEE,FEMALE,MI,150#,1NPT

JD7196-01 TAG,TESTED,FUEL JD 992 TEE,FEMALE,MI,150#,3/4NPT

JD7075 TAG,WARNING,ELECTRIC CORD JD7217 TEE,FEMALE,MI,3/4ANPTFX3/4NPTFX1NPTF
JD3097 TAG,WARNING,GAS PRESSURE JE 827 TEE,FEMALE,MI,3/8NPTFX1/2NPTFX3/8NPTF
JD7207 TAG,WARNING,WATER TRAP,GAS FIRED UNIT JD2622 TEE,FEMALE,MI,GALVANIZED,150#,1NPT
JD7965-A TANK,ASSY,FUEL,DIESEL,YELLOW,5 GALLON JD3734-01 TEE,FEMALE,STEEL,PLATED,1/2NPT

JP7178-08 TANK,FLOAT,ASSY,2000-C,OEP&OMP JD1661 TEE,FEMALE,STEEL,PLATED,1/2X3/8X1/2
JP7175-E  TANK,FLOAT,ASSY,BOLT-ON JD 698 TEE,FEMALE,STEEL,PLATED,1/4NPT

JP7175-G  TANK,FLOAT,ASSY,BOLT-ON,W/LWC-FTTNG,AEP JD7626 TEE,FEMALE,STEEL,PLATED,3/4NPT

JP3385-U TANK,FLOAT,ASSY,E-300-C JD3971 TEE,FEMALE,STEEL,PLATED,3/8NPT

JP5212-G  TANK,FLOAT,ASSY,SS JD7612 TEE,MALE,BRANCH,BRASS,1/2NPT

JP5212-H TANK,FLOAT,ASSY,SS,W/FTGS JD1482 TEE,MALE,BRASS,SIDEOUT,3/8X3/8X3/8-45SAE
JP5212-K  TANK,FLOAT,ASSY,SS,W/FTGS JP2954 TEE,ORIFICE,STEAM,#7,3/8NPT,760

JP3385-N  TANK,FLOAT,ASSY,W/FING,COMBNTN JD7797 TEE,STEEL,PLATED,1/4NPTMX1/4ANPTMX1/4NPTF
JD8060-03 TANK,FLOAT,PLASTIC,W/COVER JD7650 TEE,STEEL,PLATED,3/8NPTMX3/8NPTMX3/8NPTF
JD8015 TANK,FLOAT,SS,BOLT-ON-ASSY,JB JD3052 TEE,STREET,BRASS,1/2NPT

JD8524 TANK,FLOAT,SS,LARGE,BOLT-ON,GES JD7000-01 TEE,STREET,BRASS,3/4NPT

JP4628-A  TANK,FLOAT,SS,MJ600 JD3280 TEE,STREET,STEEL,PLATED,1/4NPT

JP5238-C  TANK,FLOAT,SS,PAINTED,ASSY,S-1600-C JD 860-02 TEE,STREET,STEEL,PLATED,3/8NPT

JP3385-11 TANK,FLOAT,SS,W/MOUNTING CLIPS,760 NS JD 669 TEE,UNION,BRASS,1/4-45SAE

JP3385-Y TANK,FLOAT,SS,W/MOUNTING CLIPS,760,N/S JD1576-07 TERMINAL,CONNECT,QUICK,FEM,#10HOLE,10/12
JP7005-B TANK,FLOAT,SS,W/PLATE,ASSY,S-1600-C JD2301 TERMINAL,CONNECT,QUICK,FEM,0.250,10/12GA
JP7005-D TANK,FLOAT,SS,W/PLATE,ASSY,S-1600-C JD1576-05 TERMINAL,CONNECT,QUICK,FEM,0.250,10-12GA
JP3655-H TANK,FLOAT,ST,PAINTED,W/BRACKET SUPPORT JD1576-01 TERMINAL,CONNECT,QUICK,FEM,0.250,14/16GA
JP7005-G  TANK,FLOAT,W/FITTINGS,LWC,S-1600-C,OMP JD1576-08 TERMINAL,CONNECT,QUICK,FLAG,FEM,10/12GA
JP3385-H TANK,FLOAT,W/O,MTG,CLIPS, JD1576 TERMINAL,CONNECT,QUICK,FLAG,FEM,14/16GA
JP7060 TANK,FUEL,ASSY JD2313 TERMINAL,CONNECT,QUICK,MALE,0.250,10-12G
JP3980-A TANK,FUEL,ASSY,200,PARTS JD1576-04 TERMINAL,CONNECT,QUICK.PIGGY,0.250,14/16
JP7255-A  TANK,FUEL,ASSY,2000-C,3000-C JD 998 TERMINAL,MALE,MAGNETO

JP2619-C  TANK,FUEL,ASSY,760,PARTS JD 949 TERMINAL,MALE, TRANSFORMER,HIGH VOLTAGE
JP7174-A  TANK,FUEL,ASSY,HPW1023/1223/1530 JD1603 TERMINAL, TONGUE,FORK #6HOLE,#18-22GAWIRE
JP7174 TANK,FUEL,ASSY,HPW1023/HPW1530 JD2347 TERMINAL, TONGUE,FORK #8HOLE,14-18GA
JP3980-D TANK,FUEL,ASSY,SS,200,PARTS JD1443 TERMINAL, TONGUE,FORK,INS, #10HOLE,10-12GA
JD8020-A TANK,FUEL,BOLT-ON,SS,PAINTED,13.3 GAL JP3950-03 TERMINAL,TONGUE,HOOK,7MM,WIRE,IGNITION
JD8003-A TANK,FUEL,BOLT-ON,SS,PAINTED,6 GALLON JD3538-02 TERMINAL,TONGUE,RING,#8HOLE,14-18GA
JD8004-A TANK,FUEL,BOLT-ON,SS,PAINTED,8.7 GAL JP1742 TERMINAL, TONGUE,RING,3/16HOLE,10-12GAUGE
JD8020 TANK,FUEL,BOLT-ON,STEEL,PAINTED,13.3 GAL JD 928 TERMINAL, TONGUE,RING,3/16HOLE,18-22GA
JD8003 TANK,FUEL,BOLT-ON,STEEL,PAINTED,6 GALLON JD1374 TERMINAL, TONGUE,RING,3/16HOLE,6-8GAUGE
JD8004 TANK,FUEL,BOLT-ON,STEEL,PAINTED,8.7 GAL JD3538-01 TERMINAL,TONGUE,RING,5/16HOLE,14-16 GAUGE
JD6127-05 TANK,GASOLINE,2GAL,B&S,#292415 JD1422 TERMINAL, TONGUE,RING,5/16HOLE,6-8GAUGE
JD7770 TANK,GASOLINE,PLASTIC,RED,W/GAUGE,3GAL JD6195 TERMINAL, TONGUE,ROUND,MALE,3/16,14/16GA
JP5408 TANK,SOLUTION,55 GALLON,ASSY,2100GES JD1442 TERMINAL, TONGUE,SPADE #6HOLE,16-20GA
JP3979-B  TANK,SOLUTION,ASSY,200,PARTS JD2365 THERMOCOUPLE,K16BA-30

JP7254 TANK,SOLUTION,ASSY,2000-C JD6160 THERMOMETER,DIAL,REMOTE,RI2400(LIQ.FILL)
JP5913 TANK,SOLUTION,ASSY,760C-1000GF JD3701-A THERMOSTAT,CONTROL,AUTOMATIC,0-450 DEG
JP6592-A  TANK,SOLUTION,ASSY,E-300-C JD7137 THERMOSTAT,IMMERSION,SP,ST,NC,240 DEG F
JP7056-A TANK,SOLUTION,ASSY,S1600-C,OEP JD7137-A THERMOSTAT,IMMERSION,SP,ST,NC,340 DEG F
JD8005-A TANK,SOLUTION,BOLT-ON,SS,PAINTED,4.8 GAL JD7137-B  THERMOSTAT,IMMERSION,SP,ST,NO,240 DEG F
JD8005 TANK,SOLUTION,BOLT-ON,ST,PAINTED,4.8 GAL JD7137-C  THERMOSTAT,IMMERSION,SP,ST,NO,340 DEG F
JP6928 TANK,SOLUTION,ELCTRC,EXP,UNITS JP3339 THERMOSTAT,MOUNT,SURFACE,0-345 DEGREE F
JP5913-A  TANK,SOLUTION,SS,PAINTD,ASSY,760C&1000GF JP3593 THERMOSTAT,MOUNT,SURFACE,200DEG,ASSY
JP5206 TANK,SOLUTION,ST,PAINTED,ASSY,2100-3100 JD2125 THERMOSTAT,MOUNT,SURFACE,SP,ST,NO,140F
JP5331 TANK,SOLUTION,STEEL,PAINTED,ASSY,200 GES JP3593-01 THERMOSTAT,MOUNT,SURFACE,SP,ST,NO,200F
JP7256-B TANKS,FUEL&SOLUTION,ASSY,2000-C JD2403 THERMOSTAT,MOUNT,SURFACE,SP,ST,NO,320F
JD8066 TANKS,FUEL,8.7,SOL,4.8,BOLT-ON,SS,PNTD JP7062 THERMOWELL,CONTROL, TEMPERATURE,BRASS, 1/2

Website: www.steamjenny.com

22

Toll Free Fax Order Line: (888) 4-JENNYS



Part Number

Description

Part Number Description

JD2896
JD2896-A
JD7952-B
JD7952-C
JD7952
JD7224
JD2778
JD7634-04
JP3913-01
JB1503
JP3913-02
JB1502
JD7069-05
JD7069-04
JP7305
JD7775-G
JD2704
JD7135
JD3987-02
JD3987
JD2868
JD2569
JD3987-B
JD3987-13
JD3987-08
JD2569-01
JD2569-04
JP3282-11
JB1001
JD6068-04
JP5712
JD1820
JD1820-15
JP7323
JD1740
JD1720
JD1730
JP6707-C
JP6707-B
JD1722-17
JD1722-20
JD1722-23
JD1722-30
JD1722-35
JD1722-07
JD1722-M
JD1732-30
JD1732-42
JD1732-06
JD1732-08
JD1722-U
JD1722-R
JD1722-T
JD1722-F
JD1722-10
JD1722-16
JD2183
JD3994
JD3771
JP7490
JD3087
JD7575
JD7575-18
JD7007
JD1930
JD1930-11
JD1294

JP 742
JP7137-A
JD7147-59
JP3934

JD 930
JP2609-B

TIE,WIRE,PLASTIC,5-1/2LONG
TIE,WIRE,PLASTIC,8LONG
TIMER,AUTO,SHUT-OFF,220VOLT,4.5MINUTE
TIMER,AUTO,SHUT-OFF,24VOLT,10AMP,60SEC
TIMER,AUTO,SHUT-OFF,24VOLT,4.5MINUTE
TIP,CRUTCH,BLACK

TIP-V-JET,H 3/8 U 40105
TRANSFORMER,IGN,115/60/1 PRIM,10,000SEC
TRANSFORMER,IGNITION,120V PRIM,6000V SEC
TRANSFORMER,IGNITION,12V PRIM, 18000V SEC
TRANSFORMER,IGNITION,240V PRIM,6000V SEC
TRANSFORMER,IGNITION,24V PRIM, 18000V SEC
TRANSFORMER,IGNITION,380V PRIM,10000V SC
TRANSFORMER,IGNITION,440V PRIM,10000V SC
TRANSFORMER,SOLENOID,ASSY, 240V
TRAY,BATTERY,STEEL,PAINTED,LARGE,CPW
TRIM,GROMMET,NYLON,BLACK
TRIM,LEATHER,BLACK, 1/32X29/64
TRNSFRMR,CTRL,ENC,250VA,230/460P,120/240
TRNSFRMR,CTRL,ENC,50VA,230/460P,120/240S
TRNSFRMR,CTRL,OPN,100VA,120-460P,24S,AC
TRNSFRMR,CTRL,OPN,100VA,240-460VP,120VS
TRNSFRMR,CTRL,OPN,100VA,600V,120V
TRNSFRMR,CTRL,OPN,100VA,600VP,24VS
TRNSFRMR,CTRL,OPN,150VA,208-380P,120S
TRNSFRMR,CTRL,OPN,150VA,240-460P,120S
TRNSFRMR,CTRL,OPN,150VA,380-600P,120/240
TUBE,ADJUSTABLE,ST,PUMP,FUEL
TUBE,AIR,STEEL,4.250DX4.0IDX4.50LG,ASSY
TUBE,INLET,ASSY,GIANT#21257
TUBING&STRAINER,ASSY,3/8X50
TUBING,ALUMINUM,1/40DX.032WALL
TUBING,ALUMINUM, 1/4X15
TUBING,ASSY,FUEL,PUMP/SW
TUBING,COPPER,1/20DX.032WALL
TUBING,COPPER,1/40DX.03WALL
TUBING,COPPER,3/80.D.x0.032WALL
TUBING,COPPER,ASSY,1/20DX11
TUBING,COPPER,ASSY,1/20DX20
TUBING,COPPER,ASSY,1/4X17
TUBING,COPPER,ASSY,1/4X20
TUBING,COPPER,ASSY,1/4X23
TUBING,COPPER,ASSY,1/4X30
TUBING,COPPER,ASSY,1/4X35
TUBING,COPPER,ASSY,1/4X7
TUBING,COPPER,ASSY,2000-C OMP,1/4X15
TUBING,COPPER,ASSY,3/8X30
TUBING,COPPER,ASSY,3/8X42
TUBING,COPPER,ASSY,3/8X6
TUBING,COPPER,ASSY,3/8X8
TUBING,COPPER,ASSY,BURNER,F.PUMP-SOL,JB
TUBING,COPPER,ASSY,BURNER,HPW1530 OMP
TUBING,COPPER,ASSY,BURNER,N-JB
TUBING,COPPER,ASSY,BURNER,W/O,ANTI-SYPHO
TUBING,COPPER,ASSY1/4X10
TUBING,COPPER,ASSY1/4X16
TUBING,NEOPRENE,BLACK,5/161DX1/16WALL
TUBING,PLASTIC,1/2
TUBING,PVC,CLEAR,3/8IDX.062WALL
TUBING,PVC,CLEAR,3/80DX1.3’
TUBING,PVC,CLEAR,3/80DX1/4ID
TUBING,PVC,REINFORCED,3/8ID
TUBING,PVC,REINFORCED,3/8IDX18LONG
TUBING,SHRINK,HEAT,PLASTIC,1/20D
TUBING,SS,ANNEALED,SEAMLESS,3/80DX.035WA
TUBING,STAINLESS STEEL,ASSY,3/8TBX11LONG
UNION,FEMALE,MI,150#,BRZ-IR SEAT,1-1/4
UNION,FEMALE,MI,150#,BRZ-IR SEAT,3/4NPT
UNLOADER,W/FITTINGS,ASSY,2000-C,GES
VALVE&BALL,ASSY,CAT#45696
VALVE&FLOAT,ASSY,1/4,E300-C
VALVE,90DEG,BRASS, 1/4-45SAEX1/8NPTM
VALVE,ANTI-SYPHON, 1560

JD15636-D VALVE,ASSY,ADJ,FUEL,W/O SCREEN,3/8X1/8
JD1536 VALVE,ASSY,FUEL,ADJ,3/8X3/8-45

JP3252-C  VALVE,ASSY,GUN,DBL,DUTY

JD3309 VALVE,BALL,BRASS,250PSI MAX,1/4NPTF
JD3139 VALVE,BALL,BRASS,250PSI MAX,3/8NPTF
JD3194-E VALVE,BALL,BRASS,600PSI,3/8NPTF,W/PAN MT
JD3194 VALVE,BALL,BRASS,INSULATED,3/8NPT
JD3194-A VALVE,BALL,STEEL,2000PSI MAX,3/8NPTF
JD3194-D VALVE,BALL,STEEL,5000PSI,3/8NPTF,W/PAN M
JD1536-04 VALVE,BODY,FUEL,ADJ,3/8NPTX1/8
JD3605-02 VALVE,CHECK

JP2604 VALVE,CHECK,ASSY

JD8551 VALVE,CHECK,BRASS,BY-PASS&UNLOADER,5PSI
JP3208-A VALVE,CHECK,INLET

JP3289 VALVE,CHECK,INLET,PUMP,ACID

JP3208-E VALVE,CHECK,INLET,SPRING,LIGHT
JP3208-B VALVE,CHECK,OUTLET

JD8621 VALVE,CHECK,OUTLET,AIR,ASSY,S-M

JP3288 VALVE,CHECK,OUTLET,PUMP,ACID

JP2953 VALVE,CHECK,SOLUTION,ASSY

JP3667 VALVE,CHECK,SOLUTION,ASSY

JP7247 VALVE,CHECK,SOLUTION,ASSY

JD3845-C VALVE,COMBINATION,LP,120V,1

JD3845-G VALVE,COMBINATION,LP,220V,1

JD3845 VALVE,COMBINATION,NAT,120V,1

JD3845-F VALVE,COMBINATION,NAT,220V,1

JD3845-J VALVE,COMBINATION,NAT,24V,1,ELECT-IGN
JD3845-K VALVE,COMBINATION,NAT,24VAC,1-1/4
JD2366 VALVE,COMBINATION,NATURAL,110V,3/4
JP7708-A  VALVE,CONBINATION,NAT,24V,3/4,ELECT-IGN
JD1677 VALVE,CONTROL,BRASS,3/8NPTF

JD3404-36 VALVE,DISCHARGE,PUMP,CAT #22842
JD6167-51 VALVE,DISCHARGE,QUIET,CAT#43723
JD8610 VALVE,DRAIN,COCK,PET,1/4NPTM,S-M
JP3142 VALVE,FILLING,SOLUTION,ASSY

JD2264 VALVE,FLOAT&ROD,ASSY

JD8060-02 VALVE,FLOAT,BRASS,145PSI,3/8, NPTM,GEN.
JD2988-B VALVE,FLOAT,BRASS,60PSI,1/2NPTM

JD3013 VALVE,FLOAT,BRASS,60PSI,3/4ANPTM
JP3934-04 VALVE,FLOAT,BRONZE,E-300-C,PER SPEC
JL168-A  VALVE,FOOT,BRONZE,3/4NPTF

JP3517 VALVE,FOOT,STRAINER,ASSY

JP5264-B  VALVE,FUEL,CUT-OFF,ASSY

JE 882 VALVE,GAS,BRASS,1-1/4NPT

JD 855 VALVE,GLOBE,BRASS,3/8NPTF

JD2505 VALVE,GLOBE,BRASS,3/8NPTF(HANDLE: S OR R
JD3404-12 VALVE,INLET,CAT,#25661

JP2687-D VALVE,LESS HANDLE&PIN,ASSY

JD7561 VALVE,METERING,BRASS,1/8NPSX1/4HOSE
JD6242-A  VALVE,METERING,CHEMICAL,DUAL,PANEL-MOUNT
JP2673-A  VALVE,METERING,FUEL,ASSY

JP3956 VALVE,METERING,FUEL,ASSY,J-IIC

JP3139 VALVE,METERING,SOLUTION

JP2683-A  VALVE,METERING,SOLUTION,ASSY

JP3933 VALVE,METERING,SOLUTION,ASSY
JP7178-C  VALVE,METERING,SOLUTION,ASSY

JP7444 VALVE,METERING,SOLUTION,ASSY

JD7022 VALVE,METERING,SOLUTION,BRASS, 1/4
JP2957 VALVE,NEEDLE,ASSY

JP2928 VALVE,NEEDLE,BRASS, 1/4NPTX1/4NPTF
JD6248-A VALVE,NEEDLE,SOLUTION,BRASS,1/4IDHS-BARB
JP2510-05 VALVE,PILOT,SUTOFF,BRASS,1/8NPTMX1/4TUBE
JD7210 VALVE,POPPET,FUEL,PER SPEC.

JD7147-41 VALVE,QUIET,CAT#43723

JD7048-E VALVE,RELIEF,0-1200PSI,160F,1/4NPTM
JD7048-D VALVE,RELIEF,0-1200PSI,160F,3/8NPTM
JD7048-1 VALVE,RELIEF,1000-4000PSI,160F,3/8NPTM
JD7048-F VALVE,RELIEF,1200-2400PSI,160F,1/4NPTM
JD7048-C VALVE,RELIEF,1200-2400PSI,160F,3/8NPTM
JD7048-A VALVE,RELIEF,2400-3000PSI,160F,3/8NPTM
JD7048-G VALVE,RELIEF,2400-3600PSI,160F,1/4NPTM
JD7048-H VALVE,RELIEF,3600-5000PSI,160F,1/4NPTM
JD7048-B VALVE,RELIEF,3600-5000PSI,160F,3/8NPTM

Website: www.steamjenny.com

23 Toll Free Fax Order Line: (888) 4-JENNYS



Part Number Description Part Number Description

JD6162-A VALVE,RELIEF,THERMAL,145F,1/2NPTM JVv2200 VALVE,UNLOADER,FLUI-TROL,C2200

JD6162-C VALVE,RELIEF,THERMAL,145F,1/4NPTM JV2300 VALVE,UNLOADER,FLUI-TROL,C2300

JD6162-B  VALVE,RELIEF,THERMAL,145F,3/8NPTM JV2500 VALVE,UNLOADER,FLUI-TROL,C2500

JD6162-D VALVE,RELIEF,THERMAL,165F,1/4NPTM JV3200 VALVE,UNLOADER,FLUI-TROL,D3200

JD6162-G VALVE,RELIEF,THERMAL,190F,1/2NPTM JV3600 VALVE,UNLOADER,FLUI-TROL,D3600

JD6162-E VALVE,RELIEF,THERMAL,190F,1/4NPTM JD7147-45 VALVE,UNLOADER,PRESSURE,CAT#7500
JD3048 VALVE,RELIEF,WATTS,3/4-3L A JD7549-49 VALVE,UNLOADER,PRESSURE,CAT,#7600
JP3540-01 VALVE,SCHRADER,AIR,BRASS,1/4NPTX3/4EF LG JD7493-B VALVE,UNLOADER,PUMP-MOUNT,W/O INJ.,AR
JD3063 VALVE,SOLENOID,BYPASS,110V,3/8NPT JD7805-B VALVE,UNLOADER,PUMP-MOUNT,W/O INJ.,GEN
JD3063-D VALVE,SOLENOID,BYPASS,120V,3/8NPT,EXP JD7805-A VALVE,UNLOADER,W/INJECTOR,PUMP-MOUNT,GEN
JD3063-C VALVE,SOLENOID,BYPASS,12VDC,3/8NPT JR1021-06 VARIABLE,NOZZLE-CJR1021

JD3063-E VALVE,SOLENOID,BYPASS,24V,1/4NPT JD7773 WAND, TELESCOPING,FIBRGLAS,3000PSI,6-12FT
JD1649 VALVE,SOLENOID,FUEL,120V,1/4NPT JD7773-A  WAND,TELESCOPING,FIBRGLAS,3000PSI,6-18FT
JD3306-B VALVE,SOLENOID,FUEL,120V,1/8NPT JD7773-B  WAND,TELESCOPING,FIBRGLAS,3000PSI,8-24FT
JD7204-A VALVE,SOLENOID,FUEL,120V,1/8NPT JP7422 WASHER,30DX2-1/161D

JD1649-E  VALVE,SOLENOID,FUEL,12V,1/4NPT JD7263 WASHER,BELLEVILLE,GIANT#12526

JD7204-C VALVE,SOLENOID,FUEL,12VDC/24VAC,1/8NPTF JD3961-35 WASHER,COPPER,JS#430036

JD1649-A VALVE,SOLENOID,FUEL,230V,1/4NPT JD1417-01 WASHER,CUP,RUBBER,VALVE,FLOAT

JD1649-F VALVE,SOLENOID,FUEL,230V,1/4NPT JD2401 WASHER,FAUCET,POLYEURETHANE, 1/4

JP3731 VALVE,SOLENOID,GAS,120V,3/8NPT JL197 WASHER,FELT,GREY,1-1/2X3/4X3/8

JP3731-B  VALVE,SOLENOID,GAS,24VAC,3/8NPT JD1231 WASHER,FIBER,RED,7/80DX5/8IDX1/32
JP7694-E  VALVE,SOLENOID,PILOT,D,FOR(700-059) JD7216 WASHER,FLAT,6MM,MAX OD.512,SOFT ST,PLTD
JD2162 VALVE,SOLENOID,SOLUTION,120V,1/4NPT JD3795 WASHER,FLAT,BRASS #10

JD2162-D VALVE,SOLENOID,SOLUTION,12V,1/4NPT JD 766 WASHER,FLAT,BRASS #14

JD2162-A VALVE,SOLENOID,SOLUTION,230V,1/4NPT JL 335 WASHER,FLAT,BRASS,1-1/80DX41/641DX3/32
JD2162-F VALVE,SOLENOID,SOLUTION,24V,1/4NPT JP4606 WASHER,FLAT,BRASS,1-19/320DX3/4IDX11GAU.
JD3145 VALVE,SOLENOID,SOLUTION,24V,3/8NPTF JP2542-03 WASHER,FLAT,BRASS,1-5/80DX1-1/641DX3/32
JD3901 VALVE,SOLENOID,SOLUTION,BRASS,110V,3/8 JP2603-07 WASHER,FLAT,BRASS,1-5/80DX1-9/64I1DX3/32
JP5431 VALVE,STIRRING,ASSY JE 235 WASHER,FLAT,BRASS,7/90DX41/64IDX1/64
JP2687 VALVE,STIRRING,SOLUTION,ASSY JD1445 WASHER,FLAT,ST,PL,1-1/20DX3/16IDX1/8
JP6161-A  VALVE,STIRRING,SOLUTION,FIELD JD 909 WASHER,FLAT,ST,PL,1-3/40DX1-3/321DX1/8
JD3325-H VALVE,UNLOAD,FLW ACT,0-3000PSI,2.1-3.0 JD1539 WASHER,FLAT,STEEL,PLATED,#10

JD3325-1 VALVE,UNLOAD,FLW ACT,0-3000PSI,3.0-4.2 JD6190 WASHER,FLAT,STEEL,PLATED,#6

JD3325-J VALVE,UNLOAD,FLW ACT,0-3000PSI,4.2-6.6 JD 610-02 WASHER,FLAT,STEEL,PLATED,#8

JD3324-S VALVE,UNLOAD,FLW ACT,0-3000PSI,5.5-6.5 JD 787 WASHER,FLAT,STEEL,PLATED,1/4

JD3325-K  VALVE,UNLOAD,FLW ACT,0-3000PSI,6.6-10.8 JD 873 WASHER,FLAT,STEEL,PLATED,3/8

JD3325-D VALVE,UNLOAD,FLW ACT,1000-3000#,2.1-3.0 JD 894 WASHER,FLAT,STEEL,PLATED,5/16

JD3325-F VALVE,UNLOAD,FLW ACT,1000-3000#,4.2-6.6 JD 845 WASHER,FLAT,STEEL,PLATED,7/16

JD3325-G  VALVE,UNLOAD,FLW ACT,1000-3000%#,6.6-10.8 JD1492 WASHER,FLAT,STEEL,PLATED,9/16

JD3324-L VALVE,UNLOAD,FLW ACT,1200PSI,2.0/4.5 JP7509-01 WASHER,FLAT,STEEL,PLTD,3/40DX3/8IDX1/16
JD3324-G VALVE,UNLOAD,FLW ACT,2200PSI,2.8/4.5 JD7064-18 WASHER,GENERAL,#96.7555.00

JD3324-V  VALVE,UNLOAD,FLW ACT,3-4000PSI,3.5-4.8 JD3404-16 WASHER,LOCK,PUMP,CAT,#15848

JD3325 VALVE,UNLOAD,FLW ACT,400-1450PSI,2.1-2.9 JD 624 WASHER,LOCK,SPLIT,STEEL,PLATED,#10
JD3325-A VALVE,UNLOAD,FLW ACT,400-1450PSI,3.0-4.2 JD 609 WASHER,LOCK,SPLIT,STEEL,PLATED ,#8
JD3325-B VALVE,UNLOAD,FLW ACT,400-1450PSI,4.2-5.5 JD 615 WASHER,LOCK,SPLIT,STEEL,PLATED,1/2
JD3325-C VALVE,UNLOAD,FLW ACT,400-1450PSI,5.0-6.0 JD 611 WASHER,LOCK,SPLIT,STEEL,PLATED,1/4
JD3324-B VALVE,UNLOAD,PSI ACT,1400PSI,160F,13GPM JD3629 WASHER,LOCK,SPLIT,STEEL,PLATED, 3/4
JD3325-P VALVE,UNLOAD,PSI ACT,1750PSI,8.0 GPM JD 613 WASHER,LOCK,SPLIT,STEEL,PLATED,3/8
JD7402-D VALVE,UNLOAD,PSI ACT,1900PSI,176F,4GPM JD 612 WASHER,LOCK,SPLIT,STEEL,PLATED,5/16
JD3324-F VALVE,UNLOAD,PSI ACT,2000PSI,6GPM JD 614 WASHER,LOCK,SPLIT,STEEL,PLATED,7/16
JD3324-R VALVE,UNLOAD,PSI ACT,2200PSI,21.0 GPM JD7601 WASHER,LOCK, TEETH,EXTERNAL,BRASS, #10
JD3325-N  VALVE,UNLOAD,PSI ACT,2300PSI,6.5 GPM JD 608 WASHER,LOCK, TEETH,EXTERNAL,ST,PLTD,#6
JD3327-A VALVE,UNLOAD,PSI ACT,3000PSI,190F,7.8GPM JP2687-15 WASHER,LOCK,TEETH,INTERNAL,BRASS,#8
JD3324-O VALVE,UNLOAD,PSI ACT,3200PSI,8.0 GPM JP2191-02 WASHER,NEOPRENE,1-1/40DX1/2IDX1/32THK
JD3325-0 VALVE,UNLOAD,PSI ACT,3200PSI,8.0 GPM JD3597 WASHER,PLASTIC,3/4ID

JD7402 VALVE,UNLOAD,PSI ACT,3600PSI,176F,8GPM JD3051 WASHER,RETAINING,ALUMINUM

JD7402-C VALVE,UNLOAD,PSI ACT,3600PSI,8GPM,INJ/SW JP2191-04 WASHER,RUBBER,1-1/20DX5/161DX7/32THICK
JD7402-B VALVE,UNLOAD,PSI ACT,3600PSI,8GPM,PSI/SW JD 809-01 WASHER,RUBBER,HOSE,GARDEN,W/O SCREEN
JD3327 VALVE,UNLOAD,PSI ACT,3650PSI,190F,7.8GPM JD2853 WASHER,RUBBER,PMP,FUEL,DPHM,1.25X.25X.06
JD3325-Q VALVE,UNLOAD,PSI ACT,3650PSI,8.0 GPM JD6215 WASHER,RUBBER,SILICONE,5/160DX3/161DX1/8
JD3325-M VALVE,UNLOAD,PSI ACT,4050PSI,21.0 GPM JD3404-20 WASHER,SEAL,PUMP,CAT #20017

JD3324-M VALVE,UNLOAD,PSI ACT,5100PSI,6.6 GPM JP2687-11 WASHER,SHOULDER,BRASS,3/80DX9/641D
JD3324-N VALVE,UNLOAD,PSI ACT,5800PSI,21.0GPM JD3702-05 WASHER,SLOTTED,BRASS,7/640DX9/32ID
JD3324-Q VALVE,UNLOAD,PSI ACT,REG,2415PSI,6.3GPM JP3282-15 WASHER,SPECIAL,PUMP,FUEL,STEEL,PLATED
JD7402-A VALVE,UNLOAD,PSIACT,3600PSI,176F,8GPM,IN JP2036-03 WASHER,STEEL,3/4ID,SAE

JV1000 VALVE,UNLOADER,FLUI-TROL,A1000 JD 809 WASHER,STRAINER,MESH,WIRE,BRASS #30
JV1100 VALVE,UNLOADER,FLUI-TROL,A1100 JP2687-04 WASHER,TEFLON,25%GLASSFLD,37/64X9/32X1/8
JV1300 VALVE,UNLOADER,FLUI-TROL,A1300 JD3854 WASHER, TEFLON,7/80DX11/161DX0.02THK
JV1200 VALVE,UNLOADER,FLUI-TROL,B1200 JV 157 WASHER,VALVE,UNLOADER,FLUITROL

JV1400 VALVE,UNLOADER,FLUI-TROL,B1400 JV 174 WASHER,VALVE,UNLOADER,FLUITROL

JV1500 VALVE,UNLOADER,FLUI-TROL,B1500 JP5207-A  WATER,INLET,ASSY

JV1450 VALVE,UNLOADER,FLUI-TROL,C1400 JP3155-02 WEIGHT,BALDOR,CONVERSION,50HZ

JVv1800 VALVE,UNLOADER,FLUI-TROL,C1800 JD2989 WHEEL,BLOWER,80DX5/8IDX4W

Website: www.steamjenny.com

24

Toll Free Fax Order Line: (888) 4-JENNYS




Part Number

Description

Part Number

Description

JD3212
JB2007
JP3187-01
JP2643-D
JP2643-F
JP2643-E
JP2643-G
JP2261
JD7168
JP2643
JP6859
JP7243
JP5215-E
JP6387
JP6387-D
JP5215-J
JB1010
JD2255-B
JD3634-A
JP7560-01
JD3635-B
JD3635-A
JE 483
JE 483-A
JP3950-0
JP7515
JP3950-R
JP3950-P
JP3950-G
JP3950-B
JP3950-J
JE 396-D
JP7656
JP7552
JP3950-F
JP3950
JP3950-K
JP3950-H
JP3950-Q
JP4341
JD8247
JP5948
JD 942-01
JP3950-E
JP3950-M
JP3950-L
JD 445
JP2979-03
JP6701-A
JD3138
JE 446
JE 432
JE 433
JE 416

JE 436
JE 440
JP3851-B
JE 451

JE 442
JE 456
JE 475
JP1865
JE 692
JE 485
JE 479
JE 458
JE 452
JE 453
JP7436
JD6164
JD1625
JD3702-02
JR1021-32

WHEEL,BLOWER,ST,50DX1/2BOREX2-3/4WIDE
WHEEL,BLOWER,ST,6.250DX4.0WX1/2SHAFT
WHEEL,BLOWER,STEEL,60DX5/8IDX3WTH
WHEEL,PNEUMATIC,100DX1.080ID
WHEEL,PNEUMATIC,100DX3/41D,BALLBEARING
WHEEL,PNEUMATIC,120DX5/81D
WHEEL,PNEUMATIC,8-1/20Dx1/2ID,BALLBRNG
WHEEL,PNEUMATIC,W/BEARING,160DX1ID
WHEEL,RUBBER,SOLID,60DX1/2ID
WHEEL,SEMI-PNEUMATIC,80DX1.080ID
WHEEL,SPACER,3/4X1-7/8LTC
WHIRLER&THROAT,ASSY,RI2400
WHIRLER,AIR,ASSY,1600-C&2100
WHIRLER,AIR,BURNER,ASSY
WHIRLER,AIR,DOUBLE,ASSY
WHIRLER,ASSY,BENT,GROUND,PIN
WHIRLER,STEEL,PLATED,6 VANE,3-11/160D
WIRE,24VOLT,MJ1000
WIRE,BATTERY,ASSY,#6 GA,BLACK,24LONG
WIRE,BATTERY,ASSY,#6 GA,RED,48LONG
WIRE,BATTERY,ASSY,BLACK,15LONG
WIRE,BATTERY,ASSY,BLACK,9LONG
WIRE,BATTERY,BLACK,#6 GA,BULK
WIRE,BATTERY,RED,#6 GA,BULK
WIRE,GROUND,ASSY,10
WIRE,GROUND,ASSY,10.5
WIRE,GROUND,ASSY,22
WIRE,GROUND,ASSY, 26
WIRE,GROUND,ASSY,29.5
WIRE,GROUND,ASSY,30
WIRE,GROUND,ASSY,38.5
WIRE,GROUND,ASSY,5,JUMPER
WIRE,IGNITION,ASSY,40,GESR
WIRE,IGNITION,BURNER,ASSY,21
WIRE,IGNITION,BURNER,ASSY,27.5
WIRE,IGNITION,BURNER,ASSY,28
WIRE,IGNITION,BURNER,ASSY,31.3
WIRE,IGNITION,BURNER,ASSY,38
WIRE,IGNITION,BURNER,ASSY,40
WIRE,IGNITION,BURNER,ASSY,40
WIRE,IGNITION,BURNER,ASSY, 50000V
WIRE,IGNITION,BURNER,GAS FIRED,ASSY,30
WIRE,IGNITION,BURNER,MAGNETO,ASSY,33
WIRE,IGNITION,BURNER,MAGNETO,ASSY,33
WIRE,IGNITION,BURNER,MAGNETO,ASSY, 34
WIRE,IGNITION,BURNER,MAGNETO,ASSY,36
WIRE,IGNITION,GTO,15000V,14/1POLYETHYLEN
WIRE,JUMPER,5

WIRE,SET,E300-C,230V
WIRE,SILCONE,7MM,HITEMP,25,000V,AGW 20
WIRE,SJO,CPE,BLACK,10/3
WIRE,SJO,CPE,BLACK,12/3
WIRE,SJO,CPE,BLACK,14/3
WIRE,SJO,CPE,BLACK,18/2
WIRE,SJO,CPE,BLACK,18/3
WIRE,SJO,CPE,BLACK,18/4
WIRE,SJO,NEOPRENE,BLACK,12/3,W/TERM, 110V
WIRE,SMRL,SILICONE,WHITE,10/1
WIRE,SO,CPE,BLACK,14/4
WIRE,SO,CPE,BLACK,16/2
WIRE,SO,CPE,BLACK,18/5
WIRE,SO,CPE,BLACK,4/4
WIRE,SO,CPE,BLACK,6/4
WIRE,SO,CPE,BLACK,8/3
WIRE,SO,CPE,BLACK,8/4
WIRE,SRML,SILICONE,WHITE, 16/1
WIRE,SRML,SILICONE,WHITE, 18/1
WIRE,SRML,SILICONE,WHITE,6/1
WIRING,CABLE,MOTOR,J-BOX,HPW,803/1122
WRAP,CABLE,HELI-TUBE,PLASTIC
WRENCH,ALLEN,HEX,7/64

YARN,PACKING, THERMOWELL,CRANE,STYLE#1030
YOKE,CRANKSHAFT,GEN,51-0300-22

Website: www.steamjenny.com

25

Toll Free Fax Order Line: (888) 4-JENNYS



